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Overview

MEDICARE

To document established X12 error codes reported in the 837D Claim Ingestion process.

277CA Validations

found.

Identifier (NPI)"
CSC 128: "Entity's tax id"
EIC: 85 "Billing Provider"

. Validation
. Acknowledgement/Status/Entity
Reject Reason 837D Loop Identifier Code(s) Ref.erence Notes
File(s)
. . CSCC A8:"Acknowledgement/Rejected for
Billing provider must be relational field in error”
"associated” to the 2010AA/NM109 " .
; . CSC 496 "Submitter not approved for

submitter (from a trading ) ; T PCF Mapped
electronic claim submissions on behalf of

partner management 1T000A/NM109 this entity."

perspective). EIC: 85 "Billing Provider’

Billing Provider NPI must be

a valid NPI.

or
CSCC A7:"Acknowledgement/Rejected for

Billing Provider not valid in Invalid Information”

PECOS for this 2010AA/NM109 CSC 562: "Entity's National Provider PECOS Mapped

Receiver/MAC ID Identifier (NPI)"
EIC: 85 "Billing Provider"

or

Billing Provider NPI format

invalid

Beneficiary Identifier is not )

an accepted MBI format CSCC A7 Acknoyvle“dgement/ReJected for
Invalid Information

or 2010BA/NM109 CSC 164: "Entity's contract/member CWF Mapped
number"

. ) EIC: IL "Subscriber”

Beneficiary MBI Inactive
CSCC A8:"Acknowledgement/Rejected for
relational field in error”

Billing Provider EIN not >010AA/REF E| CSC 562: "Entity's National Provider PECOS Mapped
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. Validation
Reject Reason 837D Loop Ackn?\{vledgement/StatusIEntlty Reference Notes
Identifier Code(s) .
File(s)
CSCC A7:"Acknowledgement/Rejected for
Billing Provider has no Invalid Information...
; 2010AA/NM109 CSC 743:"Entity's credential/enrollment PECOS Mapped
active enrollment . T
information.
EIC: 85 "Billing Provider"
Claim Freguency code must CSCC A7:"Acknowledgement/Rejected for Future
o quency 2300/CLMO05-3 Invalid Information’” N/A Do
’ CSC 535:"Claim Frequency Code"
The total submitted n )
charges must equal the 5300/CLMO2 CSCC A7 Acknoyvle“dgement/ReJected for
sum of all service line 2400/5V302 Invalid Information N/A Mapped
CSC178: "Submitted Charges"”
charge amounts.
Rendering NPI must be
valid NPI.
or
Rendering Provider not
valid in PECOS for this
Receiver/MAC ID CSCC A7:"Acknowledgement/Rejected for
Invalid Information”
or 2310B/NM109 CSC 562: "Entity's National Provider PECOS Mapped
Identifier (NPI)"
Billing provider does not EIC: 82 "Rendering Provider"
have permission to bill for
the rendering provider.
or
Rendering Provider has no
active Medicare IDs (PTAN)
CSCC A7:"Acknowledgement/Rejected for
Service date must not be a Invalid Information”
future date. 2300/2400/DTP 472 CSC 510: "Future date” ) Mapped
CSC 187 "Date(s) of service."
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. - Validation
Reject Reason 837D Loop Acknowledgement/Status/Entity Identifier Reference Notes
Code(s) .
File(s)
Diaanosis Code CSCC A7:"Acknowledgement/Rejected for Invalid For
Misgin 2300/HI Information” - Future
9 CSC 254: "Principal diagnosis code” Use
Beneficiary Part B
Dates
or CSCC A7:"Acknowledgement/Rejected for Invalid
2300/2400/DTP.472 | Information” CWF Mapped
Service line dates CSC 187:"Date(s) of service."
not exactly within
claim service
dates range.
CSCC A1:"Acknowledgement/Receipt-The
claim/encounter has been received. This does not
mean that the claim has been accepted for
. adjudication.”
Receiver Accept ) CSC 19: "Entity acknowledges receipt of ANSIX12 Mapped
claim/encounter. Usage: This code requires use of
an Entity Code."
EIC: PR "Payer”
CSCC A1:"Acknowledgement/Receipt-The
claim/encounter has been received. This does not
mean that the claim has been accepted for
Billing Provider adjudication.”
Accept ) CSC 19: "Entity acknowledges receipt of ANSIX12 Mapped
claim/encounter. Usage: This code requires use of
an Entity Code."
EIC: PR "Payer”
CSCC A2:"Acknowledgement/Receipt-The
claim/encounter has been received. This does not
mean that the claim has been accepted for
Insured or adjudication.”
Subscriber Accept |~ CSC 20: "Entity acknowledges receipt of ANSIXI2 Mapped
claim/encounter. Usage: This code requires use of
an Entity Code."
EIC: PR "Payer”
CSCC A7:"Acknowledgement/Rejected for Invalid
Beneficiary Date Information"”
of Birth is incorrect | 2010BA/DMG02 CSC 158: "Entity's date of birth." CWF Mapped
EIC: IL "Subscriber”
CSCC A7:"Acknowledgement/Rejected for Invalid
Beneficiary Information”
Surname Incorrect 2010BA/NM103 CSC 504: "Entity's Last Name." CWF Mapped
EIC: IL "Subscriber”
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. - Validation
Reject Reason 837D Loop Acknowledgement/Status/Entity Identifier Reference Notes
Code(s) .
File(s)
CSCC A7:"Acknowledgement/Rejected for Invalid
Beneficiary First Information”
Initial Incorrect 2010BA/NM104 CSC 505: "Entity's First Name." CWF Mapped
EIC: IL "Subscriber”
CSCC A7:"Acknowledgement/Rejected for Invalid
Beneficiary MBI is Information”
not known to the [ 2010BA/NM109 CSC 743: "Entity's credential/enrollment CWF -
system information.”
EIC: IL "Subscriber”
Scéf\;zedg::s Cr)i];r to CSCC A7:"Acknowledgement/Rejected for Invalid
P 2300/2400 Information” - Mapped
the allowed date CSC 187: "Date(s) of service."
1/1/2024 ' ’
837D Disposition / Error .
Loop/Segment/Element Response | Usage | Repeat Code Dental edits
Submitter Detail i ) ) i )
Header - - - - -
AK905 = 1:"Functional | Only one iteration of
Header/GS 299 R ) Group Not Supported". [ GS is allowed.
AK905 = 1:"Functional
Header/GS01 999 R - Group Not Supported”. Must be present
AK905 = 14:"Unknown | Must be present and 2
Header/GS02 299 R ) Security Originator". -15 AN characters.
AK905 =13:"Unknown | Must be present and 2
Header/GS03 299 R i Security Recipient”. -15 AN characters.
GS04 must be present
o . and a valid date in
Header/GS04 999 R - él:;)gs lil;t ES”“;?;;" CCYYMMDD format.
P PP " | Cannot be a future
date.
AK905 = 1:"Functional | Must be present and
Header/GS05 299 R ) Group Not Supported". | valid format

National Government Services, Inc.
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837D
Loop/Segment/Element

Response

Usage

Repeat

Disposition / Error
Code

Dental edits

Header/GS06

999

AK905 = 1:"Functional
Group Not Supported".

GS06 must be >0 and
<=999,999,999.
leading zeros allowed

Header/GS08

999

AK905 = 1: "Functional
Group Not Supported".

Empty: **~ Functional
Group not supported.

Header/ST

999

IK502 = 6: "Missing or
Invalid Transaction Set
Identifier".

ST must be present.

Header/ST

999

IK502 = 1:"Transaction
Set Not Supported”
OR

AK905 = 5:"Number
Included Transaction
Sets Does Not Match
Actual Count”

OR

IK502 = 6: "Missing or
Invalid Transaction Set
Identifier"

OR

IK502 = 15:
"Implementation One
or More Segments in
Error"

Only one iteration of
ST is allowed.

Header/STO1

999

IK502 = 6: "Missing or
Invalid Transaction Set
Identifier".

STO1 must be present.

Header/STO1

999

IK502 = 6: "Missing or
Invalid Transaction Set
Identifier".

STO1 must be "837".

Header/ST02

999

IK502 = 7:"Missing or
Invalid Transaction Set
Control Number".

STO2 must be present.

Header/ST02

999

IK502 = 7:"Missing or
Invalid Transaction Set
Control Number".

STO02 must be 4-9
characters.

Header/ST02

999

IK502 = 7: "Missing or
Invalid Transaction Set
Control Number".

STO2 must contain at
least four non-space
characters.

National Government Services, Inc.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits

K502 = 7: "Missing or Sgoilrg;’;;kﬁth
Header/ST02 999 - - Invalid Transaction Set | P9P

" accepted AN
Control Number".
characters.

IK502 = 23:

"Transaction Set STO2 must be a
Header/ST02 999 - - Control Number Not unique number within

Unique within the the ISA-IEA envelope.

Functional Group".

IK502 = 16:
Header/ST03 999 R - Implementatlon STO3 must be present.

Convention Not

Supported".

IK502 = 19:"Invalid

Transaction Set STO3 must be
Header/STO3 299 - - Implementation "005010X224A1".

Convention Reference"
Header/BHT 999 R - K304 = 3: RquU'r?d BHT must be present.

Segment Missing

K304 = 5:"Segment Only one iteration of
Header/BHT 999 - 1 Exceeds Maximum Y

Use" BHT is allowed.

se

Header/BHTO1 990 R ) IK403 = 1:"Required . BHTO1 must be

Data Element Missing" | present.
Header/BHTO1 999 - - K403 =7:“Invalid Code | g ir61 must be "0019".

Value"- 0019
Header/BHTO2 900 R ) K403 = 1: Requweo[ ) BHTO2 must be

Data Element Missing" | present.
Header/BHTO? 990 i i IK403 = 7:"Invalid Code | BHT02 must be valid

Value" -00, 18 values.
Header/BHTO3 990 R ) IK403 = 1: "Required BHTO3 must be

Data Element Missing"

present.

National Government Services, Inc.

Page 6 of 159



837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
Header/BHTO3 090 ) ) K403 = 5:" Data Element BHTO3 must be 1 -
Too Long 30 characters.
K403 = 6: "Invalid BHTOS must be
Header/BHT03 999 - - Character in Data Pop
" accepted AN
Element
characters.
Header/BHTOA 999 R ) IK403 = 1: Requir”ed Data | BHT04 must be
Element Missing present.
BHTO4 must be a
IK403 = 8:"Invalid valid date in
Header/BHTO4 299 - ) Date” CCYYMMDD CCYYMMDD
format.
Header/BHTO5 090 R ) K403 = 1: Requwgd Data | BHTO5 must be
Element Missing present.
IK403 = 9:"Invalid Time" BHTO5 must a
Header/BHTO5 999 - - HHMM, HHMMSS, valid time in a
HHMMSSD, HHMMSSDD valid time format.
Header/BHTO6 090 R ) K403 = 1: Requwgd Data | BHT06 must be
Element Missing present.
IK403 = 7:"Invalid Code BHTO6 must be
Header/BHT06 999 - - Value" CH "CH"
o Only one iteration
1000A.010 999 R - K304 = 4: Loop Occurs | ¢16604 is
Over Maximum Times
allowed.
1000ANM1.010 090 ) ) IK304 = 3: R‘quLur?d 1000ANM1T must
Segment Missing be present.
1000ANM101.010 999 R ) IK403 = 1: "Requir”ed Data | T000ANM101 must
Element Missing be present.
1000ANM101.020 999 ) i K403 = 7:"Invalid Code 100"OA".NM101 must
Value be "41".
1000ANM102.010 999 R ) IK403 = 1:"Required Data [ 1000A.NM102 must

Element Missing"

be present.
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IK403 = 7:"Invalid Code

1000A.NM102 must

1000ANM102.020 299 ) ) Value" be valid values.
B Response | Usage | Repeat | Disposition / Error Code Dental edits
Loop/Segment/Element P 9 P P
1000ANM103.010 090 R ) IK403 = 1: Reqwr”ed Data | T000ANM103 must
Element Missing be present.
CEn 1T000ANM103 must
1000ANM103.020 999 - - K403 = 5 'Data Element 1} 57 g
Too Long
characters.
K403 = 6: "Invalid IO00ANMIDS must
1T000A.NM103.030 999 - - Character in Data
Elerment” one non-space
character.
K403 = 6: "Invalid LOOOANMIOS must
1000ANM103.040 999 - - Character in Data € popuiared wi
Element accepted AN
characters.
K403 = 113: If 1000ANM102 is
"Implementation "2",7000ANM104
1000ANM104.010 299 S ) Dependent "Not Used" must not be
Data Element Present” present.
e 17000A.NM104 must
1000ANM104.030 999 - - K403 = 5 'Data Element 1) 57 25
Too Long
characters.
K403 = 6: "Invalid IOODANMID must
1000ANM104.050 999 - - Character in Data
. one non-space
Element
character.
K403 = 6:"Invalid LOOOANMIO must
1000ANM104.060 999 - - Character in Data € popuiated wi
Element” accepted AN
characters.
K403 = 6: "Invalid 1O00ANMIDS must
1T000ANM105.010 999 S - Character in Data
" one non-space
Element
character.
IK403 = 113: If 1000ANM102 is
"Implementation "2" 1000ANM105
1000ANM105.020 299 ) i Dependent "Not Used" must not be
Data Element Present” present.
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
. 1000ANM105 must
1000ANM105.040 999 . . K405 = 5: 'Data Element | 1" 25
Too Long
characters.
K403 = 6 "Invalid T000ANM105 must
1000ANM105.060 999 : : Character in Data be populated with
Element" accepte
characters.
k403 = 110: Must not be
1000ANM106.010 999 N/U - "Implementation "Not resent
Used" Element Present” P ’
K403 = 10: Must not be
1000ANM107.010 999 N/U - "Implementation "Not resent
Used" Element Present” P :
1000ANM108.010 999 R ) IK403 = 1: Requir”ed Data | T000ANM108 must
Element Missing be present.
1000ANM108.020 999 ) i K403 = 7:"Invalid Code 1OO"OA'.INM1O8 must
Value be "46".
1000ANM109.010 999 R ) IK403 = 1: Requwfed Data | 1000ANM109 must
Element Missing be present.
o . 1000ANM109 must
IK403 = ¢: "Invalid contain at least
1000ANM109.020 999 - - Character in Data
Element” two non-space
characters.
IK403 = 4:"Data Element
Too Short" 1000ANM109 must
1000ANM109.050 299 ) i IK403 = 5:"Data Element | be 2-80 characters.
Too Long"
K403 = 6 "Invalid T000ANM109 must
1000ANM109.050 999 : : Character in Data be populated with
Element" accepte
characters.
K403 = 112: T000ANM109 must
1000ANM109.070 999 - - "Implementation Pattern Slee St?oon?froved
Match Failure” )
submitter.

National Government Services, Inc.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 110:
1000ANM110.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
1000ANM1N11.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
1000ANM112.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
1000A PER.O10 990 R i K304 = 3: R‘quLur?d 1000A.PER must be
Segment Missing present.
e Only two iterations
1000APER.020 999 - - K304 = 5:°Segment | (£ 1600A PER are
Exceeds Maximum Use
allowed.
1000APERO1.010 990 R i K403 = 1: Reqwred . 1000A.PERO1 must be
Data Element Missing present.
1000APERO1.020 990 ) ) IK403 = 7:"Invalid Code JO?OA.PERO1 must be
Value IC".
K403 = 6:"Invalid 1000A.PERO2 must
1000A.PER02.010 999 S - Character in Data contain at least one
Element" non-space character.
K403 = 112- E%rntshriiliééOOOA.PER
1000A.PER02.020 999 - - Fir;wtpgleer;nl\e/lréttiﬂo%“ure” 1000APERO2 must
not = T000A.NM103.
o For the 2nd
J'rrfwozl)e_rrlwghtotion 1000APER
1000A.PER0O2.040 999 - - P " . | transmitted,
Dependent "Not Used
« | TOOOAPERO2 must
Data Element Present
not be present.
1000APER0O2.060 990 ) ) IK403 = 5:"Data 1000A.PERO2 must be

Element Too Long"

1-60 characters.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
K403 = 6 "Invalid 1000A.PER0O2 must be
1000A.PER02.080 999 - - Character in Datg | POPUlated with
Element” accepted AN
characters.
IK403 = 1: "Required
1000APER03.010 999 R - Data Element 1000APERO3 must be
Missing" present.
1000APER03.020 090 ) ) K403 =7: Inyolld 1OQOA.PER03 must be
Code Value valid values.
IK403 = 1: "Required
1000A.PER04.010 999 R - Data Element 1000APERO4 must be
Missing" present.
K403 = 6:"Invalid 1000A.PERO4 must
1000A.PER04.020 999 - - Character in Data contain at least one
Element" non-space character.
IK403 = 5:"Data 1000A.PERO4 must be 1
1000A.PERO4.030 299 ) ) Element Too Long" - 256 characters.
K403 = 6 "Invalid 1000A.PER04 must be
1000A.PER04.050 999 - - Character in Datg | POPUlated with
Element” accepted AN
characters.
1000A PERO5.010 099 S ) K403 =7: Inyolld 1OQOA.PER05 must be
Code Value valid values.
o . If 1000A.PERO5 is "EX",
1000A.PER05.020 999 - - ?ggz ;/;'wlgl’o“d 1000A.PERO3 must be
"TE".
.','éf;%i:t% al If 1000APEROG is
17000A.PER06.010 999 S - Required Data present, 1000A.PERO5
4 S must be present.
Element Missing
IK403 = 6:"Invalid 1000A.PERO6 must
1000A.PER06.020 999 - - Character in Data contain at least one

Element”

non-space character.
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837D

Disposition / Error

Segment Missing"

Loop/Segment/Element Response [ Usage | Repeat Code Dental edits
IK403 = 5: "Data 1000A.PERO6 must
1000A.PER06.030 299 i ) Element Too Long" be 1-256 characters.
IK403 = 6:"Invalid [O00APEROS Must
1000A.PER06.050 999 - - Character in Data pop
" accepted AN
Element
characters.
IK403 = 2:"Conditional [ If 1000A.PERO7 is
1000A.PERO7.010 999 S - Required Data Element | present, 1000A.PERO5
Missing" must be present.
1000A PERO7.020 099 i ) IK403 = 7:"Invalid Code 1OQOA.PERO7 must be
Value valid values.
e . If 1000A.PERO7 is "EX",
1000A.PER07.030 999 - - K403 =7:"Invalid Code | 1460 a pEROS must
Value o
be "TE".
IK403 = 2:"Conditional | If 1000A.PERO8 is
1000A.PER0O8.010 999 S - Required Data Element | present, 1000A.PERO7
Missing" must be present.
IK403 = 6:"Invalid 1000A.PERO8 must
1000A.PER08.020 999 - - Character in Data contain at least one
Element" non-space character.
IK403 = 5: "Data 1000A.PERO8 must
1000A.PERO8.030 299 ) ) Element Too Long" be 1-256 characters.
K403 = 6: "Invalid [IO0APERDS must
1000A.PER08.050 999 - - Character in Data populatedwi
" accepted AN
Element
characters.
IK403 = 110:
1000A.PER09.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK304 = 4:"Loop Occurs | Only one iteration of
10008010 299 R ! Over Maximum Times" | 1000B is allowed.
1000BNM1.010 099 i ) IK304 = 3:"Required 1000B.NM1 must be

present.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
1000BNM101.010 999 R ) IK403 = 1: Required' . 1000B.NM101 must
Data Element Missing” | be present.
1000BNM101.020 990 i ) K403 = 7:"Invalid Code 1OQIOB;y\IM1O1 must
Value be "40".
1000BNM102.010 990 R ) IK403 = 1:"Required . 1000B.NM102 must
Data Element Missing" | be present.
1000BNM102.020 900 i ) IK403 = 7:"Invalid Code 100"O"B.NM102 must
Value be "2".
1000BNM103.010 999 R ) IK403 = 1: Required' . 1000B.NM103 must
Data Element Missing” | be present.
IK403 = 5:"Data 1000B.NM103 must
1000BNM103.020 299 ) ) Element Too Long" be 1- 60 characters.
K403 = 6:"Invalid LOO0BAMIOS must
1000BNM103.030 999 - - Character in Data © popuiared wi
" accepted AN
Element
characters.
K403 = 6:"Invalid 1000B.NM103 must
1000B.NM103.040 999 - - Character in Data contain at least one
Element" non-space character.
IK403 = 110:
1000B.NM104.010 999 N/U - "Implementation "Not | Must not be present.
Used" Element Present”
IK403 = 110:
1000B.NM105.010 999 N/U - "Implementation "Not | Must not be present.
Used" Element Present”
IK403 = 110:
1000B.NM106.010 999 N/U - "Implementation "Not | Must not be present.
Used" Element Present”
IK403 = 110:
1000B.NM107.010 999 N/U - "Implementation "Not | Must not be present.

Used" Element Present”
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837D Disposition / Error .
Loop/Segment/Element Response | Usage | Repeat Code Dental edits
1000BNM108.010 999 R ) IK403 = 1: Requirgo{ . 1000B.NM108 must
Data Element Missing be present.
1000BNM108.020 099 ) ) IK403 = 7:"Invalid Code 1OO“OBI.'NM108 must
Value be "46".
1000B.NM109 010 999 R ) IK403 = 1:"Required . 1000B.NM109 must
Data Element Missing be present.
IK403 = 112: 1000B.NM109 must
1000B.NM109.050 999 - - "Implementation be [contractor put
Pattern Match Failure" | receiver code here]
IK403 = 112:
1000BNM109.060 999 - - "Implementation ;O%%? GN%EOQ must
Pattern Match Failure” 4
IK403 = 110:
1000B.NM110.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
1000B.NM111.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
1000B.NM112.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat Error Code Identifier.Code(s)
Billing Provider |- - - - -
Detail
IK304 = 3
2000AHL.010 999 R 1 "Required 2000AHL must be present.
Segment Missing"
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837

Acknowledgement/Status/Entity

Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK304 = 5:"Segment . . .
2000AHL020 | 999 : : Exceeds Maximum | ONW one iteration of 2000AHL s
. allowed.
Use
IK403 = 1: "Required
2000AHLO1.010 | 999 R - Data Element 2000AHLO1 must be present.
Missing"
2000AHL01020 | 999 ) ) IK403 = 5:"Data . 2000AHLOT must be 1-12
Element Too Long characters.
K403 = 6:"Invalid
2000AHL0O1.030 [ 999 - - Character in Data 2000A.HLO1 must be numeric.
Element"
2000AHLO1.040 |999 - - K403 = 7: Invalid The first HLO1 must be "1".
Code Value
IK403 = 110:
2000AHL02010 | 999 NU |- Implementation "Not | st not be present.
Used" Element
Present”
IK403 = 1: "Required
2000AHL03.010 | 999 R - Data Element 2000A.HLO3 must be present.
Missing"
2000AHL03.020 | 999 - - Ikaos =7:"Invalid 2000A HLO3 must be "20".
Code Value
IK403 = 1: "Required
2000AHL04.010 | 999 R - Data Element 2000A.HLO4 must be present.

Missing"
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2000A.HL04.020

999

IK403 = 7:"Invalid
Code Value"

2000AHLO4 must be "1'.

2000A.PRV.010

999

IK304 = 5:"Segment
Exceeds Maximum
Use"

Only one iteration of 2000A.PRV is
allowed.

2000A.PRV01.010

999

IK403 = 1: "Required
Data Element
Missing"

2000A PRVO1 must be present.

2000A.PRV01.020

999

IK403 = 7:"Invalid
Code Value"

2000A.PRVO1 must be "BI".

2000A.PRV02.010

999

IK403 = 1: "Required
Data Element
Missing"

2000A.PRV0O2 must be present.

2000A.PRV02.020

999

IK403 = 7: "Invalid
Code Value"

2000A.PRV02 must be "PXC".

2000A.PRV03.010

999

IK403 = 1: "Required
Data Element
Missing"

2000A.PRVO3 must be present.

2000A.PRV04.010

999

N/U

IK403 =110:
"Implementation "Not
Used" Element
Present”

Must not be present.

2000A.PRV06.010

999

N/U

IK403 = 110:
"Implementation "Not
Used" Element
Present”

Must not be present.
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2000A.CUR.010

999

K304 = 14:
"Implementation
“Not Used” Segment
Present”

2000A.CUR must not be present.

2010AA.010

999

IK304 = 4:"Loop
Occurs Over
Maximum Times"

Only one iteration of 2010AA is
allowed.

2010AANM1.010

999

IK304 = 3: "Required
Segment Missing"

2010AANM1T must be present.

2010AANM101.010

999

IK403 = 1: "Required
Data Element
Missing”

2010AANM101 must be present.

2010AANM101.020

999

IK403 = 7:"Invalid
Code Value"

2010AANM101 must be "85".

2010AANM102.010

999

IK403 = 1: "Required
Data Element
Missing"

2010AANM102 must be present.

2010AANM102.020

999

IK403 = 7:"Invalid
Code Value"

2010AANM102 must be valid values.

2010AANM103.010

999

IK403 = 1: "Required
Data Element
Missing”

2010AANM103 must be present.

2010AANM103.020

999

IK403 = 6:"Invalid
Character in Data
Element"

2010AANM103 must contain at
least one non-space character.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
2010AANM103.030 | 999 ) ) IK403 = 5:"Data . 2010AANM103 must be 1- 60
Element Too Long characters.
K403 = 6:"Invalid
2010AANM103.050 | 999 - . Character in Data | 201OAANMIOS must be populated
" with accepted AN characters.
Element
1K403 = 13:
"Implementation i
2010AANM104.010 | 999 S - Dependent "Not If 2010AANMI02 is "2,
f 2010AANM104 must not be present.
Used" Data Element
Present”
IK403 = 6:"Invalid )
2010AANM104.030 | 999 - - Character in Data | 2010AANMI04 must contain at
" least one non-space character.
Element
2010AANM104.040 | 999 ) ) K403 = 5:"Data . 2010AANM104 must be 1 - 35
Element Too Long characters.
IK403 = 6:"Invalid
2010AANM104.060 | 999 - - Characterin Data | 2010AANMI04 must be populated
" with accepted AN characters.
Element
IK403 = 13:
"Implementation -
2010AANM105010 | 999 S - Dependent "Not If 2010AANMI02 is "2,
f 2010AANM105 must not be present.
Used" Data Element
Present”
IK403 = 6:"Invalid .
2010AANM105.030 | 999 - . Character in Data | 2010AANMIO5 must contain at

Element”

least one non-space character.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
2010AANM105.040 | 999 ) ) IK403 = 5:"Data . 2010AANM105 must be 1-25
Element Too Long characters.
K403 = 6:"Invalid
2010AANM105.060 | 999 - . Characterin Data | 201OAANMIOS must be populated
" with accepted AN characters.
Element
1K403 = 110:
"Implementation
2010AANM106.010 | 999 N/U - "Not Used” Element Must not be present.
Present”
IK403 = 13:
"Implementation i
2010AANM107.010 | 999 S - Dependent "Not If 2010AANM102 is "2,
f 2010AANM107 must not be present.
Used" Data Element
Present”
IK403 = 6:"Invalid )
2010AANM107.030 | 999 - : Character in Data | 2019AANMITO7 must contain at
. least one non-space character.
Element
2010AANM107.040 | 999 ) ) IK403 = 5:"Data . 2010AANM107 must be 1-10
Element Too Long characters.
IK403 = 6:"Invalid
2010AANM107.060 | 999 - : Characterin Data | 201 OAANMIO7must be populated
. with accepted AN characters.
Element
2010AANM108.030 | 999 - - k403 = 7:"Invalid 2010AANM108 must be "XX".

Code Value"

National Government Services, Inc.

Page 19 of 159



837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 2:
"Conditional 2010AANM109 must be present if
2010AANMT09.010 | 999 S ) Required Data 2010AANM108 is present.
Element Missing"
IK403 = 110:
"Implementation
2010AANM1T10.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
IK403 = 110:
"Implementation
2010AANM111.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
IK403 = 110:
"Implementation
2010AANM112.010 | 999 N/U - "Not Used" Element Must not be present.
Present”
2010AAN3010 | 999 R . K304 = S:'Required | 551044 N3 must be present.
Segment Missing
IK304 = 5:"Segment . ) )
2010AAN3.020 990 ) ) Exceeds Maximum Only one iteration of 2010AAN3 is
" allowed.
Use
IK403 = 1: "Required
2010AAN301.010 999 R - Data Element 2010AAN301 must be present.
Missing"
K403 = 6:"Invalid .
2010AAN301.020 | 999 . . Character in Datg | 2010AANSOT must contain at least

Element"

one non-space character.
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837 Response | Usage | Repeat | Error Code Acknowledgement/Status/Entity
Loop/Segment p 9 P Identifier Code(s)
IK403 = 5:"Data
2010AAN301.030 | 999 - - Element Too 2010AAN301 must be 1- 55 characters.
Long"
IK403 = 6:"Invalid )
2010AAN301.050 | 999 ) ) Character in 2010AAN301 must be populated with
Data Element" accepted AN characters.
IK403 = 6:"Invalid .
2010AAN302.005 | 999 S ) Character in 2010AAN302 must contain at least one
" non-space character.
Data Element
IK403 = 5:"Data
2010AAN302.010 | 999 - - Element Too 2010AAN302 must be 1- 55 characters.
Long"
IK403 = 6:"Invalid )
2010AAN302.030 | 999 - - Character in 2010AAN302 must be populated with
" accepted AN characters.
Data Element
IK304 = 3:
2010AAN4010 | 999 R - SReqU'red 2010AAN4 must be present.
egment
Missing"
IK304 = 5:
2010AAN4020 990 ) ) Segment Only one iteration of 2010AAN4 is
Exceeds allowed.
Maximum Use"
K403 = 1:
2010AAN401.010 | 999 R - "Required Data 2010AAN401 must be present.
Element Missing"
IK403 = 6:"Invalid )
2010AAN401020 | 999 ) ) Character in 2010AAN401 must contain at least two
" non-space characters.
Data Element
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837

Acknowledgement/Status/Entity

"Not Used" Element
Present”

Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 4:"Data
Element Too Short" 2010AAN401 must be 2-30
2010AANA01030 | 999 ) ) IK403 = 5: "Data characters.
Element Too Long"
IK403 = 6:"Invalid
2010AAN401.050 | 999 - . Character in Data | 2010AANA401 must be populated
" with accepted AN characters.
Element
IK403 = 2:
"Conditional If 2010AAN404 is not present,
2010AANA402.010 | 999 S ) Required Data 2010AAN402 must be present.
Element Missing"
IK403 = 2:
"Conditional If 2010AAN404 is not present,
2010AAN403.010 | 999 S ) Required Data 2010AAN403 must be present.
Element Missing"
IK403 = 6:"Invalid
2010AAN403.020 | 999 S - Character in Data If 2010AAN403 is not numeric.
Element”
IK403 = 4:"Data .
2010AAN403.030 | 999 S - Element Too Short” 2010AAN403 must be a 9 digit zip
IK403 = 110:
"Implementation
2010AAN404.010 [ 999 S - "Not Used" Element Must not be present.
Present"
IK403 = 110:
2010AAN405.010 | 999 NU - Implementation 1\ ¢t not be present.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 110:
"Implementation
2010AAN406.010 | 999 N/U - "Not Used" Element Must not be present.
Present”
IK403 = 110:
"Implementation
2010AAN407.005 | 999 S - "Not Used" Element Must not be present.
Present"
2010AAREFO10 | 999 R - K304 = 3:"Required | 5410AAREF must be present.
Segment Missing
IK304 = 5:"Segment . .
- Only one iteration of 2010AAREF
2010AAREF.020 999 - - Ezz?eds Maximum with REFOT = "EI" or "SY" is allowed.
IK403 = 1: "Required
2010AARREF01.010 [ 999 R - Data Element 2010AA.REFO1 must be present.
Missing"
2010AAREF01.020 | 999 - - K403 = 7. Ivalid 1 5010AAREFO1 must be valid values.
Code Value
IK403 = 1: "Required
2010AA.REF02.010 | 999 R - Data Element 2010AA.REF02 must be present.
Missing"
IK403 = 6:"Invalid
2010AAREF02.020 | 999 - - Character in Data | 201OAAREFO2 must be populated

Element”

with accepted AN characters.
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2010AARREF03.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AARREF04.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AA.REF.010

999

IK304 = 19:
"Implementation
Dependent "Not
Used" Segment
Present”

2010AAREF with REFO1 = "1G" may be
present when 2010AANM1 is present
and 2010AANM109 is not present.

2010AA.REF.030

999

IK304 = 19:
"Implementation
Dependent "Not
Used" Segment
Present"

2010AA REF must not be present.

2010AAREF01.010

999

IK403 = 1. "Required
Data Element
Missing"

2010AAREFO1 must be present.

2010AARREF01.020

999

IK403 = 7: "Invalid
Code Value"

2010AAREFO1 must be "G".

2010AA.REF02.010

999

IK403 = 1. "Required
Data Element
Missing"

2010AAREF02 must be present.

2010AA.REF03.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)

1K403 = 110:

"Implementation
2010AARREF04.010 | 999 N/U - "Not Used” Element Must not be present.

Present”

IK304 = 5:"Segment ) )
2010AAPER020 | 999 s - Exceeds Maximum | ONWY two iterations of 2010AAPER

" are allowed.

Use

IK403 = 1: "Required
2010AAPER01.010 | 999 R - Data Element 2010AAPERO1T must be present.

Missing"
2010AAPER01.020 | 999 - - k403 = 7. Invalid 1 5010AAPEROT must be "IC".

Code Value

K403 = 2:

"Conditional For the 1st 2010AA.PER transmitted,
2010AAPER0O2.010 | 999 S ) Required Data 2010AA PERO2 must be present.

Element Missing"

IK403 = 113:

"Implementation )
2010AAPER02.020 | 999 - - Dependent "Not For the 2nd 2010AAPER transmitted,

f 2010AA.PERO2 must not be present.

Used" Data Element

Present”

IK403 = 10: "Exclusion | 2010AA.PER02 must not =
20T0AAPER02.030 | 999 i i Condition Violated" | 1000A.PERO2.

IK403 = 6:"Invalid .
2010AAPER02.040 | 999 - - Characterin Data | 2010AAPERO2 must contain at least

Element”

one non-spdace character.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 5: "Data
2010AAPER02.050 | 999 - - Element Too 2010AAPERO2 must be 1- 60
. characters.
Long
IK403 = 6:
2010AAPERD2070 | 999 ) ) Invalid ‘ 2010AA.PERO2 must be populated with
Character in accepted AN characters.
Data Element”
IK403 = 1:
2010AA.PER03.010 | 999 R - "Required Data [ 2010AA.PERO3 must be present.
Element Missing"
2010AAPER03.020 | 999 - - k405 = 7. Invalid | 5610a4 PERO3 must be valid values.
Code Value
IK403 = 1:
2010AA.PER04.010 | 999 R - "Required Data [ 2010AA.PERO4 must be present.
Element Missing"
IK403 = 6:
2010AAPERD4.020 | 999 ) ) Invalid ‘ 2010AA.PERO4 must contain at least
Character in one non-space character.
Data Element”
IK403 = 5: "Data
2010AAPER04.030 | 999 - - Element Too 2010AAPERO4 must be 1-256
. characters.
Long
IK403 = 6:
2010AAPERO4.050 | 999 ) ) Invalid ‘ 2010AA.PERO4 must be populated with
Character in accepted AN characters.
Data Element”
2010AAPER05010 | 999 S : 1ka03 = 7: Invalid | 5510AA PEROS must be valid values,
Code Value
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
2010AAPER05.020 | 999 ) ) 1K403 = 7: Inyolid If 201OAA".PE"R05 is "EX" 2010AA.PERO3
Code Value must be "TE
K403 = 2:
"Conditional If 2010AA.PEROS is present
2010AAPERO6.010 | 999 S ) Required Data 2010AA.PERO5 must be present.
Element Missing"
IK403 = 6:"Invalid )
2010AAPER06.015 | 999 - - Character in Data | 2010AAPEROS must contain at [east
" one non-space character.
Element
IK403 = 5: "Data
2010AAPER06.020 | 999 - - Element Too 20TO0AAPERO6 must be 1-256
" characters.
Long
K403 = 6:"Invalid
2010AAPER06.040 | 999 : : Character in Data | 2910AAPEROS must be populated
. with accepted AN characters.
Element
K403 = 2:
"Conditional If 2010AA.PERO7 is present,
2010AAPERO7.010 | 999 S ) Required Data 2010AA.PERO5 must be present.
Element Missing"
2010AAPER07.020 | 999 : : 1ka03 =7: Invalid 1 5010aA PERO7 must be valid values.
Code Value
2010AA PER0O7.030 | 999 ) ) IK403 =7: Inyolld If 201OAA“.PE”RO7 is "EX", 2010AA.PERO5
Code Value must be "TE".
IK403 = 2:
"Conditional If 2010AA PERO7 is present,
2010AA.PER08.010 | 999 S ) Required Data 2010AA.PERO8 must be present.
Element Missing"
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
K403 = 6:"Invalid .
2010AAPER08015 | 999 : : Character in Data | 2010AAPEROB must contain at least
. one non-space character.
Element
2010AAPER08.020 | 999 ) ) IK403 = 5: "Data . 2010AA.PERO8 must be 1-256
Element Too Long characters.
K403 = 6:"Invalid
2010AAPER08.040 | 999 : : Characterin Data | 29TOAAPERO8 must be populated
. with accepted AN characters.
Element
IK403 = 110:
"Implementation
2010AAPER09.010 | 999 N/U - "Not Used" Element Must not be present.
Present”
IK304 = 4:"Loop . . )
2010ABNM1.010 900 S ] Occurs Over Only one iteration of 2010AB.NM1 is
- ; " allowed.
Maximum Times
IK403 = 1: "Required
2010AB.NM101.010 | 999 R - Data Element 2010AB.NM101 must be present.
Missing"
2010ABNM101.020 | 999 - - K403 = 7:"Invalid 1 5610ABNM101 must be "87".
Code Value
IK403 = 1: "Required
2010AB.NM102.010 | 999 R - Data Element 2010AB.NM102 must be present.
Missing"
2010ABNM102.020 | 999 - - Ikaos =7:"Invalid 1 5610ABNM102 must be valid values.
Code Value
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2010AB.NM103.010

999

N/U

1K403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM104.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM105.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM106.010

999

N/U

1K403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM107.010

999

N/U

1K403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM108.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.NM109.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.
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837 Response | Usage | Repeat | Error Code Acknowledgement/Status/Entity
Loop/Segment p 9 P Identifier Code(s)
IK403 = 110:
"Implementation
2010AB.NM110.010 | 999 N/U - "Not Used" Element Must not be present.
Present”
IK403 = 10:
"Implementation
2010AB.NM111.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
IK403 = 10:
"Implementation
2010ABNM112.010 | 999 N/U - "Not Used" Element Must not be present.
Present"
IK304 = 16:
2010ABN3.010 900 R ) Implementation If 2010AB.NM1 is present, 2010AB.N3
Dependent must be present.
Segment Missing"
IK304 = 5:"Segment . . .
2010ABN3.020 900 ) ) Exceeds Maximum Only one iteration of 2010AB.N3 is
. allowed.
Use
IK403 = 1: "Required
2010AB.N301.010 [ 999 R - Data Element 2010AB.N301 must be present.
Missing"
IK403 = 6:"Invalid )
2010ABN301.020 | 999 - - Character in Data | 2010ABN301 must contain at least
" one non-space character.
Element
2010ABN301.030 | 9990 ) i IK403 = 5:"Data 2010AB.N301 must be 1-55

Element Too Long"

characters.
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837 Acknowledgement/Status/Entity
Loop/Segment Response | Usage | Repeat | Error Code Identifier Code(s)
IK403 = 6: "Invalid
2010ABN301050 | 999 : : Characterin Data | 2910ABNSOT must be populated
. with accepted AN character.
Element
IK403 = 6: "Invalid .
2010ABN302.010 | 999 S - Characterin Data | 2010ABNS02 must contain at least
" one non-space character.
Element
2010ABN302.040 | 999 ) ) IK403 = 5: "Data . 2010AB.N302 must be 1-55
Element Too Long characters.
IK403 = 6:"Invalid
2010ABN302.060 | 999 - - Character in Data | 2010ABNS302 must be populated
" with accepted AN character.
Element
IK304 = 16:
2010ABN4.010 090 R ) Implementation If 2010AB.NM1 is present, 2010AB.N4
Dependent Segment | must be present.
Missing"
IK304 = 5:"Segment . . .
2010ABN4020 | 999 - - Exceeds Maximum | OnlYy one iteration of 2010ABN4 is
" allowed.
Use
IK403 = 1:"Required
2010AB.N401.010 | 999 R - Data Element 2010AB.N401 must be present.
Missing"
IK403 = 6:"Invalid .
2010ABN401.020 | 999 - - Character in Data | 2010ABN40T must contain at least

Element”

two non-space characters.
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837
Loop/Segment

Response

Usage

Repeat

Error Code

Acknowledgement/Status/Entity
Identifier Code(s)

2010AB.N401.030

999

IK403 = 4: "Data
Element Too Short"
IK403 = 5: "Data
Element Too Long"

2010AB.N401 must be 2-30
characters.

2010AB.N401.050

999

IK403 = 6:"Invalid
Character in Data
Element”

2010AB.N401 must be populated
with accepted AN characters.

2010AB.N402.010

999

IK403 = 2:
"Conditional
Required Data
Element Missing"

If 2010AB.N404 is not present,
2010AB.N402 must be present.

2010AB.N403.010

999

IK403 = 2:
"Conditional
Required Data
Element Missing"

If 2010AB.N404 is not present,
2010AB.N403 must be present.

2010AB.N403.020

999

IK403 = 6:"Invalid
Character in Data
Element”

If 2010AB.N403 is not numeric.

2010AB.N404.010

999

IK403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AB.N405.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present"

Must not be present.

2010AB.N406.010

999

N/U

IK403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.

2010AB.N407.005

999

IK403 = 110:
"Implementation
"Not Used" Element
Present”

Must not be present.
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837D

Loop/Segment/Element Response | Usage | Repeat Disposition / Error Code Dental edits
Subscriber Detail B B . . B
K304 = 17: "Implementation
2000B.010 999 - >1 Loop Occurs Under Minimum | 20008 must be
Ti . present.
imes
2000B.HLO10 999 R ] IKASOér = 3 Required Segment [ 2000B.HL must be
Missing present.
o Only one iteration
2000B.HL.020 999 - : K304 = 5: "Segment Exceeds | 50008 HL is
Maximum Use
allowed.
2000BHLO1.010 999 R ) IK403 = 1 Requir”ed Data 2000B.HLO1T must
Element Missing be present.
2000B.HL01.020 999 ) ) IK403": 5:"Data Element Too 2000B.HLOT must
Long be 1-12 characters.
2000BHLO1.030 090 ) ) IK403 = 6:"Invalid Character in | 2000B.HLOT must

Data Element”

be numeric.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
200084101 musk e oo
2000B.HL01.040 999 - - "Implementation
Pattern Match Failure” HLO1 (2000A.HLOT) plus
one.
2000B.HL02.010 099 R ) IK403 = 1: Reqwrgo{ . 2000B.HL0O2 must be
Data Element Missing present.
200081102 st oo
2000B.HL02.020 999 - - "Implementation
. « | 2Q000A.HLO1) of the parent
Pattern Match Failure i
5000B.HL03.010 999 R ) IK403 = 1: Requmeo[ . 2000B.HLO3 must be
Data Element Missing present.
2000B.HL03.020 999 - - ka3 = 7:nvalid Code 56008 HLO3 must be 22"
2000B.HLO4.010 099 R ) IK403 = 1: Reqwrgo{ . 2000B.HLO4 must be
Data Element Missing present.
2000B.HL04.015 999 - - '\/Kgﬁif 7-Invalid Code 1 56608 HL04 must be "0".
5000B.SBR.O10 999 R 1 IK304 = 3: qu‘wr?d 2000B.SBR must be
Segment Missing present.
) ) IK304 = 5:"Segment Only one iteration of
2000B.5BR020 299 Exceeds Maximum Use" | 2000B.SBR is allowed.
2000B.SBRO1.010 099 R ) IK403 = 1: Reqwrgo{ . 2000B.SBRO1 must be
Data Element Missing present.

5000B.SBRO1.020 999 ) ) IK403 = 7:"Invalid Code HZO”OOB.SBRO1 must be "S" or
Value P".

5000B.SBR0O2.010 999 S ) IK403 = 1. "Required 2000B.SBR02 must be

Data Element Missing"

present.
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2000B.SBR02.020 090 ) ) K403 = 7:"Invalid Code ?O(")OB.SBRO2 must be
Value 18"
IK403 = 13: "Implementation
2000B.SBR03.004 999 S - Dependent "Not Used” Data | 2000B-SBROS must
" not be present
Element Present
IK403 = 13: "Implementation
2000B.SBR04.005 999 S - Dependent "Not Used” Data | 2000B-SBRO4 must
. not be present
Element Present
2000B.SBRO5.010 999 S i K403 = 7:"Invalid Code 2OQOB.SBR05 must be
Value valid values.
o . If 2000B.SBRO1 is "P",
2000B.SBR05.040 999 - - K403 = N0 Implementation | 55465 caROS Must
Not Used" Element Present
not be present.
IK403 = 2: "Conditional If 2000B.SBRO1 is not
2000B.SBR05.050 999 - - Required Data Element "P",2000B.SBRO5
Missing" must be present.
IK403 = 10: "Implementation
2000B.SBR06.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2000B.SBR07.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2000B.SBR08.010 999 N/U - "Not Used" Element Present” Must not be present.
2010BANMI.010 099 R 1 IK304 = 3 Required Segment | 2010BANM1 must be
Missing present.
2010BANM1.020 999 ) ) IK304 = 4:"Loop Occurs Over | Only one iteration of

Maximum Times"

2010BANM1 allowed.
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837D

Disposition / Error

Element Too Long"

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 1: "Required
2010BANM101.010 999 R . Data Element 2010BANM101 must be
S present.
Missing
2010BANM101.020 999 - - Ika03 = 7:"Invalid 2010BANM101 must be "IL".
Code Value
IK403 = 1: "Required
2010BANM102.010 999 R . Data Element 2010BANM102 must be
S present.
Missing
IK403 = 1: "Required
2010BANM103.010 999 R . Data Element 2010BANMT03 must be
Missing” present.
issing
IK403 = 6:"Invalid 2010BANM103 must contain
2010BA.NM103.020 999 - - Character in Data at least one non-space
Element” character.
2010BANM103.030 990 i i IK403 = 5:"Data ) 2010BANM103 must be 1 - 60
Element Too Long characters.
IK403 = 6:"Invalid 2010BANM103 must be
2010BA.NM103.050 999 - - Character in Data populated with accepted AN
Element” characters.
IK403 = 6:"Invalid 2010BANM104 must contain
2010BA.NM104.020 999 - - Character in Data at least one non-space
Element” character.
2010BANM104.030 999 S ) IK403 = 5: "Data . 2010BANM104 must be 1-35
Element Too Long characters.
IK403 = 6:"Invalid 2010BANM104 must be
2010BANM104.050 999 - - Character in Data populated with accepted AN
Element” characters.
K403 = 6:"Invalid 2010BANM105 must contain
2010BA.NM105.010 999 S - Character in Data at least one non-space
Element" character.
2010BANM105.020 990 ) ) IK403 = 5: "Data 2010BANM105 must be 1-25

characters.
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
IK403 = 6: "Invalid 2010BA.NM105 must be
2010BANM105.040 999 - - Character in Data populated with accepted
Element" AN characters.
IK403 = 110:
2010BANM106.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 6: "Invalid 2010BANM107 must
2010BA.NM107.010 999 S - Character in Data contain at least one non-
Element” space character.
2010BANM107.020 990 i ) IK403 = S:HDoto Element |[2010BANM107 mustbe1-
Too Long 10 characters.
IK403 = 6: "Invalid 2010BANM107 must be
2010BA.NM107.040 999 - - Character in Data populated with accepted
Element” AN characters.
2010BANM108.010 990 S ) IK403 = 1: Reqwrﬂed Data | 2010BANM108 must be
Element Missing present.
2010BANM108.020 990 ) ) IK403 = 7:"Invalid Code ?01“OBA.NM108 must be
Value MI",
5010BANM109 010 900 S ) IK403 = 1: Reqwrﬂed Data | 2010BANM109 must be
Element Missing present.
IK403 = 110:
2010BA.NM110.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BANM111.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BANM112.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
.',rrf]%‘l‘e=r£ntotion 2010BAN3 must be
2010BAN3.005 999 S - present when

Dependent Segment
Missing"

2000B.SBR0O2 is "18".
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits

IK304 = 5:"Segment Only one iteration of
2010BANS010 299 ) ) Exceeds Maximum Use" | 2010BAN3 is allowed.
2010BAN301.010 099 R ) IK403 = 1: Reqwrﬂed Data [ 2010BAN301 must be

Element Missing present.

IK403 = 6: "Invalid 2010BA.N301 must
2010BA.N301.020 999 - - Character in Data contain at least one non-

Element” space character.
2010BAN301.030 099 ) ) IK403 = 5:“Donto Element | 2010BA.N301 must be 1-

Too Long 55 characters.

IK403 = 6: "Invalid 2010BAN301 must be
2010BA.N301.050 999 - - Character in Data populated with accepted

Element” AN characters.

IK403 = 6: "Invalid 2010BAN302 must
2010BAN302.020 999 S - Character in Data contain at least one non-

Element” space character.
2010BAN302.030 090 ) ) IK403 = 5:"Dotc1 Element | 2010BAN302 must be 1-

Too Long 55 characters.

IK403 = 6: "Invalid 2010BAN302 must be
2010BAN302.050 999 - - Character in Data populated with accepted

Element" AN characters.

0 o 2010BAN4 must be
2010BA.N4.005 999 S - D P dent S ¢ present when

epenaent segmen 2000BSBRO2 is "18".

Missing

IK304 = 5:"Segment Only one iteration of
2010BAN4.010 299 ) ) Exceeds Maximum Use" | 2010BAN4 is allowed.
2010BAN401.010 999 R ) IK403 = 1: "Requirlgd Data [ 2010BAN401 must be

Element Missing present.

IK403 = 6: "Invalid 2010BA.N401 must
2010BAN401.020 999 - - Character in Data contain at least two non-

Element"

space characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits

IK403 = 4:"Data Element

Too Short" 2010BAN401 must be 2-
2010BAN401.030 299 ) i IK403 = 5:"Data Element | 30 characters.

Too Long"

IK403 = 6:"Invalid 2010BAN401 must be
2010BAN401.050 999 - - Character in Data populated with

Element” accepted AN characters.

IK403 = 2:"Conditional If 2010BAN404 is not
2010BA.N402.010 999 S - Required Data Element present, 2010BA.N402

Missing" must be present.

IK403 = 2:"Conditional If 2010BAN404 is not
2010BA.N403.010 999 S - Required Data Element present, 2010BA.N403

Missing" must be present.

IK403 = 6:"Invalid .
2010BAN403.020 999 S - Character in Data I 2010BAN403 is not

" numeric.

Element

IK403 = 110:
2010BAN405.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK403 = 110:
2010BAN406.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK304 = 16:
2010BADMG.010 990 S i Implementation 2010BA.DMG must be

Dependent Segment present.

Missing"

IK304 = 5:"Segment Only one iteration of
2010BADMG.020 799 ) i Exceeds Maximum Use" | 2010BA.DMG is allowed.
2010BADMGO1.010 990 R i IK403 = 1: Reqwr”ed Data | 2010BA.DMGO1 must be

Element Missing present.
2010BADMG01.020 990 ) ) IK403 = 7:"Invalid Code 2010BA.DMGO1 must be

Value"

"D8".
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2010BADMG02.010 990 R ) K403 = 1: Reqmrfed Data |2010BA.DMGO02 must be
Element Missing present.
2010BA.DMGO02 must be
2010BA.DMG02.020 999 - - IK403 = 8:"Invalid Date" a valid date in format
CCYYMMDD
2010BADMG03.010 990 R ) K403 = 1: Reqmrfed Data |2010BA.DMGO03 must be
Element Missing present.
2010BADMG03.020 990 i i IK403”=7: Invalid Code 201QBA.DMGOS must be
Value valid values.
IK403 = 110:
2010BA.DMG04.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.DMG05.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.DMG06.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.DMG07.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.DMG08.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.DMG09.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.DMG10.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
IK403 = 110:
2010BA.DMG11.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
o Only one iteration of
2010BAREF.010 999 S . K504 = 5. /Segment 1 5610BAREF with REFO1 =
Exceeds Maximum Use A i
Y4" is allowed.
>010BAREFO01.010 990 R ) IK403 = 1: "Requir”ed Data | 2010BA.REFO1 must be
Element Missing present.
5010BAREF01.020 900 i i IK403 = 7:"Invalid Code |201"OBA.REFO1 must be
Value Y4'
2010BAREF02.010 990 R ) IK403 = 1: Reqmrfed Data [2010BA.REFO2 must be
Element Missing present.
IK403 = 6:"Invalid 2010BA.REFO2 must
2010BA.REF02.020 999 - - Character in Data contain at least one non-
Element” space character.
2010BAREF02.030 990 ) ) IK403 = 5:" Data Element | 2010BA.REFO2 must be 1 -
Too Long 50 characters.
IK403 = 6:"Invalid 2010BA.REF02 must be
2010BA.REF02.050 999 - - Character in Data populated with
Element” accepted AN characters.
IK403 = 110:
2010BA.REF03.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BA.REF04.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
2010BBNM1.010 990 R 1 IK304 = 3: R‘quuir?d 2010BB.NM1 must be
Segment Missing present.
5010BBNM1.020 900 i i IK304 = 4:"Loop Occurs Only one iteration of

Over Maximum Times"

2010BB.NM1 is allowed.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
2010BBNM101.010 990 R ) K403 = 1: Requwﬂed Data | 2010BB.NM101 must be
Element Missing present.
2010BBNM101.020 990 ) i K403 = 7:"Invalid Code ”2015)BB.NM101 must be
Value PR".
2010BBNM102.010 990 R ) IK403 = 1: "Requir”ed Data | 2010BB.NM102 must be
Element Missing present.
5010BBNM102.020 900 ) i IK403":7: Invalid Code ?91OBB.NM102 must be
Value 2",
2010BBNM103.010 900 R ) K403 = 1: Requwﬂed Data | 2010BB.NM103 must be
Element Missing present.
IK403 = 6:"Invalid 2010BB.NM103 must
2010BB.NM103.020 999 - - Character in Data contain at least one non-
Element” space character.
2010BBNM103.030 990 ) ) K403 = 5:" Data Element | 2010BB.NM103 must be 1
Too Long - 60 characters.
IK403 = 6:"Invalid 2010BB.NM103 must be
2010BB.NM103.050 999 - - Character in Data populated with
Element” accepted AN characters.
IK403 = 110:
2010BB.NM104.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.NM105.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.NM106.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.NM107.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
2010BBNM108.010 990 R ) K403 = 1: Requwﬂed Data | 2010BB.NM108 must be

Element Missing present.
2010BBNM108.020 990 ) i K403 = 7:"Invalid Code ?OjOBB.NM108 must be

Value PI".
2010BBNM109.010 990 R ) IK403 = 1: "Requir”ed Data | 2010BB.NM109 must be

Element Missing present.

K403 = 6:"Invalid 2010BB.NM109 must
2010BB.NM109.020 999 - - Character in Data contain at least two non-

Element" space characters.

IK403 = 4:"Data Element

Too Short" 2010BB.NM109 must be 2-
2010BBNM109.030 799 ) i IK403 = 5:"Data Element | 80 characters.

Too Long"

K403 = 6:"Invalid 2010BB.NM109 must be
2010BB.NM109.050 999 - - Character in Data populated with

Element" accepted AN characters.

IK403 = 110:
2010BB.NM110.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK403 = 110:
2010BB.NM111.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK403 = 110:
2010BB.NM112.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”

IK304 = 5:"Segment Only one iteration of
2010BBN3.010 299 S ) Exceeds Maximum Use" 2010BB.N3 is allowed.
2010BB.IN301.010 900 R ) K403 = 1: Requwﬂed Data | 2010BB.N301 must be

Element Missing present.

IK403 = 6:"Invalid 2010BB.N301 must
2010BB.N301.020 999 - - Character in Data contain at least one non-

Element”

space character.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
2010BB.N301.030 999 ) ) IK403 = 5:"Data . 2010BB.N301 must be 1-55

Element Too Long characters.

IK403 = 6:"Invalid 2010BB.N301 must be
2010BB.N301.050 999 - - Character in Data populated with accepted

Element” AN characters.

IK403 = 6: "Invalid 2010BB.N302 must contain
2010BB.N302.020 999 S - Character in Data at least one non-space

Element" character.

IK403 = 5: "Data 2010BB.N302 must be 1 -
2010BBN302.030 299 ) ) Element Too Long" 55 characters.

IK403 = 6:"Invalid 2010BB.N302 must be
2010BB.N302.050 999 - - Character in Data populated with accepted

Element" AN characters.

IK304 = 5:"Segment Only one iteration of
2010BBN4.010 299 S ) Exceeds Maximum Use" | 2010BB.N4 is allowed.
2010BB.IN401.010 090 R ) K403 = 1: ReqU|r'eo|. . 2010BB.N401 must be

Data Element Missing present.

K403 = 6:"Invalid 2010BB.N401 must contain
2010BB.N401.020 999 - - Character in Data at least two non-space

Element” characters.

IK403 = 4: "Data

Element Too Short" 2010BB.N401 must be 2-30
2010BB.N401.030 299 ) ) IK403 = 5:"Data characters.

Element Too Long"

IK403 = 6:"Invalid 2010BB.N401 must be
2010BB.N401.050 999 - - Character in Data populated with accepted

Element” AN characters.

IK403 = 2: "Conditional If 2010BB.N404 is not
2010BB.N402.010 999 S - Required Data Element | present, 2010BB.N402

Missing"

must be present.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 2: "Conditional If 2010BB.N404 is not
2010BB.N403.010 999 S - Required Data Element | present, 2010BB.N403 must
Missing" be present.
IK403 = 6: "Invalid )
2010BBN403.020 999 S - Character in Data I 2010BBN403 Is not
" numeric.
Element
IK403 = 110:
2010BB.N404.010 999 S - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.N405.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.N406.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.N407.005 999 S - "Implementation "Not Must not be present.
Used" Element Present”
2010BB.REF with REFO1 =
) IK304 = 2:"Unexpected | "G2" must be present when
2010BBREF.010 299 S Segment” 2010AANM109 is not
present.
o Only two iterations of
2010BBREF.020 999 . - K304 = 5:"Segment | )010BBREF with REFO1 =
Exceeds Maximum Use" |\ <50 ~ n i
G2" or "LU" are allowed.
IK304 = 19:
"Implementation 2010BB.REF must not be
2010BBREF.030 299 i ) Dependent "Not Used" | present.
Segment Present”
5010BBREFO1.010 900 R ) IK403 = 1: Reqwrgd . 2010BB.REFO1 must be
Data Element Missing present.
2010BB.REFO1.020 900 ) ) IK403 = 7:"Invalid Code | 2010BB.REFO1 must be

Value"

valid values.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

IK403 = 1: "Required Data 2010BB.REF02 must be

2010BB.REF02.010 999 R - Element Missing"” bresent.
IK403 = 6:"Invalid 2010BB.REF02 must
2010BB.REF02.020 999 N/U - Character in Data contain at least one-
Element” none space character.
2010BB.REF02.030 990 N/U ) K403 = 5:" Data Element 2010BB.REF02 must be
Too Long 1-50 characters.
K403 = 6:"Invalid 2010BBREFO2 must be
2010BB.REF02.050 999 R - Character in Data pop
" accepted AN
Element
characters.
IK403 = 110:
2010BB.REF03.010 999 R - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2010BB.REF04.010 999 R - "Implementation "Not Must not be present.

Used" Element Present”

IK304 = 19: "Implementation
2000CHL.010 999 R >1 Dependent "Not Used"
Segment Present”

Loop must not be
present.

IK304 = 19: "Implementation
2000C.PAT.010 999 S - Dependent "Not Used"
Segment Present”

Segment must not be
present.

IK304 = 19: "Implementation
2010CANM1.010 999 S - Dependent "Not Used"
Segment Present”

Loop must not be
present.

IK304 = 19: "Implementation
2010CAN3.010 999 - - Dependent "Not Used"
Segment Present”

Segment must not be
present.

IK304 = 19: "Implementation
2010CAN4.010 999 - - Dependent "Not Used"
Segment Present”

Segment must not be
present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK304 = 19: "Implementation Segment must
2010CA.DMG.010 999 - - Dependent "Not Used" Segment 9
" not be present.
Present
IK304 = 19: "Implementation
2010CAREF.010 999 - - Dependent "Not Used” Segment | 20TOCAREF must
P " not be present.
resent
IK304 = 19: "Implementation
2010CAREF.010 999 - - Dependent "Not Used" Segment | 2010CAREF must

Present”

not be present.
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Loop/Segment/Element

Respo
nse

Usag

Repea

Disposition / Error Code

Dental
edits

Claim Detail

2300.CLM Loop.010

999

100

IK304 = 4:"Loop Occurs Over Maximum Times"

Only
one00
iterations
of the
2300 loop
are
allowed.

2300.CLM.010

999

IK304 = 3:"Required Segment
Missing" OR

K304 = 17: “Implementation Loop Occurs Under Minimum

Times”

2300.CLM
must be
present.

2300.CLM.020

999

IK304 = 5:"Segment Exceeds Maximum Use"

Only one
iteration
of
2300.CLM
is allowed.

2300.CLM01.010

999

IK403 = 1: "Required Data Element Missing"

2300.CLMO
1 must be
present.

2300.CLM01.020

999

IK403 = 6:"Invalid Character in Data Element”

2300.CLMO
1 must
contain at
least one
non-space
character.

2300.CLM01.030

999

IK403 = 5:"Data Element Too Long"

2300.CLMO
1 must be
1-38
characters

2300.CLM01.050

999

IK403 = 6:"Invalid Character in Data Element”

2300.CLMO
1 must be
populated
with
accepted
AN
characters
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.CLM02.010 999 R - K403 = 1: 'Required Data | 534 | M02 must be present.
Element Missing
2300.CLM02.020 999 - - IK403 = 6:"Invallid Character | 344 | Mo2 must be numeric.
in Data Element
e 2300.CLM02 must be >= 0 and <=
2300.CLM02.045 999 - - k403 = 5: 'Data Element 99,999,999.99 and limited to 0,1, or
Too Long . o
2 decimal positions.
IK403 = 10: "Implementation
2300.CLM03.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2300.CLM04.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.CLM05-1.010 999 R - K403 = 1: 'Required Data | »31) | M05-1 must be present.
Element Missing
2300.CLM05-2.010 999 R - K403 = 1: 'Required Data | 5314 | M05-2 must be present.
Element Missing
2300.CLM05-2.020 999 - - '\/Kjﬁif 7-"Invalid Code 2300.CLM05-2 must be "B
2300.CLM05-3.010 999 R - IK403 = 1: 'Required Data | 5364 | M05-3 must be present.
Element Missing
2300.CLM06.010 999 R - K403 = 1: 'Required Data 2300.CLM06 must be present.

Element Missing"
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Missing"

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.CLM02.010 999 R ; K403 = 1: 'Required Data 2300.CLM02 must be present.
Element Missing
2300.CLM02.020 999 - - K403 = &: "Invalid Characterin | 5z, | M02 must be numeric.
Data Element
2300.CLM07.020 999 - - K403 = 7:"Invalid Code Value" | 2300.CLMO7 must be valid
values.
2300.CLM08.010 999 R - IK403 = 1: 'Required Data 2300.CLMO8 must be present.
Element Missing
2300.CLM08.020 999 - - K403 = 7: "Invalid Code Value' 32?&%'\"08 must be valid
2300.CLM09.010 999 R - K403 = 1: ‘Required Data 2300.CLM09 must be present.
Element Missing
2300.CLM09.020 999 - - K403 = 7:"Invalid Code Value" | 2200-CLMO9 must be valid
values.
IK403 = 110: "Implementation
2300.CLM10.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 2:"Conditional If 2300.DTP with DTPO1 = 439 is
2300.CLM11-1.010 999 R - Required Data Element present, then 2300.CLM11 must
Missing" be present.
2300.CLM11-1.020 999 R - K403 = 7:"Invalid Code Value" | 2300.CLMT1-1 must be valid
values.
IK403 = 2: "Conditional )
2300.CLM11-2.010 999 S - Required Data Element 2500.LLM1M-2 is present

2300.CLM11-1 must be present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.CLM02.010 999 R . K403 = 1: Required DAta | 5354 ¢ M2 must be present.
Element Missing
IK403 = 6:"Invalid
2300.CLM02.020 999 - - Character in Data 2300.CLM02 must be numeric.
Element”
IK403 = 2: "Conditional If 2200.CLM11-1 or 2300.CLM11-2 is
2300.CLM11-4.010 999 S - Required Data Element "AA", then 2300.CLM11-4 must be
Missing" present.
" If 2200.CLM11-1 or 2300.CLM11-2 is
IK403 = 2: "Conditional A
: "AA" and 2300.CLM11-4 is not
2300.CLM11-5.010 999 S - quwreﬂd Data Element present, then 2300.CLM11-5 must be
Missing
present.
2300.CLM12.010 999 s . ka3 =7 Invalid Code 1 5300 cLM12 must be valid values,
IK403 = 110:
2300.CLM13.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2300.CLM14.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2300.CLM15.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2300.CLM16.010 999 N/U - "Implementation "Not Must not be present.

Used" Element Present”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

IK403 = 10: "Implementation
2300.CLM17.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 10: "Implementation
2300.CLM18.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.CLM19.010 999 S - '\/K;‘ﬁi,.: 7-Invalid Code 2300.CLM19 must be valid values.
2300.CLM20.010 999 S - '\/Kgﬁse,.: 7-"Invalid Code 2300.CLM20 must be valid values.

IK304 = 16: "Implementation | If 2300.CLM11-1 or CLM11-2 = "AA" or
2300.DTP.010 999 S - Dependent Segment "OA" then 2300.DTP with DTPO1 =

Missing" "439" must be present.

IK304 = 5:"Segment Exceeds | Only one iteration of 2300.DTP
23500.DTP.020 299 ) ) Maximum Use" with DTPO1 = "439" is allowed.
2300.DTP01.010 999 R - K403 = 1: 'Required Data | 5304 571 must be present.

Element Missing
2300.DTP01.020 999 - - '\/Kjﬁi = 7-Invalid Code 2300.DTPO1 must be "439".
2300.DTP02.010 999 R - IK403 = 1: 'Required Data 2300.DTP02 must be present.

Element Missing
2300.DTP02.020 999 - - '\/Kgﬁse,.: 7-"Invalid Code 2300.DTP02 must be "D8".
2300.DTP03.010 999 R - IK403 = 1: 'Required Data | »304 7pO3 must be present.

Element Missing"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

2300.DTP03.020 999 i i K403 = 8: "Invalid Date" éiov%ﬂjgérpo”rf;gf a valid date in
wo s | rssseomen oy one ot orzso0or v
2300.DTP01.010 999 R - Lﬁiﬁ;:};ﬁiﬁ#&ed Data 15300 0TPO1 must be present.
2300.DTP01.020 999 - - |v»<;1l(3)3; 7-"Invalid Code 2300.DTPO1 must be "452".
2300.DTP02.010 999 R - 'E'Tgffe;:ﬁsgr‘g?d Data 1 5300.0TP02 must be present.
2300.DTP02.020 999 - - '\/Kjﬁi = 7-Invalid Code 2300.DTP02 must be "DS".
2300.DTP03.010 999 R - Lﬁiﬁ;:};ﬁiﬁ#&ed Data 15300, 0TP03 must be present.
2300.DTP03.020 999 - - IK403 = 8: "Invalid Date" éiov%ﬂjgérpof;gf a valid date in
I R B W e T P
2300.DTP01.010 999 R - Lﬁiﬁ;:ﬁfﬁﬁyd Data | 5300.0TPO1 must be present.
2300.DTP01.020 999 - - '\/Kjl?i,.: 7-"Invalid Code 2300.DTPO1 must be "472".
2300.DTP02.010 999 R - K403 = 1: 'Required Data | 40 1pos must be present.

Element Missing"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
2300.CLM02.010 999 R - K403 = 1:'Required 1 53,6 | M2 must be present.

Data Element Missing

IK403 = 6:"Invalid
2300.CLM02.020 999 - - Character in Data 2300.CLM02 must be numeric.

Element”

If D8:2300.DTP03 must be a valid date
in CCYYMMDD format.

2300.DTP03.020 999 - - IK403 = 8:"Invalid Date If RD8: 2300.DTPO3 must be a valid
date in the format of CCYYMMDD-
CCYYMMDD.

IK304 = 5:"Segment Only one iteration of 2300.DTP with
2300DTP.010 299 S ) Exceeds Maximum Use" | DTP0O1 ="050" is allowed.
2300.DTP0O1.010 999 R - K403 = 1:'Required 1,240 51p01 must be present.

Data Element Missing
2300.DTP01.020 999 - - ka0 =7 Invalid Code | 300 DTPOT must be 050"
2300.DTP02.010 999 R - K403 = 1:'Required | 52,6 5702 must be present.

Data Element Missing
2300.DTP02.020 999 - - '\/K(jﬁi = 7-Invalid Code | 5360 5TP02 must be "DE".
2300.DTP03.010 999 R - K403 = 1: 'Required = 1,541 51p03 must be present.

Data Element Missing

o . . | 2300.DTP0O3 must be a valid date in
2300.DTP03.020 999 - - IK403 = 8:"Invalid Date CCYYMMDD format.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2300.DN1.010 990 S 1 IK304 =5: Seg[nent Exceeds iny one iteration of 2300.DN1

Maximum Use is allowed.
2300.DN101.010 999 S - K403 = 6:“Invalid Characterin 1 53665N101 must be numeric.

Data Element
2300.DN102.010 999 S - K403 = 6: “Invalid Characterin. | 535458102 must be numeric.

Data Element

K403 = 110: "Implementation
2300.DN103.010 999 NU - "Not Used" Element Present” Must not be present.

Cw ) . 2300.DN104 must be
2300.DN104.010 999 S - K403 = &:"Invalid Characterin | S ted with accepted AN

Data Element

characters.
5300.DN104.020 900 S i IK403 = 6: |I’1V(Z:l|d Characterin | 2300.DN104 must contain at

Data Element least one non-space character.
2300 DN104.030 990 S ) IK403": 5:"Data Element Too 2300.DN104 must be 1-80

Long characters.

IK304 = 5:"Segment Exceeds Only thirty five iterations of
2300.DN2.010 299 S 35 Maximum Use" 2300.DN2 are allowed.
2300.DN201.010 999 R - IK403 = 1: 'Required Data 2300.DN201 must be present.

Element Missing

i ) . 2300.DN201 must be
2300.DN201.020 999 R - IK403 = &: "Invalid Characterin | 1 | qted with accepted AN

Data Element”

characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o ) . 2300.DN201 must contain at
2300.DN201.030 999 R - k403 = 6:"Invalid Characterin |2’ ne non-space
Data Element
character.
5300.DN201.040 900 R i IK403": 5:"Data Element Too 2300.DN201 must be 1-50
Long characters.
2300.DN202.010 999 R - IK403 = 1: 'Required Data 2300.DN202 must be present.
Element Missing
2300.DN202.020 999 R - K403 = 7:"Invalid Code Value” | 2200DN202 must be valid
values.EorM
IK403 = 10: "Implementation
2300.DN203.010 999 NU - "Not Used" Element Present” Must not be present.
K403 = 10: "Implementation
2300.DN204.010 999 NU - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2300.DN205.010 999 NU - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2300.DN206.010 999 NU - "Not Used" Element Present” Must not be present.
IK304 = 5:"Segment Exceeds Only ten iterations of
2300 PWK010 299 S 10 Maximum Use" 2300.PWK are allowed.
2300.PWK01.010 999 R - K403 = 1: 'Required Data 2300.PWKO1 must be present.

Element Missing"
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2300.PWKO01.020 999 - - K403 = 7:"Invalid Code Value" | 2300.PWKO1 must be valid values.
2300.PWK02.010 999 R - K403 = 1: 'Required Data 2300.PWKO02 must be present.
Element Missing
2300.PWK02.020 999 . . K403 = 7:"Invalid Code Value" | 2300PWKOZ must be valid
IK403 = 10: "Implementation
2300.PWKO03.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2300.PWK04.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 2: "Conditional When 2300.PWKO5 is present,
2300.PWK05.010 999 S - Required Data Element 2300.PWKO2 must be “BM”, “EL”,
Missing" “EM”, “FX" or “FT".
2300.PWK05.020 999 - - IK403 = 7:"Invalid Code Value" | 2300.PWKO5 must be "AC".
IK403 = 2: "Conditional When 2300.PWKO6 is present,
2300.PWK06.010 999 S - Required Data Element 2300.PWKO02 must be “BM”, “EL”,
Missing" “EM”, “FX" or “FT".
IK403 = 4:"Data Element Too
Short" 2300.PWKO6 must be 2-50
2300 PWK06.020 299 ) ) IK403 = 5:"Data Element Too | characters.
Long"
2300.PWK06.040 990 i i IK403 = 6:"Invalid Character | 2300.PWK06 must be populated

in Data Element”

with accepted AN characters.
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o . . 2300.PWKO6 must contain at
2300.PWK06.060 999 - - K403 = 6: “Invalid Character in least two non-space
Data Element
characters.
2300.PWK07.010 999 NU |- K403 = 10: “Implementation "NOt |\ ot ot be present.
Used" Element Present
2300 PWK08.010 999 NU - K403 = 10: ‘Implementation "NOt |\ ot hot be present.
Used" Element Present
2300.PWK09.010 999 NU |- K403 = 10: ‘Implementation "NOt |\ ot ot be present.
Used" Element Present
IK304 = 19: "Implementation
2300.CN1.010 999 NU |- Dependent "Not Used" Segment | 2500-CN1must not be
" present.
Present
IK304 = 5:"Segment Exceeds Only one iteration of
23500.AMT.010 299 S L Maximum Use" 2300.AMT is allowed.
2300.AMT01.010 999 R - :\'fli(g?n;]: Required Data Element | 304 AMTO1 must be present.
2300.AMT01.020 999 - - IK403 = 7: "Invalid Code Value" 2300.AMTO1 must be "F5".
2300 AMT02.005 999 R ) IK403 = 1 Required Data Element | 2300 AMT02 must be
Missing present.
2300 AMT02.010 999 ) ) IK403 = 6:"Invalid Character in 2300.AMT02 must be

Data Element”

numeric.
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IK403 = 5:"Data Element Too 2300.AMT02 must be >= 0 and
2300.AMT02.015 999 - - Long" <= 99.999.99.

IK403 = 10: "Implementation
2300.AMT03.010 999 N/U - "Not Used" Element Present” Must not be present.

) IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300REF.010 299 S Maximum Use" with REFO1 ="G3" is allowed.
2300.REFO1.010 999 R - IK403 = 1: 'Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be"G3".
2300.REF02.010 999 R - IK403 = 1: 'Required Data 2300.REF02 must be present.

Element Missing

IK403 = 10: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 10: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300REF.010 299 S ! Maximum Use" with REFO1 ="4N" is allowed.
2300.REFO1.010 999 R - IK403 = 1: 'Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be "4N".
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2300.REF02.010 999 R - IK403 = 1: 'Required Data 2300.REF02 must be present.

Element Missing
2300.REF02.020 999 - - IK403 = 7: "Invalid Code Value” %%)e.zEFoz must be valid

IK403 = 10: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

K403 = 110: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.REF.010 999 N/U ] 2300.REF with REFO1 ="F8

must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300.REF.010 299 S ! Maximum Use" with REFO1 ="9F" is allowed.
2300.REF01.010 999 R - K403 = 1: 'Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be"9F".
2300.REF02.010 999 R - K403 = 1: 'Required Data 2300.REFO2 must be present.

Element Missing

o . . 2300.REF02 must contain at
2300REF02.020 999 - - K403 = 6: "Invalid Characterin | ot 5ne non-space

Data Element

character.
5300 REF02.030 990 ) ) IK403 = 5:"Data Element Too 2300.REFO2 must be 1-50

Long"

characters.
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o ) . 2300.REF02 must be
2300.REF02.050 999 - - K403 = &:"Invalid Characterin | (o) ted with accepted AN

Data Element

characters.

K403 = 110: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 10: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300.REF.010 299 S L Maximum Use" with REFO1 ="G1"is allowed.
2300.REF01.010 999 R - IK403 = 1: 'Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be "G1".
2300.REF02.010 999 R - IK403 = 1: 'Required Data 2300.REFO2 must be present.

Element Missing

o . . 2300.REF02 must contain at
2300REF02.020 999 - - K403 = 6: "Invalid Characterin o6 one non-space

Data Element

character.
5300 REF02.030 990 ) ) |K403”= 5:"Data Element Too 2300.REF02 must be 1-50

Long characters.

i ) ) 2300.REF02 must be
2300.REF02.050 999 - - IK403 = &:"Invalid Characterin |\ o i oted with accepted AN

Data Element”

characters.
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IK403 = 10: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 10: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300REF.010 299 S ! Maximum Use" with REFO1 = "9A" is allowed.
2300.REFO1.010 999 R - K403 = 1: 'Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be "9A".
2300.REF02.010 999 R - K403 = 1: 'Required Data 2300.REF02 must be present.

Element Missing

o ) . 2300.REF02 must contain at
2300.REF02.020 999 - - K403 = 6:"Invalid Characterin |- &0 ne non-space

Data Element

character.
2300 REF02.030 900 i i IK403": 5:"Data Element Too 2300.REF02 must be 1-50

Long characters.

L ) . 2300.REF02 must be
2300.REF02.050 999 - - K403 = &:"Invalid Characterin | o) ted with accepted AN

Data Element

characters.
2300.REF03.010 999 NU |- K403 = 110: implementation Must not be present.

"Not Used" Element Present”
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IK403 = 10: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300.REF.010 299 S ! Maximum Use" with REFO1 ="9C" is allowed.
2300.REF01.010 999 R - K403 = 1: 'Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be "9C".
2300.REF02.010 999 R - IK403 = 1: 'Required Data 2300.REFO2 must be present.

Element Missing

o . . 2300.REF02 must contain at
2300REF02.020 999 - - K403 = 6: "Invalid Characterin o6 one non-space

Data Element

character.
5300 REF02.030 990 ) ) |K403”= 5:"Data Element Too 2300.REFO2 must be 1-50

Long characters.

i ) . 2300.REF02 must be
2300REF02.050 999 - - K403 = 6: "Invalid Characterin |\l gted with accepted AN

Data Element

characters.

IK403 = 10: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.REF04.010 999 NU |- K403 = 110: implementation Must not be present.

"Not Used" Element Present”
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IK304 = 5:"Segment Exceeds Only one iteration of 2300.REF
2300REF.010 799 S ! Maximum Use" with REFO1 = "D9" is allowed.
2300.REF01.010 999 R - K403 = 1: 'Required Data 2300.REFO1 must be present.

Element Missing
2300.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2300.REFO1 must be "D9".
2300.REF02.010 999 R - K403 = 1: 'Required Data 2300.REF02 must be present.

Element Missing

o ) . 2300.REF02 must contain at

2300.REF02.020 999 - - k403 = 6: "Invalid Characterin |-\ "o e non-space

Data Element

character.

2300 REF02.030 990 i i |K403”= 5:"Data Element Too 2300.REFO2 must be 1-20

Long characters.

o . . 2300.REF02 must be

2300.REF02.050 999 - - k403 = 6:"Invalid Characterin | 0 oted with accepted AN

Data Element

characters.

IK403 = 10: "Implementation
2300.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 10: "Implementation
2300.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.K3.010 900 S 10 IK304 = 5:"Segment Exceeds Only ten iterations of K3 are

Maximum Use"

allowed.
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2300.£301.010 999 R - IK403 = 1: 'Required Data 2300.K301 must be present.
Element Missing
o . . 2300.K301 must contain at
2300.K301.020 999 - - K403 = &: '”V".,“d Characterin least one non-space
Data Element
character.
2300.K301.030 990 ) ) IK403": 5:"Data Element Too 2300.K301 must be 1-80
Long characters.
IK403 = 6:"Invalid Character in 2300.K301 must be populated
2300K301.050 299 ) ) Data Element" with accepted AN characters.
IK403 = 10: "Implementation
2300.K302.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2300.K303.010 999 N/U - "Not Used" Element Present” Must not be present.
2300 NTEO10 990 S 5 IK304 =5: Seg[nent Exceeds iny one iteration of 2300.NTE
Maximum Use is allowed.
2300.NTE01.010 999 R - K403 = 1: 'Required Data 2300.NTEO1 must be present.
Element Missing
2300.NTE01.020 999 - - K403 = 7:"Invalid Code Value” | 2500NTEOT must be valid
values.
2300.NTE02.010 999 R - K403 = 1: 'Required Data 2300.NTEO2 must be present.
Element Missing
Cw ) . 2300.NTEO2 must contain at
2300.NTE02.020 999 - - K403 = 6: "Invalid Characterin 7o one non-space

Data Element”

character.
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2300 NTE02.030 090 ) ) IK403": 5:"Data Element Too 2300.NTEO2 must be 1-80

Long characters.

IK403 = 6:"Invalid Characterin | 2300.NTEO2 must be populated
2500.NTE02.050 299 ) ) Data Element” with accepted AN characters.
230011010 999 ) ) IK304 = 3 "Required Segment ?309.H| with HIO1-1 = "ABK" or

Missing TQ" must be present.

o Only one iteration of 2300.HI
2300.H1.040 999 : - K304 = 5 'Segment Exceeds | iy 1011 = "ABK” or "TQ" is

Maximum Use

allowed.
2300.H101-1.010 999 R - K403 = 1: 'Required Data 2300.HI01-1 must be present.

Element Missing
2300.H101-1.020 999 - - IK403 = 7: "Invalid Code Value" 2300.H101-1 must be "ABK". TQ
2300.H101-2.010 999 R - K403 = 1: 'Required Data 2300.HI01-2 must be present.

Element Missing
5300.H101-2100 999 i ) IK403 = 6: Invc?lhd Characterin ?HBOO.HIO1—2 must not contain a

Data Element .

IK403 = 110: "Implementation
2300.H101-3.010 999 N/U - "Not Used" Element Present” Must not be present.
2300.HI01-4.010 999 NU |- K403 = 110: Implementation |\, ot he present.

"Not Used" Element Present”
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2300.HI01-5.010 999 NU |- K403 = 110: "Implementation "Not Used" | 1 ¢ ot be present.
Element Present

2300.HI101-6.010 999 NU |- K403 = 110: “Implementation "Not Used" |\ ¢ 1ot be present.
Element Present

2300.HI01-7.010 999 NU |- IK403 = 110: "Implementation "Not Used" | \; o+ 1\t pe present.
Element Present

2300.HI01-8.010 999 NU |- K403 = 110: "Implementation "Not Used" | \y ot 1o be present.
Element Present

o . 2300.H102-1 must

2300.H102-1.020 999 s - IK403 = 7: "Invalid Code Value AR o T

2300.H102-2.090 990 i i IK403 = 6 Invalid Character in Data 2300'H|O21.2.,mU5t not
Element containa "

2300.H102-3.010 999 NU |- IK403 = 110: "Implementation "Not Used" | \; ot 1\t pe present.
Element Present

2300.H102-4.010 999 NU |- k403 = 110: "Implementation "Not Used" |\ ot 1o be present.
Element Present

2300 HI02-5.010 999 NU |- K403 = 110: "Implementation "Not Used" | 1 ¢ 1ot be present.
Element Present
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2300 HI02-6.010 999 NU |- K403 = 110: "Implementation "NOt | \y ¢ ot pe present.
Used" Element Present

2300.H102-7.010 999 NU |- K403 = 10: “Implementation "NOt | vy ¢ ot be present.
Used" Element Present

2300.H102-8.010 999 NU |- K403 = 110:"Implementation "Not | \y.,; 1ot be present.
Used" Element Present

2300.H102-9.010 999 NU - k403 = 110: “Implementation "NOt |\ ot ot be present.
Used" Element Present

A . . 2300.HI03 can only be

2300.H103.010 999 S - k403 = 2: "Conditional Required | oo t'if 2300 HI02 is

Data Element Missing
present.

2300.HI03- o . " 2300.H103-1 must be "BF" or

1020 999 R - IK403 = 7:"Invalid Code Value "ABE".

2300 HI03-2.090 990 ) ) IK403 = 6: Invq‘lld Character in 2300.HI03—'|2|‘must not
Data Element containa ™.

2300.HI103-3.010 999 NU |- K403 = 110: “Implementation "NOt | vy ¢ ot be present.
Used" Element Present

2300.HI03-4.010 999 NU |- IK403 = 110: "Implementation "Not |\, 1ot pe present.

Used" Element Present”
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2300 HI03-5.010 999 NU |- K403 = 110: "Implementation "Not | \; i ot pe present.
Used" Element Present

2300.H103-6.010 999 NU |- K403 = 10: “Implementation "NOt |\ & 1\t e present.
Used" Element Present

2300.HI03-7.010 999 NU - IK403 = 110: "Implementation "Not | ;i ot pe present.
Used" Element Present

2300.HI03-8.010 999 NU |- K403 = 10: “Implementation "NOt |\, &+ e present.
Used" Element Present

2300.HI03-9.010 999 NU |- K403 = 110: "Implementation "Not | \; i ot pe present.
Used" Element Present

o o . 2300.HI04 can only be

2300.H104.010 999 S - K403 = 2:"Conditional Required | . (0 i 9200 HIOS is

Data Element Missing
present.

2300.H104-1.020 999 R i K403 = 7:"Invalid Code Value” 2300 HI0a must be "BF or

2300.H104-2.090 990 i i IK403 = 6: |I’1V(’,1[Id Characterin 2300.H|04-|%| must not
Data Element containa ",

2300.HI04-3.010 999 NU |- IK403 = 110: "Implementation "Not | \; ot 1\t be present.

Used" Element Present”
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2300 HI04-4010 999 NU |- K403 = 110: “Implementation "NOt |\ 4 ot be present.
Used" Element Present

2300.H104-5.010 999 NU |- K403 = 110: ‘Implementation "Not Must not be present.
Used" Element Present

2300.HI04-6.010 999 NU - K403 = 110: Implementation "Not Must not be present.
Used" Element Present

2300.H104-7.010 999 NU |- K403 = 110: Implementation "Not Must not be present.
Used" Element Present

2300.HI04-8.010 999 NU |- K403 = 110: “Implementation "NOt |\ 4 6t e present.
Used" Element Present

2300.H104-9.010 999 NU |- K403 = 110: ‘Implementation "Not Must not be present.
Used" Element Present

2300.HI05.010 999 NU - K403 = 110: Implementation "Not Must not be present.
Used" Element Present

2300.HCP.005 999 NU |- K304 = I4: "Implementation "Not Must not be present
Used” Segment Present

IK304 = 4:"Loop Occurs Over Only two iterations of
2310ANM1.010 999 i 2 Maximum Times" 2310A are allowed.
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2310ANM1.020 090 S ) IK304 = 5: Seg ment ) Only one iteration of 2310ANM1 is
Exceeds Maximum Use allowed.
2310ANM101.010 099 R ) IK304 = 2:” Unexpected 231QA.N M101 must be presentand a
segment valid value.
[ . For the first iteration of the referring
2310ANM101.030 999 - - K403 =7:"Invalid Code | i er loop, 2310ANMI01 must be
Value "DN"
o ) For the second iteration of the
2310ANM101.040 999 - - K403 =7:"Invalid Code | o rring provider loop, 2310ANMI01
Value "oz
must be "P3".
2310ANM102.010 999 R - K403 = 1: Required DAta | H316A NM102 must be present.
Element Missing
2310ANM102.020 999 - - (ka0s = 7 Invalid Code | 5510ANM102 must be "1
2310ANM103.010 999 R - K403 = 1: 'Required Data | 5216 A NM103 must be present.
Element Missing
IK403 = 6: "Invalid )
2310ANM103.020 999 - - Character in Data 2310ANM103 must contain at least
Element” one non-space character.
5310 ANM103.030 999 ) ) IK403 = 5:|':Doto Element | 2310ANM103 must be 1- 60
Too Long characters.
IK403 = 6:"Invalid .
2310ANM103.050 999 - - Character in Data 2310ANM103 must be populated with
Element” accepted AN characters.
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2310ANM104.010 090 S ) IK403 = 6: Invc?lhd Characterin | 2310ANM104 must contain at
Data Element least one non-space character.
2310ANM104.020 099 i ) |K403“= 5:"Data Element Too 2310ANM104 must be 1 - 35
Long characters.
o B A 2310ANM104 must be
2310ANM104.040 999 - - K403 = &: "Invalid Characterin | o ted with accepted AN
Data Element
characters.
2310ANMI105.010 099 S ) IK403 = 6: Invclhd Characterin | 2310ANM105 must contain at
Data Element least one non-space character.
5310 ANM105.020 999 ) ) |K403“= 5:"Data Element Too 2310ANM105 must be 1-25
Long characters.
o . . 2310ANM105 must be
2310ANM105.040 999 - - K403 = 6: "Invalid Characterin | i yted with accepted AN
Data Element
characters.
IK403 = 110: "Implementation
2310ANM106.010 999 N/U - "Not Used" Element Present” Must not be present.
2310ANM107.010 999 S ) IK403 = 6: Invc?lhd Characterin | 2310ANM107 must contain at
Data Element least one non-space character.
2310ANM107.020 090 ) ) IK403": 5:"Data Element Too 2310ANM107 must be 1-10
Long characters.
o . ) 2310ANM107 must be
2310A.NM107.040 999 - - K403 = 6:Invallid Characterin | Jo 0 ied with accepted AN

Data Element”

characters.
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2310A.NM108.030 999 - - IK403 = 7:"Invalid Code Value" | 2310ANM108 must be "XX".
IK403 = 2: "Conditional .
; 2310ANM109 must be present if
2310ANM109.010 999 S - [I?/Ie.qwreypl Data Element 2310ANMI08 is present.
issing

IK403 = 110: "Implementation
2310A.NM110.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2310ANM111.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2310A.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2310A. PRV
2510A.PRV.020 299 S ) Maximum Use" with PRVO1 = "RF" is allowed.
2310A.PRV01.010 999 R - K403 = 1: 'Required Data 2310A.PRVO1 must be present.

Element Missing
2310A.PRV01.020 999 - - IK403 = 7:"Invalid Code Value" [ 2310A.PRV0O1 must be "RF".
2310A.PRV02.010 999 R - K403 = 1: 'Required Data 2310APRVO2 must be present.

Element Missing
2310A.PRV02.020 999 - - IK403 = 7:"Invalid Code Value" | 2310A.PRV02 must be "PXC".

National Government Services, Inc.

Page 73 of 159




837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2310APRV03.010 999 R - 'E'T;‘Sfe;::Mfsgr‘g?d Data 1 5310APRVO3 must be present.
IK403 = 10: "Implementation
2310A.PRV04.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2310A.PRV05.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2310A.PRV06.010 999 N/U - "Not Used" Element Present” Must not be present.
" . If 2210ANM1 is present, 2310A.REF
IK304 = 19: "Implementation : g un o
2310A.REF.010 999 S - Dependent "Not Used" with REFOT ="G" or "0B" may be
Segment Present” present when 2310A.NM109 is not
present.
IK304 = 19: "Implementation
2310A.REF.030 999 - - Dependent "Not Used" 2310A.REF must not be present.
Segment Present”
2310AREF01.010 999 R - 'E'T;‘Sfe;::Mfsgr‘g?d Data 1 5310AREFO1 must be present.
2310AREF01.020 999 - - '\/Kjﬁif 7-Invalid Code 2310AREFO1 must be valid values.
2310AREF02.010 999 R - K403 = 1: 'Required Data 2310A.REF02 must be present.

Element Missing"
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o ) When 2310A.REF0O1 = "OB",
2310AREF02.020 999 - - K403 = &: “Invalid Character | 315, rEF02 must contain at least
in Data Element
one non-space character.
oo When 2310A.REFO1 = "0B",
2310AREF02.040 999 : : 405 5 bata Element Too | 5340 REFO2 must be 1- 50
9 characters.
o ) When 2310A.REFO1 = "0OB",
2310AREF02.060 999 - - IK403 = 6: “Invalid Character | o0 REF02 must be populated
in Data Element ;
with accepted AN characters.
IK403 = 10: "Implementation
2310A.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2310A.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.
2310BNM1.010 990 S 1 IK304 =4 qup ?ccurs Over | Only one iteration of 2310B.NM1 is
Maximum Times allowed.
2310BNM101.010 990 R ) K304 = 2:" Unexpected 23103.N M101 must be present and
segment a valid value.
2310BNM102.010 999 R - K403 = 1: 'Required Data 2310BNM102 must be present.
Element Missing
2310BNM102.020 999 - - '\/K;‘Ei,.: 7-Invalid Code 2310BNM102 must be valid values.
2310BNM103.010 999 R - K403 = 1: 'Required Data 2310BNM103 must be present.

Element Missing"
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o . . 2310B.NM103 must contain
2310BNM103.020 999 - - 1403 = &: Invalid Character in at least one non-space
Data Element
character.
2310BNM103.030 999 - - IK403 = 5 "Data Elerent Too Long" | 201 0BNMI03 must be 1 - 60
characters.
o ) ) 2310B.NM103 must be
2310BNM103.050 999 - - 1403 = &: Invalid Character in populated with accepted
Data Element
AN characters.
IK403 = 13: "Implementation If 2310B.NM102 is "2",
2310B.NM104.015 999 S - Dependent "Not Used" Data 2310B.NM104 must not be
Element Present” present.
o . ) 2310B.NM104 must contain
2310B.NM104.020 999 - - K403 = 6:“Invalid Character in at least one non-space
Data Element
character.
2310BNM104.030 999 - - IK403 = 5 "Data Element Too Long" | 20 0BNM104 mustbe - 35
characters.
o . . 2310B.NM104 must be
2310BNM104.050 999 - - K403 = 6:“Invalid Character in populated with accepted
Data Element
AN characters.
IK403 = 13: "Implementation If 2310B.NM102 is "2,
2310B.NM105.015 999 S - Dependent "Not Used" Data 2310B.NM105 must not be
Element Present” present.
o . . 2310B.NM105 must contain
2310BNM105.020 999 - - k403 = 6:“Invalid Character in at least one non-space
Data Element
character.
2310BNM105.030 999 - - IK403 = 5: "Data Element Too Long" | 2510BNMIT05 must be 1-25

characters.

National Government Services, Inc.

Page 76 of 159



837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o ) ) 2310B.NM105 must be
2310BNM105.050 999 - - K403 = 6: “Invalid Character in populated with accepted
Data Element
AN characters.
2310BNM106.010 999 NU |- K403 = 110: "Implementation "NOt |\ i ot e present.
Used" Element Present
IK403 = 113: "Implementation If 2310B.NM102 is "2",
2310B.NM107.010 999 S - Dependent "Not Used" Data 2310B.NM107 must not be
Element Present” present.
L . . 2310B.NM107 must contain
2310BNM107.020 999 - - K403 = 6: "Invalid Character in at least one non-space
Data Element
character.
2310BNM107.030 999 - - K403 = 5:"Data Element Too Long" | 1 2319BNM107 must be 1-10
characters.
o . . 2310B.NM107 must be
2310BNM107.050 999 - - K403 = 6: "Invalid Character in populated with accepted
Data Element
AN characters.
2310B.NM108.030 999 - - IK403 = 7:"Invalid Code Value" 2310B.NM108 must be "XX".
- e ) 2310B.NM109 must be
2310BNM109.010 999 S - K403 = 2: "Conditional Required present if 2310BNM108 is
Data Element Missing
present.
2310BNM110.010 999 NU |- K403 = 110: Implementation "Not |\ ot ot be present.

Used" Element Present”
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K403 = 10: "Implementation
2310B.NM111.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2310B.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.
Coow Only one iteration of
2310B.PRV.020 999 S - K304 = 5:"Segment Exceeds 2310B.PRV with PRVO1 = "PE" is
Maximum Use
allowed.
2310B.PRV01.010 999 R - K403 = 1: 'Required Data 2310B.PRVO1 must be present.
Element Missing
2310B.PRV01.020 999 - - IK403 = 7:"Invalid Code Value" 2310B.PRVO1 must be "PE".
2310B.PRV02.010 999 R - K403 = 1: 'Required Data 2310B.PRVO2 must be present.
Element Missing
2310B.PRV02.020 999 - - IK403 = 7:"Invalid Code Value" 2310B.PRV02 must be "PXC".
2310B.PRV03.010 999 R - K403 = 1: 'Required Data 2310B.PRVO3 must be present.
Element Missing
IK403 = 10: "Implementation
2310B.PRV04.010 999 N/U - "Not Used" Element Present” Must not be present.
2310B.PRV05.010 999 NU |- K403 = 110: iImplementation Must not be present.

"Not Used" Element Present”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK403 = 10: "Implementation
2310B.PRV06.010 999 N/U - "Not Used" Element Present” Must not be present.
IK304 = 19:"Implementation 1/1:/|2t3k11(F)2%—1\(‘)l\141: l.i gre(s)eBnté? %?T_EJF
2310B.REF.010 999 S - Dependent "Not Used" ’ !
" may be present when 2310B.NM109
Segment Present )
IS not present.
IK304 = 19: "Implementation
2310B.REF.030 999 - - Dependent "Not Used" 2310B.REF must not be present.
Segment Present”
2310BREF01.010 999 R - K403 = 1: ‘Required Data | 2108 REFOT must be present.
Element Missing
2310BREF01.025 999 - - '\/K;‘ﬁi,.: 7-Invalid Code 2310BREFO1 must be valid values.
2310BREF02.010 999 R - K403 = 1: 'Required Data | o308 pEF02 must be present.
Element Missing
o ) When 2310B.REFO1 = = "0B", "G2" or
2310BREF02.020 999 - - K403 = &: “Invalid Character |\ »z16p REFO2 must contain at
in Data Element
least one non-space character.
o When 2310B.REFO1 = "0B", "G2" or
2310B.REF02.040 999 - : k403 = 5 'Data Element |\ 53108 REFO2 must be 1 - 50

characters.
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Too Long"

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
When 2310B.REF01 = = "0B","G2" or
IK403 = 6:"Invalid "LU", 2310B.REFO2 must be
2310BREF02.060 299 ) ) Character in Data Element” | populated with accepted AN
characters.
IK403 = 110:
2310B.REF03.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2310B.REF04.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
5310C.NM1.010 900 S 1 IK304 = 4: 'Loop Qccur;c, Only one iteration of 2310C.NM1 is
Over Maximum Times allowed.
2310C NM101.010 900 R ) K304 = 2:" Unexpected 231QC.N M101 must be present and a
segment valid value.
2310C.NM102.010 999 R - K403 = 1: ‘Required DAtd | y315c NM102 must be present.
Element Missing
2310C.NM102.020 999 - - '\/Kjl?i,.: 7-Invalid Code 2310CNM102 must be "2".
2310C.NM103.010 999 R - K403 = 1: 'Required DAtd | 5310 NM103 must be present.
Element Missing
2310C. NM103.020 900 ) ) IK403 = 6: Ihvolld ) 2310C.NM103 must contain at least
Character in Data Element” | one non-space character.
2310C.NM103.030 990 i ) IK403 = 5:"Data Element 2310C.NM103 must be 1 - 60

characters.
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o ) . 2310C.NM103 must be
2310C.NM103.050 999 - - K403 = 6: "Invalid Characterin ' oted with accepted AN
Data Element
characters.
IK403 = 110: "Implementation
2310C.NM104.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2310C.NM105.010 999 N/U - "Not Used” Element Present” Must not be present.
IK403 = 110: "Implementation
2310C.NM106.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2310C.NM107.010 999 N/U - "Not Used" Element Present” Must not be present.
2310C.NM108.010 999 S - IK403 = 7: "Invalid Code Value" 2310C.NM108 must be "XX".
IK403 = 2: "Conditional Required [ If 2310C.NM108 is present,
2310CNM109.010 299 S ) Data Element Missing” 2310C.NM109 must be present.
IK403 = 110: "Implementation
2310C.NM110.010 999 N/U - "Not Used" Element Present” Must not be present.
2310CNM111.010 999 NU |- K403 = 110: Implementation |\, 1ot e present.

"Not Used" Element Present”
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IK403 = 10: "Implementation
2310C.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 16: "Implementation If 2310C.NM1 is present,
2310CN3.010 299 R ) Dependent Segment Missing" 2310.N3 must be present.
2310C.N3.020 990 ) ) IK304 = 5:"Seg ment Exceeds Only one iteration of 2310C.N3

Maximum Use is allowed.
2310C.N301.010 999 R - K403 = 1: 'Required Data 2310C.N301 must be present.

Element Missing

Cw ) . 2310C.N301 must contain at
2310C.N301.020 999 - - K403 = &:"Invalid Characterin |00 oo ne non-space

Data Element

character.
5310C.N301.030 900 ) i IK403": 5:"Data Element Too 2310C.N301 must be 1-55

Long characters.

Cw ) . 2310C.N301 must be
2310C.N301.050 999 - - K403 = &:"Invalid Characterin | ted with accepted AN

Data Element

characters.
o . . 2310C.N302 must contain at
2310C.N302.020 999 S - K403 = 6: "Invalid Characterin | |06 'one non-space

Data Element

character.
5310C.N302.030 990 ) ) |K403”= 5:"Data Element Too 2310C.N302 must be 1-55

Long characters.

i ) . 2310C.N302 must be
2310C.N302.050 999 - - IK403 = &: "Invalid Characterin | o0\ oted with accepted AN

Data Element”

characters.
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"Not Used" Element Present”

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2310C.N4.010 090 R ) IK304 = 16: Implemento?ioh ) If 2210C.NM1 is present, 2310.N4
Dependent Segment Missing must be present.
2310C.N4.020 099 ) ) |K304 =5:"Seg rnent Exceeds iny one iteration of 2310C.N4
Maximum Use is allowed.
2310C.N401.010 999 R - K403 = 1: 'Required Data 2310C.N401 must be present.
Element Missing
L . . 2310C.N401 must contain at
2310C.N401.020 999 - - K403 = 6: "Invalid Characterin | | o o non-space
Data Element
characters.
IK403 = 4: "Data Element Too
Short" 2310C.N401 must be 2-30
2310C.N401.030 299 ) ) IK403 = 5:"Data Element Too characters.
Long"
IK403 = 6:"Invalid Character in 2310C.N401 must be populated
2310C.N401.050 299 ) ) Data Element” with accepted AN characters.
) IK403 = 2:"Conditional Required | If 2310C.N404 is not present,
2310CN402.010 299 S Data Element Missing” 2310C.N402 must be present.
IK403 = 2: "Conditional Required | If 2310C.N404 is not present,
2510C.N403010 299 S ) Data Element Missing” 2310C.N403 must be present.
2310C.N403.020 999 S - K403 = 6: "Invalid Characterin | 1£5216¢ N403 is not numeric.
Data Element
2310C.N403.030 090 S ) IK403:' = 4: "Data Element Too 2310C.N403 must be a 9 digit
Short zip
2310C.N404.010 999 S - K403 = 110: Implementation Must not be present.
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IK403 = 110: "Implementation
2310C.N405.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2310C.N406.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 10: "Implementation
2310C.N407.005 999 S - "Not Used" Element Present” Must not be present.
2310D.NM1.010 999 S ] IK304 =4: qup (")ccurs Over Only one iteration 2310D.NM1 is
Maximum Times allowed.
2310D.NM101.010 090 R ) K304 = 2:" Unexpected 231OD.NMjO1 must be present
segment and a valid value.
2310DNM102.010 999 R - K403 = 1: 'Required Data 2310D.NM102 must be present.
Element Missing
2310D.NM102.020 999 - - IK403 = 7: "Invalid Code Value" 2310D.NM102 must be "1".
2310DNM103.010 999 R - K403 = 1: 'Required Data 2310D.NM103 must be present.
Element Missing
5310D.NM103.020 999 ) ) IK403 = 6: "Invqllid Characterin [ 2310D.NM103 must contain at
Data Element least one non-space character.
2310D.NM103.030 999 ) ) IK403 = 5:"Data Element Too 2310D.NM103 must be 1- 60

Long"

characters.
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o ) ) 2310D.NM103 must be
2310D.NM103.050 999 - - K403 = &: "Invalid Characterin | o) ted with accepted AN
Data Element
characters.
5310D.NM104.010 999 S ) IK403 = 6: Invc?lhd Characterin | 2310D.NM104 must contain at
Data Element least one non-space character.
2310D.NM104.020 090 ) ) IK403": 5:"Data Element Too 2310D.NM104 must be 1-35
Long characters.
o . ) 2310D.NM104 must be
2310D.NM104.040 999 - - K403 = 6:Invallid Characterin |00 ted with accepted AN
Data Element
characters.
2310D.NM105.010 090 S ) IK403 = 6: Invc?lhd Characterin | 2310D.NM105 must contain at
Data Element least one non-space character.
2310D.NM105.020 099 i ) |K403“= 5:"Data Element Too 2310D.NM105 must be 1-25
Long characters.
o . . 2310D.NM105 must be
2310D.NM105.040 999 - - K403 = &: "Invalid Characterin | o ) ted with accepted AN
Data Element
characters.
IK403 = 110: "Implementation
2310D.NM106.010 999 N/U - "Not Used" Element Present” Must not be present.
5310D.NM107.010 999 S ) IK403 = 6: Invcllid Characterin | 2310D.NM107 must contain at
Data Element least one non-space character.
5310D.NM107.020 999 i ) IK403 = 5: "Data Element Too 2310D.NM107 must be 1-10

Long"

characters.
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o ) . 2310D.NM107 must be
2310D.NM107.040 999 - - K403 = &: "Invalid Characterin | o) ted with accepted AN

Data Element

characters.
2310D.NM108.030 999 - - IK403 = 7: "Invalid Code Value" 2310D.NM108 must be "XX".

IK403 = 2: "Conditional Required | If 2310D.NM108 is present,
2310D.NM109.010 299 S ) Data Element Missing” 2310D.NM109 must be present.

IK403 = 110: "Implementation
2310D.NM110.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2310D.NM111.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2310D.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2310D.PRV
2310D.PRV.020 299 S ) Maximum Use" with PRVO1="AS" is allowed.
2310D.PRVO1.010 999 R - IK403 = 1: 'Required Data 2310D.PRVO1 must be present.

Element Missing
2310D.PRV01.020 999 - - IK403 = 7: "Invalid Code Value" 2310D.PRVO1 must be "AS".
2310D.PRV02.010 999 R - K403 = 1: 'Required Data 2310D.PRVO2 must be present.

Element Missing"
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2310D.PRV02.020 999 : : K403 = 7:"Invalid Code Value" IODPRVOZ must be
2310D.PRVO3.010 990 R i IK403 = 1 Required Data Element 2310D.PRVO3 must be
Missing present.
2310D.PRV04.010 999 NU |- K403 = 110: “Implementation "Not Must not be present.
Used" Element Present
2310D.PRV05.010 999 NU |- k403 = 110: “Implementation "Not Must not be present.
Used" Element Present
2310D.PRV06.010 999 NU |- K403 = 110: Implementation "Not Must not be present.
Used" Element Present
IK304 = 5:"Segment Exceeds Only three iterations of
2510DREF.010 299 S ) Maximum Use" 2310D.REF are allowed.
IK304 = 19: "Implementation
2310DREF.015 999 - - Dependent "Not Used" Segment 2310DREF must not be
" present.
Present
2310D.REFO1.010 990 R i IK403 = 1 Required Data Element 2310D.REFO1 must be
Missing present.
2310D.REF02.010 990 R ) IK403 = 1: "Required Data Element 2310D.REF02 must be

Missing"

present.

National Government Services, Inc.

Page 87 of 159




837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o . When 2310D.REFO1 = "OB" or "LU",
2310D.REF02.020 999 - - K403 = &: Invalid Character | 2165 REF02 must contain at ledst
in Data Element
one non-space character.
o When 2310D.REFO1 = "OB" or "LU",
2310DREF02.040 999 - - K403 = 5: 'Data Element | 5316 REFO2 must be 1 - 50
Too Long
characters.
o ] When 2310D.REFO1 = "OB" or "LU",
2310D.REF02.060 999 - - 1405 = &: 'Invalid Character | 5z16p REF02 must be populated
in Data Element ;
with accepted AN characters.
IK403 = 110:
2310D.REF03.010 999 N/U - "Implementation "Not Used" | Must not be present.
Element Present”
1K403 = 110:
2310D.REF04.010 999 N/U - "Implementation "Not Used" | Must not be present.
Element Present”
2310ENM1.010 999 S ] K304 = 4: .Loop Qccurf Only one iteration 2310ENM1 is
Over Maximum Times allowed.
2310ENM101.010 090 R ) K304 = 2:" Unexpected 231QE.NM101 must be present and a
segment valid value.
2310ENM102.010 999 R - K403 = 1: ‘Required DAta | )16E NM102 must be present.
Element Missing
2310ENM102.020 999 - - k403 =7 Invalid Code 2310ENM102 must be "2".

Value"
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2310ENM103.010 990 N/U ) IK403 = 110: Impl?mentotmn Not Used Must not be
Element Present present.
2310ENM104.010 990 N/U ) IK403 = 10: Impl?mentotmn Not Used Must not be
Element Present present.
2310ENM105.010 990 N/U ) IK403 = 110: Impl?mentotion Not Used Must not be
Element Present present.
2310ENM106.010 900 N/U ) IK403 = 110: Impl?mentotmn Not Used Must not be
Element Present present.
2310ENM107.010 900 N/U ) IK403 = 110: Impl?mentotmn Not Used Must not be
Element Present present.
2310ENM108.010 990 N/U ) IK403 = 10: Impl?mentotmn Not Used Must not be
Element Present present.
2310ENM109.010 990 N/U ) IK403 = 110: Impl?mentotion Not Used Must not be
Element Present present.
5310ENM110.010 900 N/U ) IK403 = 110: Impl?mentotmn Not Used Must not be
Element Present present.
2310ENM111.010 900 N/U ) IK403 = 110: Impl?mentotmn Not Used Must not be
Element Present present.
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IK403 = 110: "Implementation
2310E.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.
} 4 If 2310ENM1 is present, 2310E.REF
IK304 = 19: "Implementation ) gt n o
2310EREF.010 999 s - Dependent "Not Used” with REFO1 = "1G” or "0B" may be
" present when 2310EINM109 is not
Segment Present
present.
IK304 = 19: "Implementation
2310E.REF.030 999 - - Dependent "Not Used" 2310E.REF must not be present.
Segment Present”
2310E.REF01.010 999 R - K403 = 1: ‘Required Data 2310E.REFO1 must be present.
Element Missing
2310EREF01.020 999 - - '\/Kgﬁif 7-Invalid Code 2310EREFO1 must be valid values.
2310EREF02.010 999 R - IK403 = 1: 'Required Data 2310EREFO2 must be present.
Element Missing
e When 2310EREFO1 = "0B',
2310E.REF02.020 999 - - K403 = 6:“Invalid Character | 5z per0) must contain at least
in Data Element
one non-space character.
. When 2310EREFO1 = "0B',
2310EREF02.040 999 - - :_';4:3.,‘ 5:"Data Element Too | 5310e pEF02 must be 1- 50
9 characters.
e When 2310EREFO1 = "0B",
2310EREF02.060 999 - - K403 = 6: “Invalid Character | e pEr62 must be populated

in Data Element”

with accepted AN characters.
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IK403 = 110:

2310E.REF03.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:

2310E.REF04.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”

2320010 990 ) 10 IK304 = 4: 'jLoop Qccur§ Up to ten iterations of the 2320 loop
Over Maximum Times are allowed.

5390.SBR.O10 900 S i IK304 = 5: Segment . Only one iteration of 2320.SBR is
Exceeds Maximum Use allowed.

2320 SBRO1.010 999 R . K403 = 1: Required DAta | 5356 spRoT must be present.
Element Missing

2320.SBR01.020 999 - - '\/Kjﬁif 7-invalid Code | 5256 5BROT must be valid values.

Each iteration of 2320.SBRO1 must

2320 SBRO1.030 990 ) ) K403 = 7:"Invalid Code contain a different code yolue (each

Value code value may appear in one and
only one SBRO1 element).

2320.SBR02.010 999 R - K403 = 1: 'Required Data | y354 sgRo2 must be present.
Element Missing

2320 SBR02.020 999 . . K403 =7:Invalid Code 1 5356 sBRO2 must be valid values.

Value"
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IK403 = 13: "Implementation
2320.5BR03.004 999 S - Dependent "Not Used” Data 2320.5BRO3 must not equal
) 2330ANM109
Element Present
L . . 2320.SBR0O3 must contain at
2320 SBRO3.010 999 - - K403 = 6:"Invalid Character in least one non-space
Data Element
character.
2320.SBR03.020 999 - - IK403 = 5. "Data Element Too Long" | 2520-5BRO3 must be 1- 50
characters.
o . ) 2320.SBR0O3 must be
2320 SBR03.040 999 - - K403 = 6:“Invalid Character in populated with accepted
Data Element
AN characters.
o . -, If 2320.SBRO3 is present,
2320.5BR04.010 999 S - K403 =10:"Exclusion Condition 2320.SBRO4 must not be
Violated
present.
o . . 2320SBR04 must contain at
2320.SBR04.020 999 - - IK403 = 6: “Invalid Character in least one non-space
Data Element
character.
2320.5BR0O4.030 999 - - IK403 = 5: "Data Element Too Long" | 2520-5BR04 must be 1- 60
characters.
o . ) 2320.SBR0O4 must be
2320.SBR04.050 999 - - IK403 = 6: “Invalid Character in populated with accepted
Data Element
AN characters.
2320.SBR05.020 999 S - IK403 = 7: "Invalid Code Value” 32218':58%5 must be valid
2320.5BR06.010 999 NU |- K403 = 110: "Implementation "Not |, i 1ot be present.

Used" Element Present”
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2320 SBR07.010 999 NU |- K403 = 110:‘Implementation "NOt | ¢ not be present.

Used" Element Present
2320 SBRO8.010 999 NU |- K403 = 110: Implementation "NOt | ¢t not be present.

Used" Element Present
2320 SBR09.010 999 S - IK403 = 7:"Invalid Code Value” 2320 SBRO9 must be valid

values.

IK304 = 19: "Implementation

Dependent "Not Used" Segment

Present" If 2320.CAS is
2320.CAS.010 999 S - present, 2320.SBR must be

OR present.

IK304 = 2:"Unexpected Segment”

IK304 = 5:"Segment Exceeds Only five iterations of
2320LAS.020 299 i ) Maximum Use" 2320.CAS are allowed.
9320.CASO1.010 999 R ) CSC 41: Speool handling required | 2320.CASO1 must be

at payer site present.

2320 CASO1.020 090 ) ) CsC 286:'Other payer's Expla ngtion 2320.CASO1 must be valid
of Benefits/payment information values.

2320.CAS02.010 099 R ) IK403 = 1 Required Data Element | 2320.CAS02 must be
Missing present.

2320 CAS03.010 999 R ) IK403 = 1: "Required Data Element | 2320.CASO3 must be

Missing"

present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2320 CAS03.020 999 . . k403 = &: Invalid Character | 5255 cAs03 must be numeric.
in Data Element
Coow 2320.CASO3 must be >=-99,999.99,
2320 CAS03.050 990 ) ) :_K403”— 5:"Data Element Too and
ong <=99,999.99.
2320.CAS04.010 999 S . :_'g‘r?;.: 5 'bata Element Too | 5356 cAs04 must be 1-15 digits.
IK403 = 2: "Conditional If 2320.CASO5 is
2320.CAS05.010 999 S - Required Data Element present, 2320.CAS02 must be
Missing" present.
IK403 = 2: "Conditional .
! If 2320.CAS06 is present,
2320.CAS06.010 999 S - quwreﬂd Data Element 2320.CASO5 must be present.
Missing
2320.CAS06.020 999 - - 1403 = &: 'Invalid Character | 5254 cas06 must be numeric.
in Data Element
Coow 2320.CAS06 must be >= -
2320.CAS06.050 999 . . K403 = 5 "Data Element 100 | 9999999, and
9 <= 99,999.99.
IK403 = 2: "Conditional If 2320.CASO7 is
2320.CAS07.010 999 S - Required Data Element present, 2320.CASO5 must be
Missing" present.
2320.CAS07.020 999 - - 'L%‘r?;f 5:"Data Element Too | 5254 cA507 must be 1-15 digits.
IK403 = 2: "Conditional If 2320.CAS08 is
2320.CAS08.010 999 S - Required Data Element present, 2320.CASO5 must be
Missing" present.
IK403 = 2: "Conditional !
2320.CAS09.010 999 S - Required Data Element If 2320 CASO9 is present,

Missing"

2320.CAS08 must be present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2320 CAS09.020 999 . . k403 = &: Invalid Character | 535 cAs09 must be numeric.
in Data Element
o 2320.CASO9 must be >= -
2320.CAS09.050 999 - - 'LK4O3,." 5 'Data Element Too | 69 599 99 gnd
ong <=99,999.99.
IK403 = 2: "Conditional If 2320.CAS10 is
2320.CAS10.010 999 S - Required Data Element present, 2320.CAS08 must be
Missing" present.
2320.CAS10.020 999 - - :_'g‘r?gs,.: 5:'Data ElementToo | 5254 ~Ag10 must be 115 digits.
IK403 = 2: "Conditional If 2320.CAS11 is
2320.CAS11.010 999 S - Required Data Element present, 2320.CAS08 must be
Missing" present.
IK403 = 2: "Conditional )
) If 2320.CAS12 is present,
2320.CAS12.010 999 S - EAe‘qL‘“re“d Data Element 2320.CAST1 must be present.
issing
2320.CAS12.020 999 - - K403 = &: “Invalid Character | 350 cas12 must be numeric.
in Data Element
o 2320.CAS12 must be >=-99,999.99,
2320.CAS12.050 999 . . 405 5 bata ElementToo | g
9 <= 99,999.99.
IK403 = 2: "Conditional If 2320.CAS13 is
2320.CAS13.010 999 S - Required Data Element present, 2320.CAS11 must be
Missing" present.
2320.CAS13.020 999 - - 'L'?r?gf 5"Data Element Too | 5256 cAS13 must be 1-15 digits.
IK403 = 2: "Conditional If 2320.CAS14 is
2320.CAS14.010 999 S - Required Data Element present, 2320.CAS11 must be

Missing"

present.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK403 = 2: "Conditional
: If 2320.CAS15 is present,
2320.CAS15.010 999 S - Reqy|r§q Data Element 2320.CAS14 must be present.
Missing
2320.CAS15.020 999 - - K405 = &: Invalid Character | y354 cAs15 must be numeric,
in Data Element
I 2320.CAS15 must be >=-99,999.99,
2320.CAS15.050 999 - - K403 = 5 "Data Element Too | g
9 <= 99,999.99.
IK403 = 2: "Conditional If 2320.CAS16 is
2320.CAS16.010 999 S - Required Data Element present, 2320.CAS14 must be
Missing" present.
2320.CAS16.020 999 - - 'L'<O4r?g3.,= 5 'Data ElementToo | 5356 cAs16 must be 115 digits.
IK403 = 2: "Conditional If 2320.CAS17 is
2320.CAS17.010 999 S - Required Data Element present, 2320.CAS14 must be
Missing" present.
IK403 = 2: "Conditional .
; If 2320.CAS18 is present,
2320.CAS18.010 999 S - quwre"d Data Element 2320.CAS17 must be present.
Missing
2320.CAS18.020 999 - - 1403 = &: Invalid Character | 534 cAs1s must be numeric,
in Data Element
- 2320.CAS18 must be >=-99,999.99,
2320.CAS18.050 999 - - 403, 5 bata ElementToo | g
9 <= 99,999.99.
IK403 = 2:"Conditional If 2320.CAS19 is
2320.CAS19.010 999 S - Required Data Element present, 2320.CAS17 must be
Missing" present.
2320.CAS19.020 999 - - K403 = 5:"Data Element Too | 5356 cAs19 must be 1-15 digits.

Long"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

) IK304 = 5:"Segment Exceeds Only one iteration of 2320 AMT
2520 AMT.020 299 S Maximum Use" with AMTO1="D"is allowed.
2320 AMT01.010 999 R - K403 = 1: 'Required Data 2320.AMTO1 must be present.

Element Missing
2320.AMT01.020 999 - - IK403 = 7:"Invalid Code Value" 2320.AMTO1 must be "D".

2320 AMT02.015 999 R - K403 = 1: 'Required Data 2320.AMT02 must be present.

Element Missing
2320 AMT02.030 999 - - K403 = 6: "Invalid Characterin | 255 AMT02 must be numeric.

Data Element

IK403 = 5:"Data Element Too 2320.AMT02 must be >=0
2320.AMT02.010 999 - - Long" and <= 99.999.99.

IK403 = 10: "Implementation
2320.AMT03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2320 AMT
2520.AMT.020 299 S ) Maximum Use" with AMTO01="A8"is allowed.
2320.AMTO01.010 999 R - IK403 = 1: 'Required Data 2320.AMTO1 must be present.

Element Missing
2320.AMT01.020 999 - - IK403 = 7:"Invalid Code Value" 2320.AMTO01 must be "A8".
2320.AMT02.005 999 R - IK403 = 1: 'Required Data 2320 AMTO2 must be present.

Element Missing
2320.AMT02.010 999 - - K403 = 6: “Invalid Characterin | 525, AMTO2 must be numeric.

Data Element”

National Government Services, Inc.

Page 97 of 159



837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

IK403 = 5:"Data Element Too 2320.AMT02 must be >=0 and
2320.AMT02.020 999 - - Long" <= 99.999.99.

IK403 = 10: "Implementation
2320.AMT03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2320 AMT
2320.AMT.020 299 S ) Maximum Use" with AMTO1 = "EAF" is allowed.
2320 AMTO01.010 999 R - K403 = 1: 'Required Data 2320 AMTO1 must be present.

Element Missing
2320.AMT01.020 999 - - IK403 = 7:"Invalid Code Value" 2320.AMTO1 must be "EAF".
2320 AMT02.002 999 R - K403 = 1: 'Required Data 2320.AMT02 must be present.

Element Missing
2320 AMT02.005 999 - . K403 = 6: “Invalid Characterin | 5355 AMTO2 must be numeric.

Data Element

IK403 = 5:"Data Element Too 2320.AMT02 must be <=
2320.AMT02.010 999 - - Long" 99.999.99.

IK403 = 10: "Implementation
2320.AMT03.010 999 N/U - "Not Used" Element Present” Must not be present.
2390.01.010 999 R i IK304 = 16: Implemento'tlo'n . If 2320.SBR is present, 2320.0I

Dependent Segment Missing must be present.

232001020 090 ) ) IK304 = 5:"Segment Exceeds Only one iteration of 2320.0l is

Maximum Use"

allowed.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK403 = 110: "Implementation
2320.0101.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2320.0102.010 999 N/U - "Not Used" Element Present” Must not be present.
2320.0103.010 999 R - K403 = 1: 'Required Data 2320.0103 must be present.
Element Missing
2320.0103.020 999 - - IK403 = 7: "Invalid Code Value" 2320.0103 must be valid values.
2320.0104.010 999 S - IK403 = 7:"Invalid Code Value" 2320.0104 must be "P".
IK403 = 110: "Implementation
2320.0105.010 999 N/U - "Not Used" Element Present” Must not be present.
2320.0106.010 999 R - K403 = 1: 'Required Data 2320.0106 must be present.
Element Missing
2320.0106.020 999 - - IK403 = 7: "Invalid Code Value" 2320.0106 must be valid values.
. Only one iteration of 2320.MOA
2320 MOA.020 999 S - K304 = 5:"Segment Exceeds is allowed on outpatient
Maximum Use ;
claims.
2320 MOA01.010 999 S - 1ka03 = 6:“Invalid Characterin | 52,6 \oA01 must be numeric.
Data Element
IK403 = 112: "Implementation 2320.MOAO01 must be >=0.0
2520 MOAD1.020 299 ) ) Pattern Match Failure" and <=10.
2320.MOA02.010 999 S - K403 = 6: "Invalid Characterin | 5354 \6,A02 must be numeric.

Data Element”
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Long"

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK403 = 5:"Data Element Too 2320.MOAQ02 must be >= 0
2320.MOA02.020 999 - - Long" and <= 99.999.99.
2320 MOAO8.010 990 S i IK403 = 6: Invo“lld Characterin 2320 .MOAOS must be
Data Element numeric.
IK403 = 5:"Data Element Too 2320.MOA08 must be >=0
2320.MOA08.020 999 - - Long’ and <= 99.999.99.
2390 MOAQ9.010 900 S i IK403 = 6: Invq‘lld Character in 2320 .MOA09 must be
Data Element numeric.
IK403 = 5:"Data Element Too 2320.MOAQ09 must be >= 0
2320.MOA09.020 999 - - Long" and <= 99.999.99.
IK304 = 16: "Implementation If 2320SBR is present,
2350ANM1.010 299 R ! Dependent Segment Missing" 2330ANM1T must be present.
) ) IK304 = 4:"Loop Occurs Over Only one iteration of
2350ANM1.020 299 Maximum Times" 2330A.NM1 is allowed.
2330ANM101.010 999 R - K304 = 2: “Unexpected segment” | 2550ANMI0T must be
present and a valid value.
2330ANM102.020 999 . . K403 = 7: "Invalid Code Value' 2530/ NM102 must be valid
2330A. 990 R i IK403 = 1 Required Data Element | 2330AN.M103 must be
Missing present.
5330ANM103.020 990 ) ) IK403 = 5:"Data Element Too 2330ANM103 must be 1- 60

characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

o ) ) 2330ANM103 must be
2330ANM103.040 999 - - K403 = 6: “Invalid Character in populated with accepted

Data Element AN characters.

IK403 = 6:"Invalid Character in 2550ANM103 must contain

2330A.NM103.060 999 - - Data Element” at least one non-space

character.
IK403 = 113: "Implementation If 2330A.NM102 is "2",
2330A.NM104.010 999 S - Dependent "Not Used" Data 2330A.NM104 must not be
Element Present” present.

IK403 = 6:"Invalid Character in 2550ANM104 must contain

2330A.NM104.020 999 - - ,. at least one non-space
Data Element
character.

2330ANM104 must be 1-35

2330A.NM104.030 999 - - IK403 = 5:"Data Element Too Long" characters

o . ) 2330A.NM104 must be
2330ANM104.050 999 - - K403 = 6: "Invallid Character in populated with accepted

Data Element AN characters.

IK403 = 113: "Implementation If 2330ANM102 is "2",
2330A.NM105.010 999 S - Dependent "Not Used" Data 2330ANM105 must not be
Element Present” present.

IK403 = 6:"Invalid Character in 2350ANM105 must contain

2330A.NM105.020 999 - - p at least one non-space
Data Element
character.

2330ANM105 must be 1-25

2330A.NM105.030 999 - - IK403 = 5: "Data Element Too Long" characters
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o ) ) 2330ANM105 must be
2330ANM105.050 999 - - K403 = 6: “Invalid Character in populated with accepted
Data Element
AN characters.
2330ANM106.010 999 NU |- K403 = 10: “Implementation "NOt |\, ot pe present.
Used" Element Present
IK403 = 113: "Implementation If 2330ANM102 is "2",
2330ANM107.010 999 S - Dependent "Not Used" Data 2330ANM107 must not be
Element Present” present.
L . . 2330A.NM107 must contain
2330ANM107.020 999 - - K403 = 6: "Invalid Character in at least one non-space
Data Element
character.
5330ANM107.030 999 ) ) |K403“= 5:"Data Element Too 2330ANM107 must be 1-10
Long characters.
o . . 2330ANM107 must be
2330ANM107.050 999 - - K403 = 6: "Invalid Character in populated with accepted
Data Element
AN characters.
5330ANM108.010 999 R ) IK403 = 1 "Required Data Element | 2330ANM108 must be
Missing present.
2330ANM108.020 999 - - IK403 = 7:"Invalid Code Value” 3?8:5"\”\4108 must be valid
2330ANM109.010 090 R ) IK403 = 1 Required Data Element | 2330ANM109 must be
Missing present.
o . . 2330A.NM109 must contain
2330ANM109.020 999 - - K403 = 6: "Invalid Character in at least two non-space

Data Element”

characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
IK403 = 4: "Data Element Too
Short" 2330ANM109 must be 2-80
2350ANM109.030 299 ) ) IK403 = 5: "Data Element Too characters.
Long"
o . ) 2330ANM109 must be
2330ANM109.050 999 - - K403 = 6:Invallid Characterin | ored with accepted AN
Data Element
characters.
IK403 = 110: "Implementation
2330ANM110.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330ANM111.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330A.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.
2330AN3.020 900 S ) IK304 =5:"Seg [nent Exceeds iny one iteration of 2330A.N3
Maximum Use is allowed.
2330AN301.010 999 R ; K403 = 1: 'Required Data 2330AN301 must be present.
Element Missing
2330AN301015 990 i ) IK403 = 6: Invclhd Characterin | 2330AN301 must contain at
Data Element least one non-space character.
2330AN301.020 990 ) ) |K403“= 5:"Data Element Too 2330AN301 must be 1-55
Long characters.
5330 AN301.040 900 i ) IK403 = 6:"Invalid Character in | 2330A.N301 must be populated

Data Element”

with accepted AN characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330AN302.020 990 S ) IK403 = 6: |I’1V(Z:l|d Character in [ 2330A.N302 must contain at

Data Element least one non-space character.
2330AN302.030 990 i i |K403”= 5:"Data Element Too | 2330AN302 must be 1-55

Long characters.

IK403 = 6:"Invalid Character in | 2330A.N302 must be populated
2350AN302.050 299 ) ) Data Element” with accepted AN characters.
X224A1020 2330 AN4.010 900 S i IK304 =5: Seg[nent Exceeds Only one iteration of 2330AN4 is

Maximum Use allowed.
2330AN401.010 999 R . K403 = 1: ‘Required Data 2330AN401 must be present.

Element Missing
2330 AN401.020 990 i i IK403 = 6: |I’1V(’,1[Id Character in | 2230AN401 must contain at

Data Element least two non-space characters.

IK403 = 4:"Data Element Too

Short" 2330A.N401 must be 2-30
2330AN401.030 799 i i IK403 = 5:"Data Element Too | characters.

Long"

IK403 = 6:"Invalid Character in [ 2330A.N401 must be populated
2350AN401.050 299 ) ) Data Element” with accepted AN characters.

IK403 = 2: "Conditional )

! If 2330A.N404 is not present,
2330A.N402.010 999 S - quwreﬂd Data Element 2330AN402 must be present.

Missing

IK403 = 2: "Conditional )
2330AN403.010 999 s - Required Data Element If 2330AN404 is not present,

Missing"

2330A.N403 must be present.
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Maximum Times"

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330AN403.020 999 s . K403 = 6: “Invalid Characterin | ¢ 5230\ N403 is not numeric.

Data Element

IK403 = 10: "Implementation
2330A.N405.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 10: "Implementation
2330A.N406.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of
2350AREF.020 299 S ) Maximum Use" 2330AREF is allowed.
2330A.REF01.010 999 R - IK403 = 1: 'Required Data 2330AREFO1 must be present.

Element Missing
2330A.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2310A.REFO1 must be "SY".
2330AREF02.010 999 R - IK403 = 1: 'Required Data 2330AREF02 must be present.

Element Missing

IK403 = 10: "Implementation
2330A.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 10: "Implementation
2330A.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

g . Per Payer, If 2320.SBR is
2330BNM1.010 999 R 1 K304 = 16: “Implementation = | 1o oot 53208 NM1 must be

Dependent Segment Missing

present.
2330B.NM1.020 999 ) ) IK304 = 4:"Loop Occurs Over Per Payer, Only one iteration

of 2330B.NM1 is allowed.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330BNM101.010 090 R ) IK304 = 2:" Unexpected 2330B.N MjO1 must be present
segment and a valid value.
2330BNM102.010 999 R - K403 = 1: ‘Required Data 2330BNM102 must be present.
Element Missing
2330B.NM102.020 999 - - IK403 = 7:"Invalid Code Value" | 2330BNM102 must be "2".
23308B. 999 R - K403 = 1: ‘Required Data 2330BNM103 must be present.
Element Missing
5330BNM103.020 999 ) ) IK403 = 6: "Invcllid Characterin [ 2330B.NM103 must contain at
Data Element least one non-space character.
2330BNM103.030 999 i ) IK403": 5:"Data Element Too 2300B.NM103 must be 1 - 60
Long characters.
o ) . 2330B.NM103 must be
2330BNM103.050 999 - - K403 = &: "Invalid Characterin | o ) ted with accepted AN
Data Element
characters.
IK403 = 110: "Implementation
2330B.NM104.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330B.NM105.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330B.NM106.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330B.NM107.010 999 N/U - "Not Used" Element Present” Must not be present.
2330BNM108.010 999 R - K403 = 1: 'Required Data 2330BNM108 must be present.

Element Missing"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330BNM108.020 999 - - K403 = 7:"Invalid Code Value" | 2250BNM108 must be valid
2330BNM109.010 999 R - K403 = 1: ‘Required Data 2330BNM109 must be present.
Element Missing
IK403 = 112: "Implementation 2330B.NM109 must =
23350BNM109.030 999 i i Pattern Match Failure” 2430.SVDO1.
IK403 = 110: "Implementation
2330B.NM110.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330B.NM111.010 999 N/U - "Not Used" Element Present” Must not be present.
IK403 = 110: "Implementation
2330B.NM112.010 999 N/U - "Not Used" Element Present” Must not be present.
2330B.N3.020 999 S ) |K304 =5:"Seg rnent Exceeds iny one iteration of 2330B.N3
Maximum Use is allowed.
2330BN301.010 999 R - IK403 = 1: 'Required Data 2330BN301 must be present.
Element Missing
2330B.N301.020 090 ) ) IK403 = 6: Invc?lhd Characterin | 2330B.N301 must contain at
Data Element least one non-space character.
2330BN301.030 099 ) ) |K403“= 5:"Data Element Too 2330B.N301 must be 1-55
Long characters.
) ) IK403 = 6:"Invalid Characterin | 2330B.N301 must be populated
2350BN301.050 299 Data Element” with accepted AN characters.
5330B.N302.020 999 S ) IK403 = 6:"Invalid Characterin | 2330B.N302 must contain at

Data Element”

least one non-space character.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330B.N302.030 990 ) ) IK403": 5:"Data Element Too [ 2330B.N302 must be 1-55

Long characters.

IK403 = 6:"Invalid Character in [ 2330B.N302 must be populated
2330BN302.050 299 ) ) Data Element" with accepted AN characters.
X224A10212330B.N4.010 990 S ) IKSOér =5:"Seg Enent Exceeds Only one iteration of 2330B.N4 is

Maximum Use allowed.
2330BN401.010 999 R - K403 = 1: 'Required Data 2330BN401 must be present.

Element Missing
2330B.N401.020 900 ) ) IK403 = 6: |I’1V(Z:l|d Character in [ 2330B.N401 must contain at

Data Element least two non-space characters.

IK403 = 4:"Data Element Too

Short" 2330B.N401 must be 2-30
2350BN401.030 299 ) ) IK403 = 5:"Data Element Too | characters.

Long"

IK403 = 6:"Invalid Character in [ 2330B.N401 must be populated
2350B.N401.050 299 ) ) Data Element” with accepted AN characters.

IK403 = 2: "Conditional .

) If 2330B.N404 is not present,
2330B.N402.010 999 S - Eﬁqgn’eﬂd Data Element 2330BN402 must be present,
issing

IK403 = 2: "Conditional !

) If 2330B.N404 is not present,
2330B.N403.010 999 S - quglrgg Data Element 2330BN403 must be present.

Missing
2330BN403.020 999 s . 1405 = &: “Invalid Characterin | ¢ 3305 N403 is not numeric.

Data Element”
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental edits
IK403 = 110:
2330B.N405.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
IK403 = 110:
2330B.N406.010 999 N/U - "Implementation "Not Must not be present.
Used" Element Present”
) IK304 = 5:"Segment Per Payer, Only one iteration of
2350BDTP.020 299 S Exceeds Maximum Use" 2330B.DTP is allowed.
o Per Payer, If 2330B.NM1 is present and
2330B.DTP.030 999 : : L0z, Unexpected | 5420 BTP with DTPOT = '573" is not
9 present, 2330B.DTP may be present.
2330BDTP01.010 999 R - K403 = 1: Required DAta | 53305 bpot must be present.
Element Missing
2330B.DTP01.020 999 - - '\/K;S)i,.: 7-Invalid Code | 52208 57po1T must be "573"
2330B.DTP02.010 999 R . K403 = 1: Required DAta | 53305 KTPO2 must be present.
Element Missing
2330B.DTP02.020 999 - - '\/Kjﬁi = 7-Invalid Code | 52208 bTPO2 must be "DE'.
o . " 2330B.DTP03 must a valid date in
2330B.DTP03.010 999 R - IK403 = 8:"Invalid Date CCYYMMDD format.
o Only two iterations of 2330B.REF with
2330BREF.020 999 s : K304 = 5. 'Segment | 52308 REFOT = "2U", "EN", "FY" or "NF” are
Exceeds Maximum Use
allowed.
2330BREF01.010 999 R - IK403 = 1: 'Required DAta | 53305 001 must be present.
Element Missing
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330BREF01.020 999 - . st Invalid Code 2330BREFO1 must be valid values.
2330B.REF02.010 999 R - K403 = 1: 'Required Data | 53305 REF02 must be present.

Element Missing

T If 2330B.REFO1 = "2U", "FY" or "NF",
2330B.REF02.030 999 - - k403 = 5: 'Data Element 2330B.REFO2 must be must be 1 - 50
Too Long
characters.
o . If 2330B.REFO1 = "2U", "FY" or "NF",
2330B.REF02.040 999 - - IK403 = 6: "Invalid Character | 52245 per0) must be populated
in Data Element .
with accepted AN characters.
o . If 2330B.REFO1 = "2U", "FY" or "NF",
2330B.REF02.050 999 - - K403 = &: "Invalid Character | 52345 pEF02 must contain at least
in Data Element
one non-spdace character.

1K403 = 110:
2330B.REF03.010 999 N/U - "Implementation "Not Used" | Must not be present.

Element Present”

IK403 = 10:
2330B.REF04.010 999 N/U - "Implementation "Not Used" | Must not be present.

Element Present”

IK304 = 5:"Segment Only one iteration of 2330B.REF
2330BREF.020 299 S ) Exceeds Maximum Use" with REFO1 ="G1" is allowed.
2330BREF01.010 999 R - IK403 = 1: 'Required Data | 53345 pero1 must be present.

Element Missing
2330B.REF01.020 999 - - k403 =7:"Invalid Code 2330B.REFO1 must be "G1".

Value"
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
2330BREF02.010 999 R ; K403 = 1: 'Required Data 2330BREF02 must be present.

Element Missing
2330B.REF02.020 990 i ) |K403“= 5:"Data Element Too [ 2330B.REFO2 must be 1 - 50

Long characters.

IK403 = 6: "Invalid Character in | 2330B.REFO2 must be populated
2350BREF02.030 299 ) ) Data Element" with accepted AN characters.
2330B.REF02.050 900 i ) IK403=:6:Inqud Character in | 2330B.REF02 must contain at

Data Element least one non-space character.

IK403 = 110: "Implementation
2330B.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.

IK403 = 110: "Implementation
2330B.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2330B.REF
2350BREF.020 299 S ) Maximum Use" with REFO1 ="9F" is allowed.
2330BREF01.010 999 R - IK403 = 1: 'Required Data 2330BREFO1 must be present.

Element Missing
2330B.REF01.020 999 - - IK403 = 7: "Invalid Code Value" | 2330B.REFO1 must be "9F".
2330BREF02.010 999 R - IK403 = 1: 'Required Data 2330BREF02 must be present.

Element Missing
2330BREF02.020 900 ) ) IK403 = 5:"Data Element Too | 2330B.REF02 must be 1-50

Long"

characters.
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Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits
o ) ) 2330B.REFO2 must be
2330B.REF02.030 999 - - K403 = 6:"Invalid Characterin |\ o ted with accepted AN

Data Element

characters.
2330B.REF02.050 999 ) ) IK403 = 6: Invc?lhd Characterin | 2330B.REFO2 must contain at

Data Element least one non-space character.

IK403 = 110: "Implementation
2330B.REF03.010 999 N/U - "Not Used” Element Present” Must not be present.

IK403 = 10: "Implementation
2330B.REF04.010 999 N/U - "Not Used" Element Present” Must not be present.

IK304 = 5:"Segment Exceeds Only one iteration of 2330B.REF
2350BREF.020 299 S ) Maximum Use" with REFO1 ="T4" is allowed.
2330BREF01.010 999 R - IK403 = 1: 'Required Data 2330BREFO1 must be present.

Element Missing
2330B.REF01.020 999 - - IK403 = 7:"Invalid Code Value" 2330B.REFO1 must be "T4".
2330BREF02.010 999 R - IK403 = 1: 'Required Data 2330BREF02 must be present.

Element Missing
2330B.REF02.020 999 - - IK403 = 7:"Invalid Code Value" 2330B.REF02 must be "Y".

IK403 = 110: "Implementation
2330B.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.
2330BREF04.010 999 NU |- IK403 = 0:"Implementation |\, & 1o be present.

"Not Used" Element Present”
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"Not Used" Element Present”

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental edits

IK304 = 5:"Segment Exceeds Only one iteration of 2330B.REF
2350BREF.020 799 S ) Maximum Use" with REFO1 = "F8" is allowed.
2330B.REF01.010 999 R - K403 = 1: ‘Required Data 2330BREFO1 must be present.

Element Missing
2330B.REF01.020 999 - - IK403 = 7:"Invalid Code Value" | 2330B.REFO1 must be "F8".
2330B.REF02.010 999 R - K403 = 1: ‘Required Data 2330B.REFO2 must be present.

Element Missing
2330B.REF02.020 990 ) ) |K403“= 5:"Data Element Too | 2330B.REF02 must be 1-50

Long characters.

IK403 = 6: "Invalid Character in | 2330B.REF02 must be populated
2350BREF02.030 299 ) ) Data Element” with accepted AN characters.
2330BREF02.050 990 ) ) IK403 = 6: Invc?llid Character in | 2330B.REFO2 must contain at

Data Element least one non-space character.

IK403 = 110: "Implementation
2330B.REF03.010 999 N/U - "Not Used" Element Present” Must not be present.
2330BREF04.010 999 NU |- IK403 = 110: Implementation |\, & ot e present.
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Disposition / Error

Segment Missing"

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
Service Line . B . . B
_ g Only fifty iterations
2400 Line Loop.010 999 - 50 K304 = 4:"Loop Occurs | ¢4h0 5400 loop
Over Maximum Times
are allowed.
2400.LX.010 990 R ) IK304 = 3: "R‘quuir?d 2400.LX must be
Segment Missing present.
IK304 = 5:"Segment Only one iteration
2400.LX.020 999 - - Exceeds Maximum of 2400.L.X is
Use" allowed.
5400.LX01.010 990 R ) IK403 = 1:"Required . 2400.LX01 must be
Data Element Missing" | present.
K403 = 6:"Invalid
2400..X01.020 999 - . Character in Data 2400.LX01 must be
" numeric.
Element
IK403 = 112: 2400.LX01 must be
2400.L.X01.030 999 - - "Implementation must be > 0 and <=
Pattern Match Failure" | 50.
IK403 = 112 )
2400.LX01.040 999 - - "Implementation The E'Et gﬁoo.l_xm
Pattern Match Failure” | MY3tP€ T
Subsequent
IK403 = 112:
2400.LX01.050 999 - - "Implementation 2400t"7X01 VOlUfE
Pattern Match Failure” qnus increment by
2400.SV3.010 990 R- i IK304 = 3:"Required 2400.SV3 must be

present.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK304 = 5:"Segment . .
- Only one iteration of
2400.5V3.020 999 - - Ezz?eds Maximum 5400SV3 is allowed.
IK403 = 1: "Required
2400.5V301-1.010 999 R . Data Element 2400.5V301-1 must be
Missing" present.
issing
K403 = 7:"Invalid 2400.5V301-1 must be
2400.5V301-1.020 999 - - Code Value" "AD"
IK403 = 1: "Required
2400.5V301-2.010 999 R . Data Element 2400.5V301-2 must be
Missing" present.
issing
,'.g?fcji:ti; al If 2400.5V301-4 is
2400.5V301-4.010 999 S - : present, 2400.5V301-3
Required Data
. must be present.
Element Missing
,'.Ei%i:t% nal If 2400.5V301-5 is
2400.5V301-5.010 999 S - : present, 2400.5V301-4
Required Data
S must be present.
Element Missing
s If 2400.5V301-6 is
2400.SV301-6.010 999 S - : present, 2400.SV301-5
Required Data
S must be present.
Element Missing
IK403 = 6:"Invalid 2400.5V301-7 must
2400.5V301-7.010 999 S - Character in Data contain at least one
Element” non-space character.
IK403 = 5:"Data 2400.5V301-7 must be
24005V301-7.020 299 i i Element Too Long" | 1-80 characters.
K403 = 6:Invalid | 24095V307 must
2400.5V301-7.030 999 - - Character in Data Pop

Element”

accepted AN
characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
IK403 = 110:
2400.SV301-8.010 990 N/U ) Impl“ementomon Not [ Must not be
Used" Element present.
Present”
2400.5V302.010 000 R ) IK403 =1: Reqwred . 2400.5V302 must
Data Element Missing" | be present.
IK403 = 6:"Invalid
2400.5V302.020 999 - - Character in Data 2400.5V302 must
" be numeric.
Element
IK403 = 5:"Data 2400.5V302 must
2400.5V302.025 999 ) ) Element Too Long" be <= 99,999.99.
2400.SV304-1010 990 S ) IK403 = 1: Requireq . 2400.5V304-1 must
Data Element Missing" | be present.
K403 = 6: "Invalid 24005V0a must
2400.5V304-1.020 999 - - Character in Data
. one non-space
Element
character.
IK403 = 5:"Data 2400.SV304-1 must
24005V304-1.030 299 ) i Element Too Long" be 1-3characters.
K403 = 6: "Invalid 24005VS04T must
2400.5V304-1.040 999 - - Character in Data Pop
" accepted AN
Element
characters.
K403 = 6:"Invalid 24005V3042 must
2400.5V304-2.010 999 - - Character in Data contain at ledas
" one non-space
Element
character.
IK403 = 5:"Data 2400.S5V304-2 must
2400.5V304-2.020 299 ) ) Element Too Long" be 1-3 characters.
K403 = 6:"Invalid 2A005vI0a2 oot
2400.5V304-2.030 999 - - Character in Data Pop

Element”

accepted AN
characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
K403 = 6:"Invalid 2400.5V304-3 must
2400.5V304-3.010 999 - - Character in Data | contain at least one
Element" non-space character.
2400.5V304.3.020 999 ) ) K403 = 5:'Data | 2400.5V304-3 must be 1
Element Too Long" | - 3 characters.
K403 = 6 "Invalid 2400.5V304-3 must be
2400.5V304-3.030 999 - - Character in Data | PoPUlated with
Element” accepted AN
characters.
IK403 = 6:"Invalid [ 2400.5V304-4 must
2400.5V304-4.010 999 - - Character in Data | contain at least one
Element” non-space character.
2400.5V304-4.020 960 ) ) K403 = 5:'Data | 2400.5V304-4 must be 1
Element Too Long" | - 3 characters.
K403 = 6: "Invalid 2400.5V304-4 must be
2400.5V304-4.030 999 . . Character in Data | POPUlated with
" accepted AN
Element
characters.
IK403 = 6:"Invalid [ 2400.5V304-5 must
2400.5V304-5.010 999 - - Character in Data | contain at least one
Element” non-space character.
2400.SV304-5.020 990 i i IK403 = 5:"Data ) 2400.5V304-5 must be 1
Element Too Long" | - 3 characters.
K403 = 6: "Invalid 2400.5V304-5 must be
2400.5V304-5.030 999 : : Character in Data | POPUlated with
Element accepted AN
characters.
K403 = 6:"Invalid 2400.SV305 must
2400.SV305.010 999 - - Character in Data | contain at least one
Element" non-space character.
2400.SV305.020 990 ) ) IK403 = 5:"Data 2400.5V305 must be 1 -

Element Too Long"

1 characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
K403 = 6: "Invalid 2‘130%15&3’3%5\/';%“ be
2400.5V305.030 999 - - Character in Data Pop
" accepted AN
Element
characters.
IK403 = 6:"Invalid
2400.5V306.010 999 - - Character in Data 2400.5V306 must be
Element” numeric.
maximum of 4
e whole numbers and
2400.5V306.020 999 - - k405 = 5 Data | 4 Jecimal position
Element Too Long
(cannot exceed
9999.9).
IK403 = 110:
2400.5V307.010 999 NU |- Implementation "Not | et not be present.
Used" Element
Present”
IK403 = 110:
2400.5V308.010 999 NU |- Implementation Nt | ;i hot be present.
Used" Element
Present”
IK403 = 110:
2400.5V309.010 999 N |- Implementation "Not | ;¢ not be present.
Used" Element
Present"
IK403 = 110:
2400.5V3010.010 999 NU |- Implementation 'Ot | ¢t not be present.
Used" Element
Present"
IK403 = 1: "Required
2400.5V3011-1010 999 R . Data Element 2400.5V30T1-1 must
Missing” be present.
issing
IK403 = 2: "Conditional SZS?;;?P only
2400.5V3011-3.010 999 S - Required Data P

Element Missing"

2400.5V3011-2 is
present.

National Government Services, Inc.

Page 118 of 159



837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental edits
'l'éi?i:li:t%ncl SV3011-4 can only be
2400.5V3011-4.010 999 S - Required Data present if 2400.5V3011-
d . 3 is present.
Element Missing
IK304 = 5: Only thirty two
2400.TO0.010 999 S - "Segment Exceeds | iterations of 2400.TOO
Maximum Use" are allowed.
K304 = 5: Only one iterations of
" y 2400.TOO are allowed
2400.TOO.010 999 S - [\jggirrgir:; Iaxsce?eds when 2400 .SV306 does
not equal 1.
IK403 = 1:
2400T0001.010 999 R - "Required Data 2‘:22(;?001 must be
Element Missing" P :
2400 TO001.020 900 R ) K403 =7: Inyahd ?4QO.TOOO1 must be
Code Value JP".
IK403 = 1:
2400T0002.010 999 R - "Required Data 2‘:22(;(5002 must be
Element Missing" P :
s If 2400TO001 is
2400.TO002.020 999 R - Required Data present, 2400.TOO02
Element Missing” must be present.
K403 = 6: "Invalid 2400.TOO02 must be
2400T0002.030 999 R - Character in Data pOpUlc’tZdA",ll“th
Element” accepte
characters.
IK403 = 6:"Invalid | 2400.TOO02 must
2400.T10002.040 999 R - Character in Data | contain at least one
Element” non-space character.
240070002050 990 R i IK403 = 5:"Data ) 2400.TOO02 must be 1 -
Element Too Long" | 30 characters.
2400 TO003-01.020 990 R ) IK403 = 7:"Invalid [ 2400.TOO03-1 must be

Code Value"

valid values.
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837D Disposition / .
Loop/Segment/Element Response | Usage | Repeat Error Code Dental edits
2400 TO003-02.010 090 S ) K403 =7: Inyclid 24QO.TOOOS—2 must be
Code Value valid values.
2400 TO003-03.010 099 S i K403 =7: Inyonhd 24QO.TOOOS-3 must be
Code Value valid values.
2400 TO003-04.010 990 S ) K403 =7: "Inyonlid 24QO.TOOOB-4 must be
Code Value valid values.
5400 TO003-05.010 999 S i K403 =7: Inychd 24QO.TOOOS—5 must be
Code Value valid values.
IK304 = 3:
"Required 2400.DTP with DTPO1 =
2400DTP.010 299 R i Segment "472" must be present.
Missing"
,l.éseodr':eit Only one iteration of
2400.DTP.020 999 - - g 2400.DTP with DTPO1 =
Exceeds P,
Manxi " 472" is allowed.
aximum Use
K403 = 1:
2400.DTP01.010 999 R - "Required Data | 2200DTPO1 must be
-~~~ .| present.
Element Missing
IK403 = 7:"Invalid [2400.DTP0O1 must be
2400.DTP01.020 999 - - Code Value" a7
IK403 = 1:
2400.DTP02.010 999 R - "Required Data | 2400.DTPO2 must be
-~~~ .| present.
Element Missing
2400 DTP02.020 099 ) i K403 =7: Inyonhd 24QO.DTPO2 must be
Code Value valid values.
K403 = 1:
2400.DTP03.010 999 R - "Required Data | 2400.DTPO3 must be

Element Missing"

present.
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If 2400.DTP02 is D8, then
IK403 = 8: 2400.DTP0O3 must be a
2400.DTP03.020 299 ) ) "Invalid Date" valid date in the format of
CCYYMMDD.
If 2400.DTPO2 is RDS§, then
K403 = 8: 2400.DTP0O3 must be a
2400DTP03.030 299 ) ) "Invalid Date" valid date in the format of
CCYYMMDD-CCYYMMDD.
,|.§304 - 5:t Only one iteration of
2400.DTP.010 999 S - egmen 2400.DTP with DTPO1 =
Exceeds " e
) " 139 or 441" is allowed.
Maximum Use
IK403 = 1:
2400 DTPO1.010 990 R i Required Data | 2400.DTPO1 must be
Element present.
Missing"
IK403 =7: "
2400.DTP01.020 999 - - “Invalid Code | 2400DTPOT must be 1139
; or 441",
Value
IK403 =1:
2400 DTP02.010 990 R i Required Data | 2400.DTP0O2 must be
Element present.
Missing"
IK403 =7:
2400.DTP02.020 999 - - "Invalid Code 2400.DTP02 must be "D8".
Value"
K403 = &: 2400.DTP0O3 must be a
2400.DTP03.010 999 R - " e " valid date in the format of
Invalid Date

CCYYMMDD.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK304 = 5: Only one iteration of
2400.DTP.010 999 S - "Segment Exceeds [ 2400.DTP with DTPO1 =
Maximum Use" '452" is allowed.
IK403 =1:
2400.DTPO1.010 999 R - "Required Data 2?226'[;?01 must be
Element Missing" P :
K403 = 7:"Invalid 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value" 450"
IK403 =1:
2400.DTP02.010 999 R - "Required Data 2?2&2?02 must be
Element Missing" P :
K403 = 7:"Invalid 2400.DTP0O2 must be
2400.DTP02.020 999 - - Code Value" D"
o . 2400.DTP0O3 must be a
2400.DTP03.010 999 R : a0sm s Invalid 1 qlid date in the
format of CCYYMMDD.
IK304 = 5: Only one iteration of
2400.DTP.O10 999 S - "Segment Exceeds | 2400.DTP with DTPO1 =
Maximum Use" 446" is allowed.
IK403 = 1:
2400.DTP01.010 999 R - "Required Data 24FSS£IPO1 must be
Element Missing" P ’
K403 = 7:"Invalid 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value" 450"
IK403 = 1:
2400.DTP02.010 999 R - "Required Data 24FSS£IPO2 must be
Element Missing" P ’
K403 = 7:"Invalid 2400.DTP0O2 must be
2400.DTP02.020 999 - - Code Value" D8
o ) 2400.DTP0O3 must be a
2400.DTP03.010 999 R - K403 =8:"Invalid |\ lid date in the

Date"

format of CCYYMMDD.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK304 = 5: Only one iteration of
2400.DTP.010 999 S - "Segment Exceeds [ 2400.DTP with DTPO1 =
Maximum Use" "196" is allowed.
IK403 = 1:
2400.DTPO1.010 999 R - "Required Data 2?226'21%1 must be
Element Missing" P :
IK403 = 7: "Invalid 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value" 106"
IK403 = 1:
2400.DTP02.010 999 R - "Required Data 2?2&2?02 must be
Element Missing" P :
IK403 = 7: "Invalid 2400.DTP0O2 must be
2400.DTP02.020 999 - - Code Value" "D8"
o . 2400.DTP0O3 must be a
2400.DTP03.010 999 R . a0sm s Invalid 1\ qlid date in the
format of CCYYMMDD.
IK304 = 5: Only one iteration of
2400.DTP.010 999 S - "Segment Exceeds | 2400.DTP with DTPO1 =
Maximum Use" 198" is allowed.
IK403 = 1:
2400.DTP01.010 999 R - "Required Data 24FSS£IPO1 must be
Element Missing" P ’
IK403 = 7:"Invalid 2400.DTPO1 must be
2400.DTP01.020 999 - - Code Value" "og"
IK403 = 1:
2400.DTP02.010 999 R - "Required Data 24FSS£IPO2 must be
Element Missing" P ’
2400 DTP02.020 900 ) ) IK403 = 7:"Invalid 2400.DTP0O2 must be

Code Value"

"D8".
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
2400.DTP0O3 must be
2400.DTP03.010 990 R ) |K403”= 8:"Invalid a valid date in the
Date format of
CCYYMMDD.
IK304 = 19:
"Implementation
2400.CN1.010 999 S - Dependent "Not Must not be present.
Used" Segment
Present”
IK304 = 5:"Segment Only 5 iterations of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1
Use" ="G3"is allowed.
IK403 = 1: "Required
2400.REF01.010 999 R . Data Element 2400REFOT must be
Missing” present.
issing
IK403 = 7: "Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value" "G3
IK403 = 1: "Required
2400.REF02.010 999 R . Data Element 2400.REFO2 must be
Missing” present.
issing
IK403 = 6:"Invalid 2400.REFO2 must
2400.REF02.020 999 - - Character in Data contain at least one
Element” non-space character.
IK403 = 5:"Data 2400.REF02 must be
2400.REF02.030 299 ) ) Element Too Long" 1-50 characters.
K403 = 6: "Invalid 2400REFO2 must be
2400.REF02.050 999 - - Character in Data pop
Element accepted
AN characters.
IK403 = 110:
2400 REF03.010 999 NU |- Implementation Must not be present.

"Not Used" Element
Present”
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
2400 REF04-1.010 090 R ) IK403 = 7:"Invalid Code 24QQ.RFFO4—1 must
Value be "2U"
IK403 = 2: "Conditional gfet%%'fEFO4'1 'S
2400.REF04-2.010 999 R - Required Dgtg . 5400 REFO4-2 must
Element Missing b
e present.
IK403 = 112:
2400 REF04-2.020 999 - - "Implementation E‘;%gggilo[j%;““t
Pattern Match Failure” ’
IK403 = 110:
2400 REFO4-3.010 999 N/U i Implfementoﬂon Not [ Must not be
Used" Element present.
Present"
IK403 = 110:
2400 REF04-4.010 090 N/U ) Implfementoﬂon Not [ Must not be
Used" Element present.
Present"
IK403 = 110:
2400 REFO4-5.010 099 N/U i Impl“ementomon Not [ Must not be
Used" Element present.
Present”
IK403 = 110:
5400 REF04-6.010 999 N/U ) Impl“ementomon Not | Must not be
Used" Element present.
Present”
K304 =5:"Segment | Sy One lteration
2400.REF.010 999 S - Exceeds Maximum s
" REFO1="G1"is
Use
allowed.
2400 REFO1.010 999 R ) IK403 = 1:"Required . 2400.REFO1 must be
Data Element Missing" | present.
5400 REFO1.020 999 ) i IK403 = 7:"Invalid Code [ 2400.REFO1 must be

Value"

"G1".
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 1: "Required
2400 REF02.010 999 R - Data Element 2400REFO2 must be
S present.
Missing
IK403 = 6: "Invalid 2400.REFO2 must
2400.REF02.020 999 - - Character in Data contain at least one
Element" non-space character.
IK403 = 5:"Data 2400.REF02 must be 1-
2400REF02.030 299 i ) Element Too Long" | 50 characters.
K403 = 6:"Invalig | 2400 REFO2 must be
2400 REF02.050 999 - - Characterin Data | POPTCE
Element" accepte
AN characters.
IK403 = 110:
"Implementation
2400.REF03.010 999 N/U - "Not Used” Element Must not be present.
Present"
2400 REFO4-1.010 099 R ) IK403 =7: Inyolld ”24OHO.REFO4-1 must be
Code Value 2U".
.',Ei%i:tizc; al If 2400 REF04-1 is
2400.REF04-2.010 999 R - ; present, 2400.REF04-2
Required Data
S must be present.
Element Missing
IK403 = 112:
"Implementation 2400.REF04-2 must =
2400.REF04-2.020 299 ) ) Pattern Match 2330B.NM109
Failure"
IK403 = 110:
"Implementation
2400.REF04-3.010 999 N/U - "Not Used” Element Must not be present.
Present"
IK403 = 110:
2400 REF04-4.010 999 N |- Implementation ¢t not be present.

"Not Used" Element
Present"
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 110:
"Implementation
2400.REF04-5.010 999 N/U - "Not Used” Element Must not be present.
Present”
IK403 = 110:
"Implementation
2400.REF04-6.010 999 N/U - "Not Used" Element Must not be present.
Present"
IK304 = 5:"Segment | Only 5 iterations of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1 =
Use" "6R" are allowed.
IK403 = 1:"Required
2400.REF01.010 999 R - Data Element 2400 REFO1 must be
N present.
Missing
2400 REF01.020 090 ) ) IK403 =7: Inyolld ?4QIO.REFO1 must be
Code Value G1".
IK403 = 1:"Required
2400.REF02.010 999 R - Data Element 2400 REFO2 must be
N present.
Missing
IK403 = 6:"Invalid 2400.REF02 must
2400.REF02.020 999 - - Character in Data contain at least one
Element” non-space character.
IK403 = 5:"Data 2400.REF02 must be 1-
2400.REF02.030 299 ) ) Element Too Long" | 50 characters.
K403 = 6:Invalig | 2400REFO2 must be
2400.REF02.050 999 - - Characterin Data | P9P
Element” accepted
AN characters.
IK403 = 110:
2400 REF03.010 999 N |- Implementation ¢t not be present.

"Not Used" Element
Present"
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IK403 = 110:
"Implementation
2400.REF04.010 999 N/U - "Not Used” Element Must not be present.
Present"
IK304 = 5:"Segment | Only one iteration of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1 =
Use" "9A"is allowed.
IK403 = 1. "Required
2400 REF01.010 999 R - Data Element 2400REFOT must be
S present.
Missing
IK403 = 7: "Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value" OA"
IK403 = 1. "Required
2400 REF02.010 999 R - Data Element 2400 REFO2 must be
S present.
Missing
IK403 = 6: "Invalid 2400.REFO2 must
2400.REF02.020 999 - - Character in Data contain at least one
Element" non-space character.
IK403 = 5:"Data 2400.REF02 must be 1-
2400REF02.030 299 i ) Element Too Long" | 50 characters.
K403 = 6:"Invalig | 2400 REFO2 must be
2400 REF02.050 999 - - Characterin Data | POPTCE
Element" accepte
AN characters.
IK403 = 110:
"Implementation
2400.REF03.010 999 N/U - "Not Used” Element Must not be present.
Present"
IK403 = 110:
2400 REF04.010 999 N |- Implementation ¢t not be present.

"Not Used" Element
Present"
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IK304 = 5:"Segment | Only one iteration of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1 =
Use" "9C" is allowed.
IK403 = 1. "Required
2400.REF01.010 999 R - Data Element 2400 REFOT must be
Missing” present.
issing
IK403 = 7: "Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value" el
IK403 = 1. "Required
2400REF02.010 999 R - Data Element 2400 REFO2 must be
Missing” present.
issing
IK403 = 6:"Invalid 2400.REFO2 must
2400.REF02.020 999 - - Character in Data contain at least one
Element” non-space character.
IK403 = 5:"Data 2400.REF02 must be 1-
2400.REF02.030 299 ) ) Element Too Long" | 50 characters.
K403 = 6: "Invalid 2i)OOQlRoEtZOci2er;tLkast be
2400.REF02.050 999 - - Characterin Data | P9P
Element” accepted
AN characters.
IK403 = 110:
"Implementation
2400.REF03.010 999 N/U - "Not Used" Element Must not be present.
Present”
IK403 = 110:
"Implementation
2400.REF04.010 999 N/U - "Not Used” Element Must not be present.
Present”
IK304 = 5:"Segment | Only 5 iterations of
2400.REF.010 999 S - Exceeds Maximum 2400.REF with REFO1 =
Use" "9OF" is allowed.
IK403 = 1. "Required
2400.REF01.010 999 R - Data Element 2400.REFO1 must be

Missing"

present.
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IK403 = 7: "Invalid 2400.REFO1 must be
2400.REF01.020 999 - - Code Value” "G3

IK403 = 1:"Required
2400.REF02.010 999 R - Data Element 2400.REFO2 must be

e present.

Missing

IK403 = 6: "Invalid 2400.REFO2 must
2400.REF02.020 999 - - Character in Data contain at least one

Element” non-space character.

IK403 = 5: "Data 2400.REF02 must be 1-
2400.REF02.030 299 ) ) Element Too Long" | 50 characters.

K403 = 6:"lnvalid | 2400 XEFOZ must be
2400.REF02.050 999 - - Characterin Data | P9P

Element” accepted

AN characters.

IK403 = 110:

"Implementation
2400.REF03.010 999 N/U - "Not Used" Element Must not be present.

Present"
2400 REF04-1010 999 R ) IK403 =7: Inyolid ”240“O.REFO4-1 must be

Code Value 2U".

.',Ei?i;t% al If 2400.REFO4-1 is
2400.REF04-2.010 999 R - - present, 2400.REF04-2

Required Data

S must be present.

Element Missing

IK403 = 112:

"Implementation 2400.REF04-2 must =
2400.REF04-2.020 299 i ) Pattern Match 2330B.NM109

Failure"

IK403 = 110:
2400 REF04-3.010 999 N |- Implementation ¢t not be present.

"Not Used" Element
Present"
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K403 = 10: Must not be
2400.REF04-4.010 999 N/U - "Implementation "Not resent
Used" Element Present" | P ’
K403 = 10: Must not be
2400.REF04-5.010 999 N/U - "Implementation "Not resent
Used" Element Present" | P :
K403 = 110: Must not be
2400.REF04-6.010 999 N/U - "Implementation "Not resent
Used" Element Present" | P '
o Only one iteration
K304 = 5:'Segment | ¢ 5460 AMT with
2400.AMT.010 999 S - Exceeds Maximum T
Use" AMTO1 = "T"is
allowed.
2400 AMTO1.010 990 R ) IK403 = 1:"Required . 2400 AMTO1 must
Data Element Missing" | be present.
5400 AMT01.020 900 i i K403 = 7:"Invalid Code 24O"O;IAMTO1 must
Value be "T".
2400 AMT02.010 999 R ) IK403 = 1: Requweo[ . 2400.AMTO02 must
Data Element Missing" | be present.
IK403 = 6:"Invalid
2400.AMT02.020 999 - - Character in Data 2400AMTO2 must
Element” be numeric.
IK403 = 5:"Data 2400.AMTO02 Must
2400 AMT02.030 299 i i Element Too Long" be <= 99,999.99.
K403 = 110: Must not be
2400.AMT03.010 999 N/U - "Implementation "Not
present.

Used" Element Present”
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1304 -5 Segment | OFY one teroter
2400.AMT.010 999 S - Exceeds Maximum T,
" AMTO1 = "F4"is
Use
allowed.
2400 AMTO01.010 000 R ) IK403 =1: Reqwred . 2400.AMTO1 must
Data Element Missing" | be present.
2400 AMTO1.020 990 ) ) IK403 = 7:"Invalid Code 240“O.A:MTO1 must
Value be "F4".
2400 AMT02.010 990 R ) IK403 = 1: Requweo[ . 2400.AMTO2 must
Data Element Missing” | be present.
K403 = 6:"Invalid
2400 AMT02.020 999 - - Character in Data 2b4OO'AMTQ2 must
. e numeric.
Element
IK403 = 5:"Data 2400.AMTO2 Must
2400AMT02.025 299 ) ) Element Too Long" be <= 99,999.99.
IK403 = 110:
2400 AMT03.010 990 N/U ) Impl“ementoUon Not | Must not be
Used" Element present.
Present”
IK304 = 5:"Segment Only ten iterations
2400.K3.010 999 S - Exceeds Maximum of 2400K3 are
Use" allowed.
2400 K301.010 900 R ) K403 = 1: Requweo[ ) 2400.K301 must be
Data Element Missing" | present.
IK403 = 5:"Data 2400.K301 must be
2400K301.020 299 ) ) Element Too Long" 1-80 characters
K403 = 6: "Invalid 240046501 must be
2400.K301.040 999 - - Character in Data pop

Element"

accepted AN
characters.
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s =it | 20000
2400.K301.060 999 - - Character in Data
Element” non-spdce
character.
IK403 = 110:
5400.K302.010 999 N/U ) Impl?mentotlon Not | Must not be
Used" Element present.
Present”
IK403 = 110:
2400 K303.010 090 N/U ) Impl?mentotlon Not | Must not be
Used" Element present.
Present”
K304 = 4:"Loop Only one iteration
2420ANM1.010 999 S 1 Occurs Over of 2420ANM1 is
Maximum Times" allowed.
Cou 2420ANM101 must
2420ANM101.010 999 R - K304 = 2: "Unexpected | | " cent and a
segment !
valid value.
2420ANM102.010 090 R ) IK403 = 1: Reqwrgd . 2420ANM102 must
Data Element Missing" | be present.
2420ANM102.020 990 ) ) K403 =7: "Inyolid 242OA.N M102 must
Code Value be valid values.
IK403 = 1: "Required 2420ANM103 must
2420A. 299 R ) Data Element Missing" | be present.
Ikeo3 = extinvalid | 20 e
2420ANM103.020 999 - - Character in Data
Element” non-space
character.
2420 ANM103.030 900 ) ) IK403 = 5:"Data 2420ANM103 must

Element Too Long"

be 1- 60 characters.
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K403 = 6:"Invalid SAZOANIIOS MUt
2420ANM103.050 999 - - Character in Data € poputated wi
" accepted AN
Element
characters.
IK403 = 113: If 2420ANM102 is
"Implementation "2" 2420ANM104
2420ANM104.010 299 S ) Dependent "Not Used" | must not be
Data Element Present” | present.
K403 = 6:"Invalid 2A20ANMIOA must
2420ANM104.020 999 - - Character in Data contain at keas
" one non-space
Element
character.
L 2420ANM104 must
2420ANM104.030 999 - - k403 =5 'Data | be 1-35
Element Too Long
characters.
K403 = 6:"Invalid 2AZOANMTON must
2420ANM104.050 999 - - Character in Data € poputared wi
" accepted AN
Element
characters.
1K403 = 113: If 2420ANM102 is
"Implementation 2", 2420ANM105
2420ANM105.010 299 S ) Dependent "Not Used" | must not be
Data Element Present” | present.
K403 = 6:"Invalid 2AZOANMIOS must
2420A.NM105.020 999 - - Character in Data
" one non-space
Element
character.
. 2420ANM105 must
2420ANM105.030 999 - - K405 = 5. 'Data | be1-25
Element Too Long
characters.
K403 = 6:"Invalid SAZOANIMIOS must
2420ANM105.050 999 - - Character in Data Pop

Element”

accepted AN
characters.
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IK403 = 110:
2420ANM106.010 999 NU |- "Implementation "Not Mr‘ézter;‘t’t be
Used" Element Present" | P ’
IK403 = 113: If 2420ANM102 is
"Implementation 2", 2420ANM107
2420ANM107.010 299 S ) Dependent "Not Used" | must not be
Data Element Present” | present.
. 2420ANM107 must
2420ANM107.020 999 - - k405 =5: bata be 1-10
Element Too Long
characters.
K403 = 6: "Invalid f)‘ézoé'NU'\fgg e
2420ANM107.040 999 - - Character in Data B o AN
Element" accepte
characters.
2420ANM108.030 900 ) ) K403 = 7:"Invalid Code 242"OA.‘!\JM108 must
Value be "XX".
IK403 = 2:"Conditional gfe?eonAt'NMmS 1S
2420ANM109.010 999 S - E4e|gsL|Jrl1red Data Element 5420ANM109 must
9 be present.
K403 = 110: Must not be
2420ANM110.010 999 N/U - "Implementation "Not resent
Used" Element Present" | P '
K403 = 10: Must not be
2420ANM111.010 999 N/U - "Implementation "Not resent
Used" Element Present” | ° ’
K403 = 110:
2420ANM112.010 999 NU |- "Implementation "Not | MUSt notbe
present.

Used" Element Present”
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Used" Segment
Present"

with REFO1 ="0B", "1G"
"G2" or "LU" may be
present.

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK304 = 5:"Segment . .
- Only one iteration of
2420A.PRV.020 999 S - Ezf;eds Maximum 2420APRV is allowed.
IK403 = 1. "Required
2420APRV01.010 999 R - Data Element 2420A.PRVOT must be
Missing” present
issing
2420APRVO1.020 990 ) ) IK403 = 7: "Inyolid ”242"0A.PRV01 must be
Code Value PE".
IK403 = 1. "Required
2420APRV02.010 999 R - Data Element 2420APRVO2 must be
Missing” present.
issing
IK403 = 7:"Invalid 2420APRV0O2 must be
2420A.PRV02.020 999 - - Code Value" "PXC"
IK403 = 1: "Required
2420APRV03.010 999 R - Data Element 2420APRVO3 must be
Missing” present.
issing
IK403 = 110:
"Implementation
2420A.PRV04.010 999 N/U - "Not Used” Element Must not be present.
Present"
IK403 = 110:
"Implementation
2420A.PRV05.010 999 N/U - "Not Used" Element Must not be present.
Present”
IK403 = 110:
"Implementation
2420A.PRV06.010 999 N/U - "Not Used” Element Must not be present.
Present”
If 2420ANM1 is
IK304 = 19: present and
"Implementation 2420ANM109 is not
2420A.REF.010 999 S - Dependent "Not present, 2420A.REF

’
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K304 = 19:
"Implementation
2420AREF 030 999 . . Dependent "Not SAZOAREF mustnot
f e present.
Used" Segment
Present"
IK403 = 1: "Required
2420AREF01.010 999 R - Data Element 2420AREFO1 must be
Missing” present.
issing
2420 AREF01.020 990 ) ) IK403 = 7: "Inyolicl 242‘OA.REFO1 must be
Code Value valid values.
IK403 = 1: "Required
2420AREF02.010 999 R - Data Element 2420AREFO2 must be
Missing” present.
issing
When 2420A REFO1 =
K403 = 5:"Data "0B","G2" or "LU",
2420AREF02.030 299 i i Element Too Long" 2420AREF02 must be
1-50 characters.
When 2420A.REFO1 =
) "0B", "G2" or "LU"
IK403 = 6:"Invalid 4 !
2420AREF02.040 999 - - Character in Data 2420AREF02 must be
Element” populated with
accepted AN
characters.
When 2420A.REFO1 =
K403 = 6:"Invalid "0B", "G2" or "LU",
2420A.REF02.050 999 - - Character in Data 2420A.REF02 must
Element” contain at least one
non-space character.
1K403 = 110:
2420AREF03.010 999 NU |- Implementation 'Not |\t not be present.
Used" Element
Present”
2420AREF04-1010 999 R ) K403 = 7:"Invalid 2420A.REF04-1 must

Code Value"

be "2U".
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K403 = 2:"Conditional gfe“szeonAt'REFO4'1 Is
2420A.REF04-2.010 999 R - Required Dgtg . 5420 AREFO4-2 must
Element Missing
be present.
IK403 = 12: 2420A,REF04-2
2420A.REF04-2.020 999 - - "Implementation must =
Pattern Match Failure” [ 2330B.NM109.
1K403 = 110:
2420 AREF04-3.010 999 N/U ) Impl”ementotlon Not [ Must not be
Used" Element present.
Present”
IK403 = 110:
5420 AREFO4-4.010 999 N/U ) Impl?mentotlon Not | Must not be
Used" Element present.
Present”
IK403 = 110:
2420AREF04-5010 090 N/U ) Impl?mentotlon Not | Must not be
Used" Element present.
Present”
1K403 = 110:
2420AREFO4-6 010 099 N/U ) Impl”ementotlon Not | Must not be
Used" Element present.
Present”
K304 = 4:"Loop Only one iteration
2420B.NM1.020 999 - - Occurs Over of 2420B.NM1 is
Maximum Times" allowed.
o 2420B.NM101 must
2420BNM101.010 999 R - K304 = 2:"Unexpected | o o resent and a
segment !
valid value.
2420BNM102.010 999 R ) IK403 = 1: "Required . 2420B.NM102 must
Data Element Missing" | be present.
5420BNM102.020 999 ) ) K403 = 7: "Invalid 2310D.NM102 must

Code Value"

be "".
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IK403 = 1: "Required 2310D.NM103 must
24208. 299 R Data Element Missing" | be present.
K403 = 6: "Invalid Z310DNMIOS must
2420B.NM103.020 999 - - Character in Data
" one non-space
Element
character.
CEn 2310D.NM103 must
2420BNM103.030 999 - - K403 = 5. 'Data | be1-60
Element Too Long
characters.
K403 = 6: "Invalid 2STODAMIDS Mmust
2420BNM103.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
K403 = 6:"Invalid Z310DNMI0S must
2420BNM104.010 999 S - Character in Data contain at keas
" one non-space
Element
character.
L 2420B.NM104 must
2420BNM104.020 999 - - k4035 =5 'Data | be 1-35
Element Too Long
characters.
K403 = 6:"Invalid 24208104 must
2420BNM104.050 999 - - Character in Data € popuiared wi
" accepted AN
Element
characters.
1K403 = 113: If 2420B.NM102 is
"Implementation "2",2420B.NM105
2420B.NM105010 299 S ) Dependent "Not Used" | must not be
Data Element Present” | present.
K403 = 6:"Invalid 2A20BNM105 must
2420B.NM105.020 999 - - Character in Data
" one non-space
Element
character.
. 2420BNM105 must
2420BNM105.030 999 - - K403 = 5: "Data be1-25

Element Too Long"

characters.
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K403 = 6:"Invalid 2AZOBIIMIOS MUt
2420BNM105.050 999 - - Character in Data Pop

" accepted AN
Element
characters.

IK403 = 110:
5420BNM106.010 999 N/U ) Impl"ementotlon Not | Must not be

Used" Element present.

Present"

IK403 = 110:
2420BNM107.010 090 S ) Impl"ementotlon Not | Must not be

Used" Element present.

Present"

IK403 = 7: "Invalid 2420B.NM108 must
2420B.NM108.030 999 - - Code Value" be "XX"

K403 = 2: "Conditional gfeztszeonst.Nwos Is
2420B.NM109.010 999 S - Required Dgtg . 5420BNM109 must

Element Missing

be present.

IK403 = 110:
5420BNM110.010 999 N/U ) Impl"ementotlon Not | Must not be

Used" Element present.

Present"

IK403 = 110:
2420BNM111.010 090 N/U ) Impl"ementotlon Not | Must not be

Used" Element present.

Present"

IK403 = 110:
2420BNM112.010 099 N/U ) Impl”ementotlon Not | Must not be

Used" Element present.

Present"

IK304 = 5:"Segment Only one iteration
2420B.PRV.020 999 S - Exceeds Maximum of 2420B.PRV is

Use" allowed.

IK403 = 1. "Required
2420BPRV01.010 999 R - Data Element 2420BPRVOT must

Missing"

be present
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K403 = 7:"Invalid 2420B.PRVO1 must be
2420B.PRV01.020 999 - - Code Value" " AS
IK403 = 1: "Required
2420BPRV02.010 999 R - Data Element 2420BPRVO2 must
. be present.
Missing
K403 = 7:"Invalid 2420B.PRV02 must
2420B.PRV02.020 999 - - Code Value" be "PXC".
IK403 = 1: "Required
2420B.PRV03.010 999 R - Data Element 2420B.PRVOS must
. be present.
Missing
IK403 = 110:
2420B.PRV04.010 999 N/U |- Implementation "NOt | vy ¢t ot be present.
Used" Element
Present”
IK403 = 110:
2420B.PRV05.010 999 N |- Implementation™Not | ¢t not be present.
Used" Element
Present"
IK403 = 110:
2420BPRV06.010 999 N |- Implementation 'Ot | ¢t not be present.
Used" Element
Present"
K304 = 19 If 2420B.NM1 is
"Implementation present and )
2420BREF.010 999 s - Dependent "Not eyl
Used" Segment present, g
" with REFO1 ="G"
Present
may be present.
IK304 = 19:
"Implementation
2420B.REF 030 999 - - Dependent "Not f)‘lzoBREF must not
" e present.
Used" Segment
Present"
IK403 = 1: "Required
2420BREF01.010 999 R . Data Element 2420BREFOT must be

Missing"

present
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2420BREF02.010 999 R ) IK403 = 1: ReqU|r'eo|. . 2420B.REF02 must
Data Element Missing” | be present.
IK403 = 110:
5420B.REF03.010 999 N/U ) Impl?mentotlon Not | Must not be
Used" Element present.
Present”
IK403 = 110:
2420B.REF04.010 090 ) ) Impl?mentotlon Not | Must not be
Used" Element present.
Present”
K304 = 4:"Loop Only one iteration
2420C.NM1.020 999 - - Occurs Over of 2420BNM1 is
Maximum Times" allowed.
Cou 2420B.NM101 must
2420CNM101.010 999 R - K304 = 2: "Unexpected | ) "0 o cant and a
segment !
valid value.
2420C NM102.010 090 R ) IK403 =1: Reqwrgd . 2420B.NM102 must
Data Element Missing" | be present.
2420C. NM102.020 990 ) ) K403 =7: "Inyolid 2319P.NM102 must
Code Value be "1".
IK403 = 1: "Required 2310D.NM103 must
2420C. 299 R ) Data Element Missing” | be present.
K403 = 6: "Invalid 23100 NMIOS must
2420C.NM103.020 999 - - Character in Data
" one non-space
Element
character.
2420C NM103.030 900 ) ) IK403 = 5:"Data 2310D.NM103 must

Element Too Long"

be 1- 60 characters.
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K403 = 6:"Invalid ZSTODANTDS Must
2420CNM103.050 999 - - Character in Data € popuiated wi
El " accepted AN
ement
characters.
K403 = 6: "Invalid Z310DNMI0S must
2420C.NM104.010 999 S - Character in Data
" one non-space
Element
character.
o 2420B.NM104 must
2420C.NM104.020 999 - - K403 = 5. 'Data | be1-35
Element Too Long
characters.
K403 = 6: "Invalid 24208104 must
2420C.NM104.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
IK403 = 113: If 2420BNM102 is
"Implementation "2" 2420B.NM105
2420CNM105010 299 S i Dependent "Not Used" | must not be
Data Element Present" | present.
K403 = 6: "Invalid 2A20BNM105 must
2420C.NM105.020 999 - - Character in Data
. one non-space
Element
character.
e 2420B.NM105 must
2420C.NM105.030 999 - - K403 = 5 'Data | be1-25
Element Too Long
characters.
K403 = 6: "Invalid 2AZOBIIMIOS muet
2420CNM105.050 999 - - Character in Data Pop
. accepted AN
Element
characters.
1K403 = 110: Must not be
2420C.NM106.010 999 N/U - "Implementation "Not resent
Used" Element Present" | P ’
1K403 = 110: Must not be
2420C.NM107.010 999 S - "Implementation "Not
present.

Used" Element Present”
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IK403 = 7 "Invalid 2420BNM108 must
2420C.NM108.030 999 - - Code Value! e O
IK403 = 2: If 2420BNM108 is
"Conditional present,
2420CNM109.010 299 S - Required Data 2420BNM109 must
Element Missing" be present.
IK403 = 110:
2420CNM110.010 999 N |- Implementation 'Ot | ¢t not be present.
Used" Element
Present"
IK403 = 110:
2420CNM111.010 999 NU |- Implementation ™Not | ¢ not be present.
Used" Element
Present”
IK403 = 110:
2420CNM112.010 999 NU |- Implementation™NOt | \; o+ ot be present.
Used" Element
Present”
€304 = 10 |f2420C.NMCJ is
"Implementation 2p£§8inlfl &?09 )
2420CREF.010 999 s . Dependent "Not : Is ot
Used" Seament present, 2420C.REF
59 with REFO1 = "1G"
Present
may be present.
IK304 = 19:
"Implementation
2420C REF.030 999 - - Dependent "Not ffzoC'REF must not
" e present.
Used" Segment
Present”
IK403 = 1: "Required
2420C.REF01.010 999 R - Data Element 2420CREFO1 must be
S present
Missing
IK403 = 1: "Required
2420CREF02.010 999 R - Data Element 2420CREFO2 must be

Missing"

present.
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Element"

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 110:
2420C REF03.010 999 N/U ) Impl”ementotlon Not | Must not be
Used" Element present.
Present”
IK403 = 110:
2420C.REFO4.010 999 ) ) Impl"ementotlon Not [ Must not be
Used" Element present.
Present"
IK304 = 4:"Loop Only one iteration
2420D.NM1.010 999 S 1 Occurs Over of 2420D.NM1 is
Maximum Times" allowed.
Caa 2420D.NM101 must
2420D.NM101.010 999 R - K304 = 2: "Unexpected | |, .\ ccent and a
segment !
valid value.
IK403 = 1. "Required
2420D.NM102.010 999 R - Data Element f;"zOD'NMmz must
S e present.
Missing
5420D.NM102.020 999 ) ) IK403 = 7: Inyolld 242"O|?.NM102 must
Code Value be "2".
IK403 = 1. "Required
2420D. 999 R - Data Element 2420D NM103 must
S e present.
Missing
IK403 = 6: "Invalid 2420D.NM103 must
2420D.NM103.020 999 - - Character in Data be at least one non-
Element" space character
IK403 = 5:"Data 2420D.NM103 must
2420DNM103.030 299 ) ) Element Too Long" be 1-50 characters.
K403 = 6: "Invalid f)izog.’\tl\lgt%ilr\r)v?;:
2420D.NM103.050 999 - - Character in Data pop

accepted AN
characters.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 110:

2420D.NM104.010 999 N/U ) Impl“ementomon Not | Must not be
Used" Element present.
Present”
IK403 = 110:

5420D.NM105.010 999 N/U i Impl"ementoUon Not [ Must not be
Used" Element present.
Present"
IK403 = 110:

2420D.NM106.010 090 N/U ) Impl"ementoUon Not [ Must not be
Used" Element present.
Present"
IK403 = 110:

2420D.NM107.010 099 N/U i Impl“ementomon Not [ Must not be
Used" Element present.
Present”

2420D.NM108.010 090 S ) IK403 = 7:"Invalid Code 242"OD."NM108 must
Value be "XX".
IK403 = 2: "Conditional gfe?eon[t)"\'ww 5

2420D.NM109.010 999 S - Required Dgtg . 5420D.NM109 must
Element Missing b

e present.

IK403 = 110:

2420D.NM110.010 090 N/U ) Impl"ementoUon Not [ Must not be
Used" Element present.
Present"
IK403 = 110:

2420D.NM111.010 099 N/U i Impl“ementomon Not [ Must not be
Used" Element present.
Present”
IK403 = 110:

2420D.NM112.010 999 N/U ) Impl“ementomon Not | Must not be
Used" Element present.

Present”
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837D

Disposition / Error

Dependent Segment
Missing"

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
e o If 2420D.NMT is
2420D.N3.010 999 R - P present, 2420D.N3
Dependent Segment
S must be present.
Missing
IK304 = 5:"Segment Only one iteration
2420D.N3.020 999 - - Exceeds Maximum of 2420D.N3 is
Use" allowed.
2420D.N301.010 999 R ) IK403 = 1: Requweo[ . 2420D.N301 must
Data Element Missing" | be present.
K403 = 6: "Invalid 2420D N307 must
2420D.N301.020 999 - - Character in Data
" one non-space
Element
character.
CEn 2420D.N301 must
2420D.N301.030 999 - - K403 = 5. 'Data | be1-55
Element Too Long
characters.
K403 = 6: "Invalid 2420D SO must
2420D.N301.050 999 - - Character in Data Pop
" accepted AN
Element
characters.
K403 = 6:"Invalid 2420D N302 must
2420D.N302.020 999 S - Character in Data contain at keas
" one non-space
Element
character.
L 2420D.N302 must
2420D.N302.030 999 - - k403 =5 'Data | be 1-55
Element Too Long
characters.
K403 = 6: "Invalid 2420D IS0 must
2420D.N302.050 999 - - Character in Data Pop
El " accepted AN
ement
characters.
IK304 = 16: .
"Implementation If 2420D.NMT is
2420D.N4.010 999 R - present, 2420D.N4

must be present.
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837D

Disposition / Error

Present"

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK304 = 5:"Segment Only one iteration
2420D.N4.020 999 - - Exceeds Maximum of 2420D.N4 is
Use" allowed.
2420D.N401.010 990 R ) IK403 = 1: Requwgo[ . 2420D.N401 must
Data Element Missing” | be present.
o5 =it | 2290401 s
2420D.N401.020 999 - - Character in Data
" two non-space
Element
characters.
IK403 = 4:"Data
Element Too Short" 2420D.N401 must
2420D.N401.030 299 ) ) IK403 = 5: "Data be 2-30 characters.
Element Too Long"
K403 = 6: "Invalid 2420D A0 must
2420D.N401.050 999 - - Character in Data pop
" accepted AN
Element
characters.
IK403 = 2:"Conditional gfetzeon'i'mo“ Is not
2420D.N402.010 999 S - Required Dctg . 5420D.N402 must
Element Missing b
e present.
K403 = 2: "Conditional gfe“szeon'i““o“ Is not
2420D.N403.010 999 S - Required Dgtg . 5420D.N403 must
Element Missing
be present.
IK403 = 6:"Invalid )
2420D.N403.020 999 S - Character in Data If 2420DN403 is not
" numeric.
Element
IK403 = 4:"Data 2420D.N403 must
2420DN403.030 299 S i Element Too Short" be a 9 digit zip
IK403 = 110:
5420D.N404.010 900 S i Implfementoﬂon Not | Must not be
Used" Element present.
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Disposition / Error

"Not Used" Element
Present"

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 110:
2420D.N405.010 999 NU |- ,.m‘;lﬁsrg’zr]tg;'%”em Must not be present.
Present”
IK403 = 110:
2420D.N406.010 999 NU |- ,.m‘ilﬁsrzzr}téfg%”em Must not be present.
Present"
IK403 = 110:
2420D.N407.005 999 s - ,.m‘ilﬁsr‘;zr}téfgg‘em Must not be present.
Present"
304 = 19 If 2420D.NMT is
omartaton |Eientemd
2420D.REF.010 999 s - Dependent "Not T ODRER
Used" Segment present, 1~
Present’ with REFO1 ="1G" may
be present.
K304 = 19;
"Implementation
2420D REF.030 999 - - Dependent "Not f)42ODREF must not
" e present.
Used" Segment
Present"
IK403 = 1: "Required
2420DREF01.010 999 R - Data Element 2420DREFOT must be
Missing" present
issing
IK403 = 1: "Required
2420D.REF02.010 999 R - Data Element 2420DREFO2 must be
. " present.
Missing
IK403 = 110:
2420D.REF03.010 999 NU |- ,.m‘ilﬁsrzzr}téfg%”em Must not be present.
Present"
IK403 = 110:
2420D.REF04.010 999 - - Implementation Must not be present.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
o Only fifteen
2430010 999 - 15 K304 = 4: L0op OCCUTS | i¢erations of 2430
Over Maximum Times
are allowed.
IK304 = 5:"Segment Only one iteration
2430.5vD.010 999 S - Exceeds Maximum of 2430.SVD is
Use" allowed.
2430.SVDO1.010 990 R ) IK403 = 1:"Required . 2430.5VDO1 must
Data Element Missing" | be present.
IK403 = 112: 2430.SVDO1 must =
2430.5VD01.020 999 - - "Implementation 2330B.NM109 (for
Pattern Match Failure" | the same payer).
2430 SVD02.010 990 R ) IK403 = 1:"Required . 2430.5VD02 must
Data Element Missing" | be present.
IK403 = 6:"Invalid
2430.5VD02.020 999 . . Character in Data 2430.5VD02 must
" be numeric.
Element
oo 2430.5VD02 must
2430.SVD02.040 999 - - 'EKlicrferfffﬁin . be >= 0 and <=
9 99,.999.99.
2430 .SVD03-1.010 990 R ) IK403 = 1: Requw‘edA . 2430.SVD03-1 must
Data Element Missing" | be present.
5430 SVD03-2.010 990 R ) IK403 = 1:"Required . 2430.5VD03-2 must
Data Element Missing" | be present.
K403 = 2:"Conditional fﬁig;vtm"‘ 'S
2430.5vD03-4.010 999 S - Required Dotq . 5430 SVD03-3 must
Element Missing b
e present.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
K403 = 2: "Conditional f)‘:ig{fr:/tDO:"S s
2430.5VD03-5.010 999 S - Required Dgtg . 5430 SVDO3-4 must
Element Missing
be present.
IK403 = 2:"Conditional é‘ggfr:/tm}é 1S
2430.5VD03-6.010 999 S - Required Dgtg . 5430 SVD03-5 must
Element Missing b
e present.
IK403 = 6: "Invalid igi?;!%ﬁga?tw
2430.SVD03-7.010 999 S - Character in Data
" one non-space
Element
character.
IK403 = 5:"Data 2430.SVDO03-7 must
2430.5VDB03-7.020 299 ) ) Element Too Long" be 1- 80 characters.
K403 = 6:"Invalid 2A30SVDOS T must
2430.5VD03-7.040 999 - - Character in Data Pop
" accepted AN
Element
characters.
IK403 = 110:
5430.SVD03-8.010 900 N/U i Implfementoﬂon Not [ Must not be
Used" Element present.
Present"
IK403 = 110:
2430.SVD04.010 900 N/U ) Implfementoﬂon Not [ Must not be
Used" Element present.
Present"
2430 SVD05.010 990 R ) IK403 = 1: Requweo[ . 2430.SVDO5 must
Data Element Missing" | be present.
K403 = 6:"Invalid
2430.5VD05.020 999 - - Character in Data i‘BOSVDQS must
. e numeric.
Element
L 2430.5VDO05 must
2430.5VD05.025 999 ) ) IK403 = 5: "Data be >= 0 and <=

Edit Deactivated

Element Too Long"

999.9.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK403 = 5:"Data 2430.5VD05 must be
2430.5VD05.035 299 i i Element Too Long" >= 0 and <= 9,9999.
IK403 = 6:"Invalid
2430.5VD06.010 999 S - Character in Data 2430.5VD06 must be
Element” numeric.
IK403 = 6:"Invalid 2430.5VD06 must be
2430.5VD06.020 999 - - Character in Data a integer (whole
Element" number).
IK403 = 5:"Data 2430.5VD06 must 1 -
2430.5VD06.030 299 ) ) Element Too Long" 6 digits.
IK304 = 19:
"Implementation
Dependent "Not
Used" Segment
Present" If 2430.CAS is
2430.CAS.010 999 S - present, 2430.SVD
OR must be present.
IK304 = 2:
"Unexpected
Segment”
IK304 = 5:"Segment Only five iterations
2430.CAS.020 999 - - Exceeds Maximum of 2430.CAS are
Use" allowed.
IK403 = 1: "Required
2430.CAS01.010 999 R - Data Element 2430, CASOT must be
e present.
Missing
2430 CASO1.020 990 i i K403 =7: Inyol|d 243‘O.CASO1 must be
Code Value valid values.
IK403 = 1: "Required
2430.CAS02.010 999 R - Data Element 2430.CAS02 must be
S present.
Missing
IK403 = 1: "Required
2430.CAS03.010 999 R - Data Element 2430.CAS03 must be

Missing"

present.
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Required Data
Element Missing"

837D Disposition / .
Loop/Segment/Element Response | Usage | Repeat Error Code Dental Edits
K403 = 6:"Invalid
2430.CAS03.020 999 . . Character in 2430.CASO3 must be
" numeric.
Data Element
IK403 = 5:"Data 2430.CAS03 must be >= -
2430.CAS03.050 999 - - Element Too 99,999.99 and
Long" <=99,999.99.
IK403 = 5:"Data
2430.CAS04.010 999 S . Element Too 2520.CAS04 must be 115
" digits.
Long
,'.Ei?fc“:ti; al If 2430.CASO5 is
2430.CAS05.010 999 S - : present, 2430.CAS02
Required Data
. | must be present.
Element Missing
,'.E‘C‘)%Tti; al If 2430.CASO5 is present,
2430.CAS06.010 999 S - : 2430.CAS06 must be
Required Data resent
Element Missing" P ’
IK403 = 6: "Invalid
2430.CAS06.020 999 . . Character in 2430 CASO6 must be
" numeric.
Data Element
IK403 = 5:"Data 2430.CAS06 must be >= -
2430.CAS06.050 999 - - Element Too 99,999.99.and <=
Long" 99,999.99.
,'.Ei?fc“:ti; al If 2430, CASO7 is
2430.CAS07.010 999 S - : present, 2430.CASO5
Required Data
| must be present.
Element Missing
IK403 = 5:"Data
2430.CAS07.020 999 - - Element Too 2320.CAS07 must be 115
" digits.
Long
,'.Ei?fc“:ti; al If 2430.CASO8 is
2430.CAS08.010 999 S - present, 2430.CASO5

must be present.
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837D Disposition / .
Loop/Segment/Element FEEREIEE | R | R Error Code Dental Edits
,'.Ei?di:t% - If 2430.CASO8 is present,
2430.CAS09.010 999 S - Rouuired bata | 2430.CAS09 must be
Element Missing" present.
IK403 = 6: "Invalid
2430.CAS09.020 999 - - Character in iﬁfgécrfoq must be
Data Element” ’
IK403 = 5:"Data | 2430.CAS09 must be >= -
2430.CAS09.050 999 - - Element Too 99,999.99. and
Long" <= 99,999.99.
,'.Ei%i:t% nal If 2430.CAS10 is
2430.CAS10.010 999 S - Required Doto present, 2430.CASO8
Element Missing" must be present.
IK403 = 5: "Data
2430.CAS10.020 999 - - Element Too 33”'“510 must be 1-15
Long" igits.
,'.Ei%i:t% nal If 2430.CAST is
2430.CAS11.010 999 S - Required Dot present, 2430.CASO8
Element Missing" must be present.
s If 2430.CAS'1 is present,
2430.CAS12.010 999 S - Reauited bata | 2430.CAS12 must be
Element Missing" present.
IK403 = 6: "Invalid
2430.CAS12.020 999 - - Character in iﬁgécriAcsu must be
Data Element” ’
IK403 = 5:"'Data | 2430.CAS12 must be >= -
2430.CAS12.050 999 - - Element Too 99,999.99. and
Long" <= 99,999.99.
,'.Ei%i:t% nal If 2430.CAS13 is
2430.CAS13.010 999 S - present, 2430.CAS11

Required Data
Element Missing"

must be present.
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Element”

837D Disposition / .
Loop/Segment/Element O | RS | HEEEe Error Code Dental|Edits
IK403 = 5:"Data
2430 CAS13.020 999 : : Element Too 2320 CAS1S must be 115
Long" igits.
.',Ei?i;t% al If 2430.CAS14 is
2430.CAS14.010 999 S - Required Data | Present, 2430 CAST
Element Missing" must be present.
S If 2430.CAS14 is present,
2430.CAS15.010 999 S - Reauited bata | 2430.CAS15 must be
Element Missing" present.
IK403 = 6:"Invalid
2430.CAS15.020 999 - - Character in Datg | 2430.CASTS must be
Element” numeric.
IK403 = 5:'Data | 2430.CAS15 must be >= -
2430.CAS15.050 999 - - Element Too 99,999.99. and
Long" <= 99,999.99.
.',Ei?i;t% al If 2430.CAS16 is
2430.CAS16.010 999 S - Required Data | Present, 2430.CASs14
Element Missing" must be present.
IK403 = 5:"Data
2430.CAS16.020 999 : : Element Too 2320 CAS16 must be 115
Long" igits.
.',Ei?i;t% al If 2430.CAS17 is
2430.CAS17.010 999 S - Required Data | Present, 2430.CAS14
Element Missing" must be present.
st If 2430.CAS17 is present,
2430.CAS18.010 999 S - Reauited bata | 2430.CAS18 must be
Element Missing" present.
IK403 = 6:"Invalid
2430.CAS18.020 999 - - Character in Data | 2430-CAS18 must be

numeric.
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Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
o 2430.CAS18 must be >=
2430.CAS18.050 999 - - 'E'T‘e"?fe‘nffggt‘c’m . 19999999 and
9 | <=99999.99.
.','éi?i;tiz(; al If 2430.CAS19 is
2430.CAS19.010 999 S - Required Data present, 2430.CAS17
Element Missing" must be present.
K403 = 5:"Data 2320.CAS19 must be 1-
2430.CAS19.020 299 ) ) Element Too Long" |15 digits.
!'rriOTeangn tation | Per Paver, If 2430 SVD
2430.DTP.010 999 R - Degendent is present, 2430.DTP
Segment Missing’ must be present.
IK304 = 5:"Segment [ Per Payer, Only one
2430.DTP.020 999 - - Exceeds Maximum | iteration of 2430.DTP is
Use" allowed.
IK403 = 1: "Required
2430.DTP01.010 999 R - Data Element 2430.DTPOT must be
Missing" present.
K403 = 7: "Invalid 2430.DTPO1 must be
2430.DTP01.020 999 - - Code Value” 573
IK403 = 1: "Required
2430.DTP02.010 999 R - Data Element 2430.DTPO2 must be
Missing" present.
K403 = 7: "Invalid 2430.DTP02 must be
2430.DTP02.020 999 - - Code Value” "D8".
IK403 = 1: "Required
2430.DTP03.010 999 R - Data Element 2430.DTPO3 must be
Missing" present.
o . 2430.DTP0O3 must be a
2430.DTP03.020 999 - - K403 =8:"Invalid | | i date in the

Date"

format of CCYYMMDD.
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837D

Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code | Dental Edits
Only one
IK304 = 5:"Segment iteration of
2430.AMT.020 299 S ) Exceeds Maximum Use" | 2430.AMT is
allowed.
2430 AMTO01.010 000 R ) K403 = 1: Reqwr”ed Data | 2430.AMTO1 must
Element Missing be present.
2430 AMTO1.020 990 ) ) IK403 = 7:"Invalid Code 2439.AI\/I!TO1 must
Value be "EAF".
2430 AMT02.005 990 R ) IK403 = 1: Requwfed Data [2430.AMTO2 must
Element Missing be present.
K403 = 6:"Invalid
2430 AMT02.010 999 - - Character in Data i‘BOAMT@ must
. e numeric.
Element
IK403 = 5:"Data Element | 2430.AMT02 must
2430.AMT02.020 999 - - Too Long" be <= 99.999.99.
K403 = 10: Must not be
2430.AMT03.010 999 N/U - "Implementation "Not resent
Used" Element Present” P ’
SE010 990 R ) IK502 :'2: Trqnsgcpon SE must be
Set Trailer Missing". present.
IK502 = 4:"Number of
SE01.010 999 R - Included Segments Does S'fg;ergt“t be
Not Match Actual Count”. | P ’
IK502 = 4:"Number of
SE01.020 999 - - Included Segments Does iES;erRESt be
Not Match Actual Count". :
IK502 = 4: "Number of SEO1 must equal
SE01.030 999 - - Included Segments Does | the transaction

Not Match Actual Count".

segment count.
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837D

Disposition / Error

Loop/Segment/Element Response | Usage | Repeat Code Dental Edits
IK502 = 4:"Number of
Included Segments
SE01.040 999 - - Does Not Match SEO1 must be > 0.
Actual Count".
IK502 = 3:
"Transaction Set
SE02.010 999 R - Control Number in ngszerr:‘t“t be
Header and Trailer P :
Do Not Match".
IK502 = 3:
"Transaction Set
SE02.020 999 - - Control Number in SE02 must = STO2.
Header and Trailer
Do Not Match".
AKQP05 = 3:
GE.010 999 R - "Functional Group GE must be present.
Trailer Missing"
AK905 = 5:"Number
of Included
GE01.010 999 R - Transaction Sets GrEeO;er:tUSt be
Does Not Match P ’
Actual Count".
AK905 = 5:"Number
of Included
GE01.020 999 - - Transaction Sets ngerr?g“ be
Does Not Match :
Actual Count".
AKQ05 = 5:"Number GEO1 must equal the
of Included number of
GE01.030 999 - - Transaction Sets transaction sets
Does Not Match included in the
Actual Count". functional group.
AK905 = 5:"Number
of Included
GEO01.040 999 - - Transaction Sets GEO1 must be > 0.

Does Not Match
Actual Count".
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837D . - .
Loop/Segment/Element Response | Usage | Repeat | Disposition / Error Code Dental Edits
AK905 = 4:"Group Control
Number in the Functional
GE02.010 999 R Group Sgozre”;:itt
Header and Trailer Do Not P ‘
Agree".
AK905 = 4:"Group Control
Number in the Functional _
GE02.020 999 ; Group gggi must =
Header and Trailer Do Not ’
Agree".
Change Log
Edit Reference Date Change Reason
Header/GS08 06/25/24 If additional elements **~ are To allow editing for missing
found in the GS segment the situational fields at the end of a
"Functional Group Not segment.
Supported" (AKQ05 = 1)
2010AAN403.020 06/25/24 Added a new zip code edit To edit when zip codes are not
numeric.
2010AB.N403.020 06/25/24 Added a new zip code edit To edit when zip codes are not
numeric.
2010BAN403.020 06/25/24 Added a new zip code edit To edit when zip codes are not
numeric.
2010BB.N403.020 06/25/24 Added a new zip code edit To edit when zip codes are not
numeric.
2310C.N403.020 06/25/24 Added a new zip code edit To edit when zip codes are not
numeric.
2330A.N403.020 06/25/24 Added a new zip code edit To edit when zip codes are not
numeric.
2330B.N403.020 06/25/24 Added a new zip code edit To edit when zip codes are not
numeric.
2420D.N403.020 06/25/24 Added a new zip code edit To edit when zip codes are not
numeric.
2010AAN403.030 07/15/24 Added a new zip code edit To require a 9 digit zip code.
2310C.N403.030 07/15/24 Added a new zip code edit To require a 9 digit zip code.
2420D.N403.030 07/15/24 Added a new zip code edit To require a 9 digit zip code.

Note: Use or disclosure of the data contained in this sheet is subject to restrictions of contract # GS-35F-146DA

75FCMC22F0016.
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